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FeATeTETEH,

Abbreviations used in the text:

o The numbers x/y represents the Mtk /= in case of a noun, eg. 3/1 means AT THa=|

e The number x/ y where x is a roman number represents J&9/394 in case of a verb. eg. II/3 means
HAHTEY / Jga-|

e For compounds,
> BV = agdife: §9E: | Numbers before indicate 9¢ fMfk connections.
o TP = dcg&s: @: | Number indicates f¥f®|
> UTP = SU9dcged: T9E: |
° MPL = WHH9ESY: THE: |
> KD = FHIRT: FAE: |

© MV = TEEEHIIRE: GHE: |
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| 9H: @Ue: |l

3‘0 ‘r\ %&i; a, ?f]' oo f\a N\lga_(’ N N 'Il'@'ag]'\ (‘]q_]_]q_]_aa
I R (st HST] qelcilel od 3 Iufeveg aHTed | &g d | Ewg I
0 Z0TT~d: ez Z0T: I

o 30 MM (BT<H A, 8\1{) III/1 let them grow AH 6/1 my 31§|'ﬂ'-l-l 1/3 limbs 1% 1/1 organ of speech¥Ul: 1/1
vital air =g: 1/1 organ of sight M= 1/1 organ of hearing 7 0 and 91, '1/1 strength Zle 0T 1/3 senses
90 and &E0T1/3 all §99.1/1 everything & 1/1 brahman I(g (STSTIEH 1) 1/1 revealed by
Upanishad #10 -3 1/1 -5&2/1 - ﬁT@h(ﬁ'ﬁﬂH@H’ﬁﬁo’.) I/1 may I not reject brahman |1 2/1 me HI 0
-F1/1 - FORd (> =E'§|'¢:) III/1 may brahman/ Guru not reject SR 1/1 non-rejection & I111/1
may be there 3Tl 1/1 non-rejection # 6/1 my % I11/1 may be there @ 2/1 that ST 7/1 in that
brahman which is me f%d III/1 is committed ¥ 1/3 which @ﬁﬂﬂj 7/3 [revealed] in Upanishads A 1 /3
dharmas d 1/3 those ARI 7/1 in me &= I11/1 let them be d 1/3 they #& 7/1 in me &g I11/ let them be.

o Let my limbs, organs of speech, sight, hearing, vital air and all sense organs grow. Everything is
brahman revealed by the Upanishad. May I not reject brahman. May brahman/ Guru not reject me. Let
there be non-rejection [of brahman by me]. Let there be my non-rejection [by brahman]. Let the qualities
which are revealed in the Upanishads be in me, who is committed to that (brahman). Let there be peace

centered around all three types of obstacles

. aﬁmﬁﬂﬂbelongs to the QMEE dSTRNRET also known as SR The STEIUT has 9 chapters (in some

versions, 10 chapters).

e The first 8 chapters talk of #H and I9EH, while the 9" chapter is Vedanta. The §=+d¥T™ connects the two

1 Bhagavatpada says in Brihad 3.5.1 commentary so-- T A STTHETIT SR S|
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FeATeTETEH,

parts, with the first part being useful for the 2"
A , N o e .

o ‘HellNaH A starting with these words Iul¥d Upanishad Ta@If¥sdl dealing with higher brahman

awel should be taught 3fd therefore 7EHE - SATAE of the 9™ chapter TR1: beginning.

e The Upanishad starting with the words #9704 dealing with higher brahman should be taught, therefore
there is beginning of the 9" chapter.

N ¢ = :r\ o r\[ < = N r\, C' o r\al

o U earlier WHAT 5/1 from/ to this 9™ chapter FHINT 1/3 actions TES: 03ad exhaustively TREATUAT
1/3 covered/ completed/ dealt with, WWEW 6/1 basis of all activities ¥ and AU 6/1 of/ on
Hiranyagarbha 39T 1/3 meditation Sl 1/3 taught, FHTEFERTE 21/3 dealing with Sama which

is part of action = 0 and.

e Before this chapter, actions were exhaustively covered and meditation on Hiranyagarbha, the basis of all

activities, and mediation dealing with Sama which is limb of the action was taught.
. a o S S s S < |
o 3= thereafter, after talking about these actions and meditations ¥ and TEEEEESE (KD, 116BV)

dealing with Gayatra-Sama &l meditation 921~ 2ad /1 description of the lineage of the teachers 3tk
told F& ° to be done.

e And thereafter, meditation to be done dealing with Gayatra Sama, (and) description of the lineage of the

teachers was told.
EHAGEh FH 9 1 o GRS (Fhe guei: S e |
o ©dH all %d this T4 as taught 4 action ¥ and T meditation ¥ and %% well / properly ifud

performed {4 - HH&T: for a seeker of freedom who doesn't want material benefit Haggerd for the

purpose of purification of the mind ¥¥afd becomes.

e All these action and meditation performed properly as taught becomes the means for purification of the

2 The S9EH which is not independent, but where the activity itself is a limb. e.g., meditation on EIEETIIE Wﬁ'ﬂ'{, or e,

etc, on 5/7 parts of @I

3 Some commentators say this word is a mistake of the copywriter.
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mind for the [materially] desireless seeker of freedom.
ﬂ o Y N N N S a C al_r\ C_ o Y Y a o |
e T&HMHE (SBV) for one endowed with material desires § however FFUEaE of one bereft of meditation

ST mere Sdll Shruti-based T Smriti-based = and FHINT actions f{r'iwmim%uﬁﬁ for the

attainment of southern path (leading to higher worlds) IFIgTd for return ¥ and ¥af+d become.

e  However, for one endowed with material desires, bereft of meditation, mere Shruti- and Smriti-based

actions become the means for the attainment of higher world (southern path) and for return (to this kind

or lower births).
TATATIRIT ERTEIEET Tl QTfeETaiedl STl : T |

o  TMIEEN F3H /1 due to instinctual g 0 whereas SRIEIEE F3/1 due to non-scriptural, prohibited Sg<

F3/1 due to tendency-driven S4TiGeaal= F1/1 starting with animals to plants 39T F1/1 lower birth
HEd I11/1 would be.

e  Whereas due to instinctual tendency-driven, prohibited actions, there would be lower birth such as

animal, plants, etc.

AEl: T FeR U AT EETTERaT =] ST Wafed ST BrRaiadd T (B, 3. 4-20-¢) 2Rl 24 ;

o ¥ thereafter (Shukla or Krishna paths) %@i: - 92ii: of these two paths 9 do not [travel] HAUFEH any one

o o o . . . e . \Wal . . o . . .
elIGH they SHIH these &aTU 1n31gn1f1cant STEhq many times SIERIIGH revolvmg /returning Hqdl< hvmg bemgs

Ydfed become JEE (B12-> & 111/1 A=) 11/1 born =& 11/1 die 3d in this manner dd that g™ third

T state’ (B, 3. 4-20-¢) A 0 - %F\'I: 5H/1 due to this Shruti statement;

e “Those who do not travel by any of these two paths”, they become these insignificant living beings
[such as insects] who return many times, they take birth and die. In this manner, that is the third state”

due to this Shruti statement.
O & FreliSAEIg:” (¥, 3. R-2-2), (3. H. ¢-202-2%) 2l = H=@UT |

e ‘UST: people & fo®l: three types cA™EH different lot éﬂ: (i"JITIT-FHl%?.:) attained ’ (T, 2. R-2-2), (. . ¢-202-
2%) 3fd thus 9 and H=EUTd, due to mantra statement.
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e And due to the mantra statement thus—"The three types *of people attained different lot”.

o Q o by o o < . [N o o o LSk |
o [2IEEE 6/1 for one with a pure mind g 0 however =& 6/1 for a desireless person @ 0 only JT&Id.

5/1 from external objects e 5/1 from temporary karmaphala ErEM=a=wad (ID, 117BV) 5/1 from
that having a goal and means relationship & 0 here %dld 5H/1 due to that which is done l{-ﬁ%ﬁLSH/ 1

due to that which was done earlier a 0 or H&RRITRINEA 5H/1 due to the rise of specific (discriminative)
impressions S 6/1 for a person who is detached ST F1/1 innermost self NS F1/1 desire

to know S&dd I11 /1 arises.

e However, only for a desireless person with a pure mind, who is detached from external objects, from
karmaphala, having a goal and means relationship, desire for knowledge of the innermost self arises,
due to the rise of specific (discriminative) impressions from those (actions) done here in this life, or

which was done earlier.

LN N

FAEE] FAATITAASHITT 2T TETA “FelaH ST |
e dd1/1 that well-known ¥dd 1/1 this 9% 1/1 fact (mentioned above)/ reality in the form of inner-self

HAE=SEUEl F3/1 by that which is in the form of question and answer %1 F3/1 by Shruti Tezdd
II1/1 is shown ‘e 1/1” ST (116BV=gd 3Tl T&a: 3fe: &1 gfd: | @) F3/1 by this mantra, etc.

e That above, this fact/ real inner-self, shown by Shruti in the form of question and answer.

TS HIHH T Hi HAJUCETRTHIEUS T2 Ao | HiETEN: TR AL geddaitsd’ (F. 3. :-2-2)
e |

o  F&# in Kathopanishad ¥ and 3t said ‘I @i+ AGUICEER RIS T2l Alcid | HEER:

ht (o I P . P
A MHEHITIIAIHITH=] ... Some rare person desiring to know this immortality, saw this inner-

self’ (. 3. R-2-2) AN by this mantra, etc.

4 eS| @ee, IFEA
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e  And it s said in Kathopanishad by this mantra— “The self-existent Lord (as-if) destroyed the
extroverted senses organs, therefore (one) doesn 't perceive the inner-self. Someone rare, whose eyes are

turned away from outwardness, desiring immortality, perceives the innermost self”, etc.

p ~ AN S N ey o ¢ N0 S o o N o ,
T SIRIRH AR HIHETAETERd: Fidd | dige @ IEHam P oo HedTT: SR Sei«sd’ (9, 3. 2-3-2R)
TATNEE o |

o e

o ‘w84 0 having examined @M 2/3 worldly objects FHMAM 2 /3 MT: 1/1 fedeq 2/1 &= I1/1 70 -
IR I11/1 is not there 31%d: 1/1 non-product 53\-'_-[ 3/1 by action. A=l |: I 2/1 teacher W@ 0 indeed /

aloneT=id 111/1 should approach e 1/1 one having samitin his hands %@ 2/1 learned

TS89 2/1 one having abidance in brahman’ (3. 3. 2-R-%R) QFTIEITQ&U\T 7/1in Atharvana by this mantra,
etc 90 and.

e And in Atharvana's Mundaka Upanishad by this mantra— “having experienced the fields of experience,
a @ATHARI would /should arrive at dispassion— the (attainment of) limitless non-product is not there
by (actions) done. Indeed, for the purpose of knowing, he having samit firewood in his hand, should

approach a learned teacher, abiding in brahman”, etc.
Qﬁ_%r\ [N PN .Sﬁdﬁr\ .aa_rq_c \’ €|T|
e W in this manner f& indeed fSRT& for a dispassionate person I TIHIASd that teaching about inner-self

fas knowledge g to listen A= to reflect/ contemplate &g to meditate ¥ and |y capacity ST9Ed

is possible, | not T ®not otherwise.

e In this manner, the capacity to listen, contemplate and meditate on knowledge, that teaching about

inner-self, is possible only for a dispassionate person, not otherwise.

o . ﬂ . < o LN N (‘\,

e  UAHd from this ¥ and FRTHaITE=HE, (KD, 6TP) due to the knowledge of brahman which is the inner-
self HENEISH cause for bondage IS ignorance Elv"l'lqils'l;[Fl?1’I'Lrlﬁh"l'{"ﬂ'ﬁl\cause for the rise of desire and activity
¥=Na: 03ad completely fererdd is destroyed,

e And due to this knowledge of brahman which is the inner-self, ignorance which is the cause for

bondage, cause for the rise of desire and activity, is completely removed.

5 Comm—Otherwise there will be no desire to know the inner-self and even if there is a desire, it will not result in fruition.
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‘Tl HiE: &: 2 ChaHgIRad: (3. 3. ) 3 AeEUTd,

o ‘T %I HIE: F: 20 ThedH AGIRA: there, what delusion, what sorrow for one who sees oneness’ (3. 3. ) gfd

- 1=l€|?=T'Jﬁ?-[due to the statement of the mantra.

e  And due to the statement of the mantra “there, what delusion, what sorrow is there for one who sees

17

oneness.

T FHH (BT, 3. 9-2-3) ‘Prerd geamf-aisa= qaeam: | eibwl S FHI0 dRA=s E (4. 3. 2-2-¢)
T |

o T THATHIE (. 3. 9-2-1) ‘RrId gaauf-aRaa Gazm: | e 9 FATU aRHws WE (4, 3. :-2-¢)

3?&11“3%1%321 : due to these Shruti statements, etc ¥ and.

e  And due to these Shruti statements “The knower of the self crosses over sorrow”, “When the brahman is

known (as oneself), for this person, the knot of the heart is shattered, all doubts are removed and karmas

are dissolved”, etc.

C o o S N ﬁr\ %?‘L
e (Opponent) FHHRA due to that along with action 214 even F1d due to knowledge Tdd this result in

the form of removal of ignorance R&AM is accomplished g/ - ¥ is this is the question,

e “(Opponent) This (freedom) is accomplished due to knowledge along with action” if this is the

question?
q; TGS TEERRUTEEEA, |

e (Reply) A not so; AT (TFTa: GAEA ATa: Argdedl: | 6 e FTefea: | dRe JeqRua US| ) in
Vajasaneyaka @& of that IR UIIT<Td due to the Br. Up. Shruti statement of its having the status of

cause/means for other result.

e (Reply) Not so. Due to the statement of status of cause/means for other result of that karma in

Vajasaneyaka.

ST H (3. 3. 2-8-29) 3fel ST ‘T Skl Sl A FHHON, FHON NS e S9eih:” (3. 3. 2-4-25)
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FAreTES
TAHAS T SHATE FRUTEHh ATAGTE |

o ‘STl wife H for me ¥ let there be’ (3. 3. 2-%-29) T thus T having started ‘AU by son 3 this @®:

world / human birth S&8: (RF+9d &.2.9¢ == S| ) is attained / won d not 3144 - FHUT bv other

action, T by action g&®: world of manes &= by meditation 38&®: Brahmaloka;’ (3. 3. 2-4-25) g

thus STTEA: than the self 37 for something other IFTAE for the three worlds FNUEH status of cause

It said ATEATS in Vajasaneyaka.

e Having started thus— “let there be wife for me” in Vajasaneyaka, it is said “this world is won by son,
not by other action, the world of manes by action and Brahmaloka by meditation”, status of being the

means for the three worlds, other than the self/ freedom.

Fh = qIRETSAaT Eqeth: fh ToE BREAE A9 ASTHIHE S’ (. 3. 8-8-)R) 3 |

e @ in that Upanishad % ¥ and TIRAAMIM w.r.t. the injunction of renunciation &g: reason It:

mentioned ‘& what 951 by progeny FRM: will we do 9 for whom A not 3 indeed ¥ this 3T

Paramatma 34 this @i%: (SFd 37244 244 2fd1) world’ (3. 3. 8-8-33) 3 thus.

e In Brihad, the reason for w.r.t. the injunction of renunciation is mentioned “What will we, for whom this

Paramatma is this world, do by progeny?”

. %T-;[?i: . < . o o C o = A Y oo x\: ]% o . |
e @0 there ¥4 1/1 this &2 1/1 (6TP=&dl: EgaTFre \?ﬂﬁ?:) explanation of reason — Qﬂﬁs‘ﬁﬁ?ﬂﬂ?ﬁﬁlﬂﬂ% by
progeny, action and meditation combined with it/ action AgSANGEa@EIEN 3/3 by the means to

three worlds of human, manes and Brahmaloka SHICHS I eTIreUT: 3/3 by the means to the attainment

of the worlds which are non-self & 0 what HR=IM: (¥2) I/3 will we do?

o There, this is the explanation of reason— “what will we do by progeny, action and meditation combined
with it/ action, means to three worlds of human, manes and Brahmaloka, which are the means to the

attainment of the worlds which are non-self?”
. ~ o . o ~ . o = ~ = = o= < = o =
HWWWWWSWSWSWSWHWWWW%WQQ |

e A0not 0 and ¥ 6/3 for us IFATH 1/1 three worlds 3 1/1 (HGV) impermanent HTE-EMEH

Download from www.arshaavinash.in Page 9


http://www.arshaavinash.in/

FeATeTETEH,

1/1 attainable through means ¥8H 1/1 desirable, IYM 6/3 for whom T 6/3 for us @HIEE: 1/1 in
the form of the very nature 3f51: 1/1 unborn %R 1/1 ageless 3#Hd: 1/1 immortal 3#4: 1/1 fearless 9 0 -
T I11/1 does not gIrow FHUM N3 /1 by action 7 0 not 3 0 indeed FEH decrease fc: 1/1 permanent ¥ 0
and &%: 1/1 world g8: 1/1 desired.

For us, for whom, the impermanent three worlds are not desirable, because they are attainable through
means, that permanent world in the form of the very nature, unborn, ageless, immortal, fearless, that

does not grow by action and does not indeed decrease, is desired.

o o o o oS o
H | AT AT AATAR I AT |

|: 1/1 that world/ goal = 0 and @ 5H/1 due to being permanent 7 0 not HfaaT«graeaicse 3ad /1

except by removal of ignorance FIEMHFS: 1/1 acquired through any other means.

That world/ goal, being permanent, is not acquired by other means, except by removal of ignorance.

o 0:\\0 . qa_(‘gfl%{l

d@d 5/1 therefore WTIFGHEI]%%IH‘?@H;: 7(KD, KD, 6TP, 116/5BV) 1/1 that which is preceded by the
(indirect) knowledge of innermost self which is brahman FuTTETE: (KD, 6TP) 1/1 renunciation of all

desires ¥ 0 indeed Faa: 1 /1 should be done &fd 0 thus.

Therefore, renunciation of all desires (for progeny, wealth and worlds), which is preceded by the

(indirect) knowledge of innermost self, should indeed be done.

< o oS o
FHAGHTFAEHITE A TMHSRATEILTAH |

a:ﬁu@nﬁaﬁﬁmSH /1 due to contradiction of co-existence with action 3 0 and TSRS 6/1 of

the knowledge of brahman as the innermost self.

And due to the contradiction of coexistence of the knowledge of brahman as the innermost self with

action.

After giving two Shruti based reasons, here logical reasoning to refute AR is given.

-~~~ ~ < faN e~ < o o hat
A FUMARNRRSHGERNAA HHUT AATAHITTHGGRATT A THSRATTTITT FEHIITHII,

6 All things achievable through means have three g¥s: TMicRTITH, IR, THaH, |

7 The renunciation preceded by EIREEEIC VAR knowledge lacking @1/ indirect knowledge.
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e 0 not f& 0 because STTHFREFRSIS A (IU+1+Th| 117BV=aRH FAM01 ad) 3/1 with that in which
knowledge of the difference between accessories and results is accepted FHUM 3/1 with action
TEAHAEaHEERIRE 6/1 of that in which perception of all differences/ divisions is negated
GRS 6/1 of that dealing with brahman as the innermost self GeTiae¥ 1/1 coexistence 99
III/1 is possible,

e Because coexistence with action, in which the knowledge of difference between accessories and results is
accepted, of that in which perception of all differences/ divisions is negated, dealing with brahman as

the innermost self, is not possible.
o Inknowledge, there is negation of ¥g&T, while there is acceptance of the same in action.

e An objection is raised I fafufawad, a3 ¥eH wherever there is an injunction, there are differences. The

reply is that T is not T, since it is TEgd=
TEGIT il AETTSAAGRA |
o TEIA %(116BV) 7SS/H/1 when that which has predominance upon the object of knowledge (and its

means) i 7/1 being g&a=iaTd, (117BV=0&S: T T IR dd| A Teud=H| q&d 9d: | T ) 5H/1 due
to the status of not being dependent on will of a person F&IEE 6/1 of the knowledge of brahman.

e Since being that which has predominance upon the object of knowledge (as it is), due to not being

dependent on will of a person of the knowledge of brahman.

e This is dealt with in Br. Su. 1.1.4 so: when there is {4 for M, it will culminate into its EIHHT‘JHT%T%, its
means. That is, there should be focus on the means of knowledge, withdrawn from all other means. The
choice is only to bring the means of knowledge in contact with the object of knowledge; thereon, the

knowledge takes place on its own.
TERIERE] ATETSETENE] e T TTeH e SRlSTRTaaH ‘Haas SeaTies]eT Seadd |
e T 5/1 therefore TWEH: 5/1 from visible and invisible IEETIRETERY: from external means and ends
faw& 6/1 for one detached AT F1/1 subject of innermost self SRR F1/1 desire and inquiry

for knowledge ST F1/1 this ‘FNa#’ 1/1 “prompted by what?" ST F3/1 by this Shruti, etc veEdd
III/1 is revealed.

8 THIUT  and SHH TTETEH)

Download from www.arshaavinash.in Page 11


http://www.arshaavinash.in/

NN

FeATeTETEH,

e  For one detached from visible and invisible means and ends, subject of innermost selt, desire and

inquiry for knowledge, is revealed by this Shruti “prompted by what?”, etc.

o e o b EE%Fi ﬂ H\ o oo . o |
o PrgERvsmiEET 3/1 by that in the form of question and answer between disciple and teacher F&

1/1 presentation g 0 because HEHaEgI¥a@d 5H/1 due to being the subject matter of subtle vastu
gaufaara®Ru (3TP, 6TP) 1/1 the cause of easy understanding Hafd I11/1 becomes.

e Because the presentation [of the subject matter] by that [Upanishad which is] in the form of question and
answer between disciple and teacher becomes the cause for easy understanding, due to being the subject
matter of subtle T&g!
o < . 3 ot . o "
o FaodEREE (KD, 3TP=%aod®ul 3FT:) 1/1 that having the status not being known through mere logic

F0and E{ﬁﬂ comprehensible 1/1 Waid I11 /1 becomes.

e And that having the status not being known through mere logic becomes comprehensible. Il

Introduction Il

‘1 TR AR (. 3. 2-3-2) 2 e |
e ‘A0 not T F1/1 this 99 3/1 by logic Afd: F1/1 understanding 2941 F1/1 attainable’ (%. 3. ¢-3-%) 3 0

thus 2[d: 5H/1 due to Shruti statement 9 0 and.
e Due to this Shruti statement “this understanding is not attainable through mere logic”.
“STATEGEST 98 (BT, 3. &-2%-R) “S=Eed foren fafean e smafefa (21, 8. v--2) ‘afgf sfrw’ (4, 77, g-2e)
FeAieferg ot
o ‘AN 1/199: 1/1 3 111/1 one having a good teacher knows’ (1. 3. &-2%-?) ‘SIHMEId from teacher &

indeed W alone &I F1/1 knowledge fafedt F1/1 attained TS (S1E+38d= AT +3841 4.3.53 3. 2/1

quality of being the most effective IM9d 111 /1 attained=attains gfd 0 thus’ (3. 8. 8-2-3) ‘@d 2/1 that fafg

I1I/1 may you know YRTIGH 3/1 by proper attitude’ (. 3. $-3%) FeATGfa i@ d 5H/1 due to these

Shruti and Smriti ¥ 0 and

LY N o

HQ\%@ [N N aN ha¥ o . fﬁw o o Sl o haY - o I
o A 0 some qualified disciple 76 2/1 teacher F&E 2/1 faf@d 0 as per procedure 39 0 having
approached FTHTISATA 5/1 than the knowledge of innermost self 3= 0 in anything else TUM 2/1
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HEH

shelter / refuge 3929, 1/1 not seeing ¥4 2/1 fearless i 2/1 permanent 1@ 2/1 auspicious =,
2/1 unchanging $%8.1/1 desiring 9% I11/1 asked d 0 thus F&&d I1I/1 is imagined/ inferred —
FAMNAHENS 1/1 “prompted by what?”, etc
Some qualified disciple, having approached the teacher abiding in brahman [and well-versed in
scriptures] as per the stipulations, not seeing refuge in anything else other than the knowledge of
innermost self, desiring [to know] the fearless, permanent, auspicious, unchanging, asked “prompted by
what?”, etc. Thus is inferred [by us].
el T Siftd A & ST e Eﬁ%lg?ﬁ: |

FHANCT FTERTHT agfed Ted: 3= & I <G FARE 1l 2.2 1l
FA3K/1 by whom/ what HEG (S=a€.g8H) 1/1 willed/ blessed/ directed/ prompted qafd 111/1 goes to its
object it (@lﬂ'ﬁﬁ@"{) N1/1 asif’ pushed #+: N1 /1 inner-instrument % 3/1 by whom HMI: 1/1 vital
air 99: 1/1 the foremost ¥fd I11/1 moves about ge: 1/1 endowed. & 3/1 by whom 3f¥di F2/1 blessed
a=H F2 /1 speech gat F2/1 this gefed I11/3 speak ;:l%j,:%ﬁ?i N2/1 eye and ear %: 0 who 3 0 well-known ECh
1/1 effulgent being JA I11/1 unites. 1l 2.2 |
F 39d 19d 7e7: GaAld? & Jeb: [G] FIH: FIOT: Fd? & S [T ] §H T4 Fqlecd? F: T §F: 1A JAlH?
Directed and blessed by whom does the mind goes to its fields? Endowed with what is does the
foremost vital air move about? Blessed by whom do people speak this speech? Who is that well-known
effulgent being who unites eye and ear [with their objects]?

Is the mind directed actively or passively, hence 3¥aH and Sf¥aH|

9 “Asif” is added by Bhashyakara in the I&RMSIH|

10 SMERUERT for all perceptions, emotions, etc.
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% Zfet Fe oAl ST IEARTIG T H: Tafd i Tt g e |
e FA3/1 by whom g (39 T=2M@M) 1/1 willed/ directed =H13/1 A 3/1 by which agent gNaH 1/1 =399
1/1 willed =315 1/1 blessed &d.1/1 being A4 1/1 mind Fdid I11/1 falls =7T=31d I11/1 goes &fawd 2/1 its

objects qfd 0 towards fd 0 thus @&EAd 111/3 are connected.

e “Being blessed by whom, by which agent, the mind goes towards its objects?” thus the words are

connected.

TR ieTe T JEER T T ag i TR |
e T: 6/1 of the “root 31" IMIETATE (116BV) 6/1 of that which has the meaning “to repeat” AT 6/1 of
that having the meaning "to go" = 0 and & 0 here 3™ 5H/1 due to the impossibility T=I9E 6/1 of
that which has the meaning "to desire" @ 0 only Tdd 2/1 this &FH.2/1 form fd 0 thus 7/ I11/1 is
understood.
e [tis understood that this form here is only of the root §{ which has the meaning “to desire” due to the
impossibility of that which has the meaning “to repeat” and of that having the meaning "to go".
e The root occurs in three conjugations—
> 4™as “to go” (W)
> 6™ as “to desire” (3%3fd) and
> 9™ as “to repeat” (FM)
St SgaITe] =Baa: |
o "INAW" 3 0 thus gaFT: 1/1 usage with "§€ TFMH" J 0 however =3d: 1/1 is Vedic.
o However, the usage with "$Z 3P " thus “Saq" (instead of F57) is Vedic.
T g ferme Safiead |
e T6/1 of thatT 0 alone T9F& 6/1 of that having pra as prefix fr@ T 7VS /1 in the meaning of directing
"I 1/1 directed” 3fd 0 thus Tad.1/1 this.

o  Ofthat (root with the meaning “to desire”) alone, preceded by the affix 9 in the meaning of directing,
"9M5H directed” is the form.

N N SN S N . Y (NN N

e T 0 there in the mantra Ia¥ 1/1 directed3fd 0 thus W 0 alone 3t 7SS/1 when said

SRR ARG (D[6TP],[6TP], 7TP) F1/1 expectancy regarding particular director and particular
type of direction ®&d I1I/1 would be—
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o  There, when/ if the word “directed” alone was used, there would be expectancy of director and way of
direction—
e USRIgeRINT, TRl a1 SNuTHhd |
e HA3/1 by what ﬁqﬁaﬁflﬁw 3/1 by particular director, Fiest 2/1 what type @10 or 99U 2 /1 direction 3fd
0 thus.
e “by which particular director or which type of direction”.
gfafirf g R0 afy agE e, FEmsmE Saftea iR |
e "IMaH" 2/1 3 0 the word "directed" is used g 0 whereas &9l 75S/1 - &fd 75S/1 but when the
specification dgd 1/1 both of those expectation feyadal 111 /1 goes away, & 6/1 of whom TBMEE 3/1
by wish/ mere presence alone % 2/1 directed geaslferRISTRI 5H/ 1 because of the ascertainment of
this particular meaning.
FsHisATa: @, FARaRAdEde RraaTaari A e | A = Fegierreeier It Sosar FHOT i a1 H
SR ST Iw: |
e (Opponent) gfe 0 if ©: 1/1 this a9 1 /1 meaning SIRTE: 1/1 intended ®&E.I11/1 would be, "FHANaH 2/1"
30 0 thus T@@dT F1/1 so much @ 0 alone #F8@td 5H /1 since it is accomplished " 1/1” g 0 the
word A0 - S, 1/1 should not be said. @1 0 also T 0 and "zr=aTrerTd 5H /1 due to excess of words
AT 1/1 excess of meaning % 1/1 tenable” 3 0 so T5341 F3/1 through desire FHUT N3/1 through
action a1 N3/1 through speech a1 0 or % 3/1 through whose ¥ 1/1 is directed/ prompted i 0
thus FEfERN: 1/1 particular meaning T 0 to understand Jwh: 1/1 logical.
o (Opponent) If this meaning was intended, so much * # 3194 directed by whom* alone would be
enough, since it (what you say) is accomplished, “G19a8” should not be said. And also due to the (law)
“due to extra words, extra meaning is tenable”, to understand the particular meaning so— “through
whose desire, action or speech, the mind is prompted” is logical.
=, ST ;
¢ (Reply) 90 not so, YA 5H/1 due to the strength (of the context) of the question;
e Not so, due to the strength of the context of the question,
TR TR AR TETh: STalS~achee fFicd T PIcaHM: ool QrHeigaad |
o JEMEEYMEM5/1 from body-mind complex A 5/1 from temporary ﬂ?ﬁmﬁHS/ 1 from product of
action faG: 1/1 dispassionate person 3%@: 0 since 37 0 different F&%d 2/1 changeless e 2/1
permanent 9% 2/1 entity TIHAE: (T4 4A+T1+H%+3MEH) 1/1 one desirous to know =3 111/1 asking
gfd 0 therefore WHWSI?LSH /1 due to the strength of the context I99d 111 /1 is tenable.
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e Since a dispassionate person desirous to know the changeless, permanent entity, different from

temporary body-mind complex, product of action, is asking the question” therefore due to the strength
of the context, this is tenable.
T TR ATEHRGRTI e SRFge g SsisHes T @ |
e FAW F1/1 otherwise Wﬁlﬁﬁﬁ?: 3/3 through desire, speech and action ESHEaE 6/1 of the body-
mind complex ‘ERﬁQH 1/1 directorship gRTeH 1/1 is well-known 3fd 0 thus 91: 1/1 question aFE: 1 /1
meaningless %9 0 certainly ®&1d I1I/1 would be.
o Otherwise, the directorship of body-mind complex through desire, speech and action being well-known,

the question would be certainly meaningless.

e Especially since the question is being asked by a disciple who has gone through karmayoga, etc.

oo %ﬁ ;[ faNo qa_ |
e (Opponent) T9H 0 if so A 0 even ANAEEH 6/1 of the word "Jf¥d" e 1/1 meaning < 0 not 931%??{: 1/1
shown W 0 indeed.

o (Opponent) Even so, the meaning of the word “Si¥d" is definitely not shown (by you).

9 ; dEEAIsY 9 3 SRR ST9E |
e (Reply) 71 0 not so; HZ@&a: (H2E+Hd9) 6/1 of one who has a doubt & 1/1 this ¥#: 1/1 question 3
therefore U¥T=T=GE 6/1 of the word "If¥a" StfEE: 1/1 special meaning I I11/1 is tenable.
e (Reply) Not so. This question is of one who has a doubt. Therefore, the special meaning of the word
“GI9d’ is tenable.
4 TATIRTEHE U Surige, 7 a1 dadaiiR e EasRa=s e AN RIgEH, S Taaie Hamd
qffl Sl 7 el [RrRISOTE e
e %0 whether TuHTEH 1/1 as well-known W 0 indeed FEFEUEEAE 6 /1 of body-sense complex ﬁﬂﬁﬂﬁ'&
1/1 directorship, % 0 whether a1 0 or HHTAATIRTE of that different from complex 6/1 &= 6/1 of
that independent e 1 3/1 through will @ 0 only mw&ﬁqﬁaaq 1/1 directorship of the mind, etc,
gfd 0 therefore 3 6/1 - A 6 /1 of this (two-fold) idea Flafl?ﬂ%? 1/1 for the purpose of presentation "
3/1 -5 1/1 directed by whom 9afd I11/1 goes about 3f¥d 1/1 prompted #4: 1/1 mind” 3 0 thus
feRwTEE 1/1 two-fold specification I99eId 111 /1 is tenable.

o Whether, the well-known directorship is indeed of body-mind complex or whether directorship of the

11 Comm— GFEIfm™= Wl This is analyzed in other Upanishad.
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mind, etc, is of that which is independent and different, just through (his) will, therefore for the
presentation of this idea, the two-fold specification thus— “directed by whom, the mind goes about?” is
tenable.

7 A= A T @ qditd aged ; 99 %9 9 SU9Ed 3,

e (Opponent) a9 0 Objection &d= (HGV) 1/1 being independent #: 1/1 mind @9 7/1 unto its own
objects &d 2/1 on its own Tdld I11/1 goes 3 0 thus TFEA 1/1 well-known; @ 0SS that being so &% 0
how 9%: 1/1 question I999d 111 /1 is tenable 3fd 0 thus,

e (Opponent) The mind being independent, goes about unto its own objects on its own, thus is well-
known. That being so, how is this question tenable?

[N o N N e

I — TS T= H: TG &, afé qaei=eiaes 4 @d | Y 9 Sa-HweTard |

e (Reply) A /1 is being answered—3fe 0 if @d=i 1/1 independent #1: 1/1 mind W’%ﬁ@%ﬁ@ 7/1
w.r.t. subject of engagement and withdrawal/ disengagement ®1d I11/1 were to be, afE 0 then §4¥4 6/1
of everyone g 1/1 undesirable thinking 9 0 - &d I11/1 would not be. &9 2/1 harmful ¥ 0 even
STWH.1/1 knowing H%eadfd I11/1 thinks.

e (Reply) This is being answered—If the mind were to be independent w.r.t. subject of engagement and
disengagement, then there would not be undesirable thinking for everyone. Even knowing [it to be]
harmful, [everyone] thinks.

e The answer to the question being tenable is so—
> The Vedantic answer, that the mind being insentient, it cannot be functioning independently, will be

given in the next few mantras.
> However, here, the answer is based on dharma that the mind is helpless in thinking on things based

on tendencies from earlier lives.

o Itis also a matter of common experience.

IR = FH1H TR Fedd T A |
o YU/ IAUG:E (117BV=3nT% §:® IRFH FE ad) 7/1 in which there is perpetual sorrow 3 0 and F4
7/1 in action IFHUH 2/1 advised to stop M4 0 even yadd 1/1 engaged % 0 definitely #: 1/1 mind.
e The mind is engaged in action in which there is perpetual sorrow, even when advised to stop.
TEATY @ el HaHcAT o |
o T 5/1 therefore I: 1/1 legitimate W@ 0 indeed Fl¥amcAqusl: 1/1 question “prompted by whom”,

etc.
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o  Therefore, indeed, the question “prompted by whom?”, etc is legitimate.
el TOT: e fergeh: IR G i TTresfa S o |
e &A3/1by whom U1 1/1 gek: 1/1 =fegeh: 1/1 =3Ra: 1/1 &4.1/1 U [11/1 == 111/ 1 TR 2,/1 91 0
towards.
.
Tl ORI €41, deaeheTed e A g i, |
o ¥¥H:1/130 the word "I¥®" WU (6TP) adjective to "9UT" &1 I11/1 would be, H?‘lﬁﬂﬁlﬂSH/l -
HAfegagTI-T, 6,/3 since all the activities of all organs are preceded by that.
e The word "F¥H" would be an adjective to "FI9T", since all the activities of all organs are preceded by that.
“Hel Al AT T T et B |
e FA3/1 by whom gl F2/1 blessed a=H, (EFJLH%‘{I Mo no TRENUM | I=4d '&"'I%l) F2/1 speech i F2/1 this
=3[=2&UT F2/1 in the form of words &= I11/3 speak St 1/1 people.
e Blessed by whom do the people speak this speech in the form of words?
AT T =i 9 W W I % I <F: Alqar, gk gy S
e  dAT0 similarly =¢: 2/1 eye %f_lsl 2/1eard0 and o 7/1 o 7/1 LR 7/1 in their own fields &%: 1/1 who 3 0
well-known 24: 1/1 ==ia=i9.1/1 one endowed with effulgence m'\ II1/1 =ﬁ-|§§ II1/1 directs = 9&Afd
III/1 prompts.
e Similarly, who is the well-known effulgent being, who directs, prompts the eye and ear in their own

fields. 1.1

T qEad AR TE: |
e W0 in this manner 929d 4/1 one who had asked the question WM™ 4/1 to the eligible & I11/1
answered &: 1/1 teacher.

e In this manner, the teacher answered to the eligible disciple who had asked the question.

510] Tl o Y31, FASTTCHLUTSI i 4d: Tiqd i SRt Fef a1 SRt |
e ST ]I/1 may you listen 9d 2/1 which <d1/1 you W%l 11/1 ask, "AASTICHRUTSTA (6TP) of the group of

instruments, mind, etc, N6/1 %: 1/1 who aa: 1/1 effulgent being @iad 2/1 own field 9T 0 towards
I 1/1 director % 0 how a1 0 and SR&Afd I11/1 directs” 3fd 0 thus.
e May you listen which you ask “who is the effulgent being of the group of instruments, mind, efc and

how the director directs it towards own field?”
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SAT=TEd ST HHl FeAl T & o S S0red o1 |
FINA = I TATHTGIIGHT wated 1| 2. |l
o FEH 6/1 of the ear st 1/1 ear A98: 6/1 of the mind #4: 1/1 mind 9d 1/1 which a: 6/1 of the speech
g0indeed T=2/1 speech &: 1/1 that 3 0 indeed WU 6/1 of the vital air ¥0T: 1/1 vital air 9g¥: 6/1 of
the eye 98 1/1 eye =4 0 having given up 9 1/3 discriminative people & 0 having departed
I 5/1 from this @A 5/1 from the world $9aT: 1/3 immortals ¥afed I1I/3 become. Il 2R Il
o T (FEHIQ) YA I HAG: H:, q: E A (%), T 0T T 7T, &: 3 =] 92 G HAA| [T (FEHI)
4T/ 7 I Y AT [T, ST Sieere] 03, HieT: STefl: 37t
e Indeed that which is the ear of the ear, mind of the mind, speech of the speech, that indeed is vital air of
the vital air, eye of the eye. [Having understood in this manner and having given up [the identification
unto those], the discriminative people become immortals, having departed from this world.
e The mantra has two parts:
> The answer to the question asked
*  All 6™ cases represent the senses organs/ instruments, while all 1°' cases represent the & The
%] is what makes the ear, etc, what it is, by making it capable of hearing, etc.
* Thatis not its inherent nature, the effect is by its mere presence.
* The insentient ear, etc, becomes as if sentient due to which, is necessarily of the nature of
consciousness.
* The mantra also means that the existence of all listed, and thereby everything else too, is due to
the F&g|
* It pervades all organs without becoming any one of them.
= That 9% is the 3T, the self.
> The result of the knowledge.

e The world is 7, &4 and FH, which is why the above sense organs are talked about.

HSH
ST TS IOl ST, T STau Sifcl 0l T eash: SimfHiesaw, T 2t §: T6d g8: ‘g3l & 3 gdl JAre” (3.
3. 2-2) 3 |

o HEH6/1 of the ear%f_ﬁf(%h 3JUTe 34) 1/1 ear =TTt [11/1 listens ¥1¢d 3 /1 bywhich%{l%lOthus == 1/1,

31558 6/1 of sound #@0 1/1 hearing ¥ 0 towards #Ui 1/1 instrument TG (6TP) 1/1 revealer of
sound $TH 1/1 F=a9.1/1 organ, d& 6/1 of that2is 1/1 ear @: 1/1 that T: 1/1 which @3153/1 by you
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9e: 1/1 asked ‘Fe1: 915 2/1 eve and ear & 1/1 who 3 0 well-known 381 1/1 effulgent being I 111/1

unites’ (%. 3. 2-2) T 0 thus.

o “That by which one listens” thus “ear of the ear”, instrument towards the hearing of sound, revealer
organ of sound, ear of that is that which was asked by you thus: “who is that well-known effulgent

being which unites the eye and ear with its objects?”

ST IRTE: S FTg, 3fd Thed, Aradeaded Sda=s Si=eg Sl |
e (Opponent) "3 1/1 that TEfafRTE: 1/1 endowed with these attributes S1EH 2/3 ears, etc g I11/1
directs” 3fd 0 thus e 111/1 should have been said, 19 0 objection ¥dd 1/1 this FAgEd 1/1
inappropriate Y@= 1/1 answer "#15& 6/1 of the ear %15¥.1/1 ear” 3 0 thus.
e Objection, “that which is endowed with these attributes such as ears, etc” should have been said, so this
answer “ear of the ear” is inappropriate.
9 :, TE R |
e (Reply) 90 not W: this a9 1/1 defect, 7 6/1 of that 3171 0 otherwise, any other method [CEEICEUIG]
5H/1 because of special qualities not being known
e This type of answer is not a defect. Because of any other method, of special qualities not being known
e & AAATITREATARTRA TEATINT {SRTE: S EIRA S SENEIERRad, degR-d&d Sidads &1 |
e TX (0 if & 0 because AAEATIRATARHA 3/1 with that different from activity of ears, etc TN 3/1 with
his own activity fafam®: 1/1 endowed HEief=@™aT 1/1 director of the ear, etc SRR I11/1 is understood
m&mﬁaaao like director/ wielder of sickle, ladle, etc, @&l 0 then 3gH.1/1 this 3\g&4d 1/1 inappropriate
gfaa=«i 1/1 answer & 111/1 would be.
e Because, if the director of the ear, efc, is understood endowed his own activity with that different from
activity of the ears, etc, like the wielder of the sickle, ladle, etc, then this answer would be inappropriate.
A T8 S TR ST RTel Sasqag e mad
e d0notd0but3EO0 here %ﬁﬂ'l?ﬁ?ﬂ 6/3 of ears, etc ST 1/1 director FAIRGRE: 1/1 being endowed with
his own activities Sf=Tead (@T’Iﬁ ﬂ%l) 0 like the harvester, etc ARG 111 /1 is not found.

e But the director of ears, efc, is not found being endowed with his own activities, like the harvester, efc.

N ﬁ N ﬂ . . N ~ : %Tli\m NN S o ]% R NP N . N .
o G 6/3 of ear, etc W@ 0 g 0 whereas H&aHi 6/3 of the combined &TINY 3/1 by activities

Download from www.arshaavinash.in Page 20


http://www.arshaavinash.in/

FeATeTETEH,

GT@WHWW 3/1 by those (activities) in the form of seeing, volition, decision FSEHFSHA

(1 16BV=% T EqE_H T o8 o= == #:) 3/1 by indicator in the form of culmination of rise of
knowledge T 111/1 is understood/ discerned— 3R I11/1 there is f& 0 indeed S=ER: 3/3 with ear,
etc 3TE&Q: 1/1 non-combined, FSANTATTE: (6TP, 3TP) 1/1 activated for whose purpose SfEfeFeM: 1/1
group of ear, etc qaﬁaao like house, etc 3 0 thus.

e  This fact “indeed, there is a non-combined entity, group of ear, efc, is activated for whose purpose, like
house, etc” is understood by the activities in the form of seeing, volition, decision, by indicator in the
form of culmination of rise of knowledge of ear, etc, which are assembled,

e These are the five characteristics of non-self: T, €29, QITRR, ST, T |

e One more characteristic/ reason can be added as H&d to mean part of assemblage and assemblage itself,
that which is combined. Anything that is put together is 3T€, because of the ft— I T Hedd a= a=t
Stecdd | However, here although S, etc, are insentient experientially it is seen as %EFI, so its 9 is due

to something else different from it.

e Perceptual knowledge — activity of organs —presence
o S qu_ < NN ﬂ . =~ l

e H&dMi 6/3 of the assembled Wﬁ?ﬁlﬁ(lMBV:‘l@ H/ T e At ﬁ) 5H/1 due to their being meant for
someone else 3@ 111/1 is understood W 6/3 of ear, etc 54 1/1 director.

e Due to the purpose of the assembled being for someone else, director of ear, etc, is understood.

AHTETETHE Hferar= s siEfete |

o T 5/1 therefore ¥I&IH 1/1 in keeping with @ 0 indeed ¥& 1/1 this Hfd@=d 1/1 answer "#i5& 6/1 of
the ear #FM.1/1 ear” 341 1/1 this, etc.

o  Therefore, this answer “ear of the ear”, efc, is indeed appropriate.

F: GG T SR SIEHeaTe: 2 = & Siod SseaNun: , T SR SRy |

e (Opponent) %: 1/1 what 3: 0 again 3 0 here q?{lﬁ: 1/1 meaning of the words "SI 6/1 of the ear STFH.
1/1 ear” 31E: 6/1 of this, etc? A0 not & 0 indeed 3 0 here & 6/1 of the ear ST 3/1 with
another ear 31: 1/1 purpose, @1 0 just as THEE 6/1 of the light SHETFART 3/1 by another light.

e (Opponent) Again, what is the meaning of the words “ear of the ear”, etc, here, in this mantra. Indeed,
here, there is no purpose of an ear with another ear, just as (there is no purpose) of light with another
light.

e This will lead to ST &¥: and IR FEAIRT | However, the example given is inappropriate, since

the example of the light is befitting the self alone, not non-self.
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a N | ST q‘r;ra?: —
e (Reply) @0 not W: 1/1 this 319: 1/1 defect. @H.1/1 this 373 0 here ‘il?{lﬁ: 1/1 meaning of the words—
e This is not a defect. This is the meaning of the words here—
$i15t AT aTaeEEne 7oA |
e i 1/1 ear A4 0 first of all FlIFAFTEES 2ad /1 capable of revealing its own object T8H 1/1 seen
e  First of all, the ear is seen fo be capable of revealing its own object
] ERTEEEEHE S S e i sHed et afd watd, | et 3 |

e dd1/1 that g 0 however HfvaAZwEMA 1/1 capacity to reveal its own object & 6/1 of the ear S
7/1 when there is consciousness f& indeed RSN 7/1 when there is light of the self fd@ 7/1 when
there is permanent STE&d 7/1 when there is that which is not assembled HAwR 7/1 when there is that
which is in everyone dfd 7/1 when there is the presence Ward 111 /1 is possible, 90 not 3 7/1 in the
absence fd 0 thus.

e However, indeed that capacity of the ear to reveal its own object is possible in the presence of (=when
there is) unassembled, permanent, consciousness, light of the self, which is inside everyone, not in the
absence. Thus (is the meaning).

I A AT |
o 3T: 0 therefore %15& 6/1 of the ear 5 1/1 ear A 1/1 this, etc IT9&d I11/1 is tenable/ justifiable.

o  Therefore, “ear of the ear”, etc, is justifiable.

AT = AN — ST ST (3, 3. 3-3-8) “TEd Wl TS et (5, 3. R-3-20) A GAEITI defdg:’ (3. =1, 3-
2R-%-9) TG |
o @0 accordingly = 0 and =AU 1/3 other Shruti statements— ‘ST M3H /1 due to the self T 0
indeed 3@ 1/1 this SIS 3H/1 due to the light 3R I11/1 remains’ (3. 3. $-3-&) ‘& 6/1 of that W& F3/1

by light 849 1/1 all ¥ 1/1 this B 111/1 shines’ (g, 8. 3--20) ‘44 3/1 by which 83 1/1 sun dufd [11/1

heats 9561 N3/1 by light 8: 1/1 lit’ (d. 3. 3-23-2-) AN 1/3
e And accordingly there are other Shruti statements— “due to the self, which is the light sits (sits, goes,
acts, returns)”, “by His light alone, all this shines”, “sun is lit/ kindled by which light”, etc.
‘RTINSt STEIAdS RIS |7 (3. 3. 24-2R) ‘& &1t a0l Fickl TRIREid AR’ (3. 71, 23-33) 3fd = TMarg|

e ‘Td1/1 which e 1/1 - a1: 1/1 sunlight SF1d 2 /1 world ¥EFd I11/1 illumines 3R&@SH 2 /1 entire’ (3.

3. 94-23) ‘&5 field / body &t 1/1 knower of the field / body @1 0 similarly Fic 1/1 complete ThRA
I11/1 illumines ¥R 1S/1 O Bharata’ (3. 3. 23-33) & 0 thus 9 0 and TﬂﬁTﬁ 7/3 in Gita shlokas.
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e And thus— “which sunlight illumines the entire world”, “similarly, O Bharata, the self illumines

complete field”, in Gita shlokas.

F1o+ = “focl fcaei AaasiaaEm’ (F. 3. :-3-23) 3 |
e F&%H 7/1 in Kathaka 90 and ‘Fic3: 1/1 permanence et 6/3 of permanent things qaq4: 1/1
consciousness Jd9HM 6 /3 of all conscious beings’ (&. 3. R-3-23) &fd 0 thus.

e And in Kathaka thus— “permanence of permanent things, consciousness of all conscious beings”.
ST T SR S afE e |

o S 1/1 ear, etc (subtle body) @ 0 alone a1 6/1 of all SMERI 1/1 as the self Fd9M.6/3 of conscious
beings gfd 0 thus qm@:[(wrongly) well-known; dd 1/1 that wrong notion & 0 here feyaeda 111 /1is
negated.

o The ear, efc, subtle body, alone is well-known as the self of all conscious beings. That wrong notion is
negated here.

st ot fereg el TaTraRa FECaeTHICHRaR STERIY ST AeaTHeA R, 3o T Tregraaed |

o ARG/ 1 exists/ is there R0 - 3T 0 something ﬁigﬁi"lm (6TP, 3TP) 1/1 comprehensible through the
intellect of discriminative/ wise people HiaH (6TP) 1/1 innermost essence of all FIEH1/1
changeless/ steady 3= 1/1 unborn 3H 1/1 decayless/ ageless 3¥dH 1/1 immortal 30T 1/1 fearless
SIEE 6/1 of ear, etc 3 0 even #HTE 1/1 ear, etc Wﬁﬁﬁlﬁql /1 source of/ basis for capacity of that
3fd 0 therefore Sfda=H 1/1 answer T&arel: 1/1 meaning of the words ¥ 0 and 99 I1I/1 appropriate T 0
certainly.

e  Something exists that is comprehensible through the intellect of discriminative people, which is the
innermost essence of all, changeless, unborn, decayless, immortal, fearless, therefore, the answer “ear,
etc of the ear, etc” and meaning of the words, basis for capacity of that (ear, etc) is certainly appropriate.

AT HAH: e : RO HA: |
e 10 similarly #48: 6/1 of the mind F=:%HWEA 6/1 of the inner-instrument =H4: 1/1 mind.

e Similarly, mind of the mind, inner-instrument.

| T FAOTH, ST It St Sfaag eareaaaTEa s € |
e A0 not & 0 because =: UM 1/1 inner-instrument =T 0 without [%HFIEI\T%W 3/1 by the light of
consciousness E’\ﬁlﬂ 2/1 illumined ] SR | 6/1 of light of consciousness aﬁlﬁ-! 2/1 radiance
W%GWWW%‘? 1/1 volition, deciding, remembering, etc, w.r.t. its object ®d 11I/1 would be.

e Because the inner-instrument would not be capable of doing its job in the form of volition, deciding,
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remembering, etc, w.r.t. its object without the radiance of the light of consciousness.
TS A 3 |
e TM5/1 therefore AFH: 6/1 of the mind 3 0 even H: 1/1 mind fd 0 thus.
e  Therefore, even mind of the mind.
o 0 here IREHAEN 2/2 intellect and mind WiFe 0 having made one fcar: 1/1 usage H49: 6/1 of the mind
30l 0 thus.
e Here, the usage “of the mind” is having made “intellect and mind’ one.
FET &
e Id1/1/ OH which/ since a: 6/1 of the organ of speech & 0 indeed a=H 1/1 speech;
e Indeed, which is the speech of the organ of speech.
Teged] FEHIGY SCRY: Fel: Tl — JEATSE, e SIS, T J 59 |
o T=3sq: (KD) 1/1 the word "dd” Wﬁ?\f 7/1 in the meaning of "I&Ig/ since" STENERY: 3/3 with ear, etc gd:
3/3 with all @=d I11/1 is connected— "I&ATE. 5/ 1 since & 6/1 of the ear STFH.1/1 ear, IH5/1
since H¥E: 6/1 of the mind F9: 1/1 mind” ¥399.1/1 in this manner.
e The word “dd " in the meaning of “&Id " is connected with all, with ear, etc— in this manner “since it is
ear of the ear, mind of the mind”.
T & AT e ST R, ST o gf g2 |
e dM: 6/1 of the speech & 0 indeed a=H 2/1 speech 3fd 0 this f&d™@1 2/1 second case J&¥Ted 3ad /1 as first
case fARUREA I11/1 modified, SO 6/1 of the vital air SUT: 1/1 vital air &fd 0 thus F&1d.5/1 due to being
seen.
e “Indeed, speech of the speech” this second case is to be modified as first case, due to “vital air of the
vital air” being seen (in first case).
Tl € AraHcdeg TTURE SToTffe werTidae = fhad 2
e (Opponent) a=: 6/1 of the speech & 0 indeed a=#.1/1 speech Fd 0 thus Tq&gL&H 3ad /1 in conformity
YU 6/1 of the vital air UM 1/1 vital air 3fd 0 thus FHE5/1 why f&d™ F1/1 second case @@ 0 alone A1 0
not fFad I11/1 is done?
e (Opponent) Why the 2" case (conversion) is not done thus “S9F vital air of the vital air” in conformity
with “d=H speech of the speech”?
7 ; TG JcTe] |
e (Reply) 0 not so; SI§AM™M 6/3 to majority alﬂfl‘él@ 6/1 of conformation gwhedld 5H/ 1 because of

Download from www.arshaavinash.in Page 24


http://www.arshaavinash.in/

NN

FeATeTETEH,

appropriateness.
e (Reply) Not so, due to appropriateness of conformation to majority.
TR AN TAAaE®S | 3 U0 07 3l TG aTgure ;

e dMH2/1 speech gfd 0 thus /= 6/1 for thisd® 1/1 speech Zfd 0 thus Td@d 1/1 in this way T 1/1
should be said @: 1/1 that 3 0 indeed MR 6/1 of the vital air I 1/1 vital air Zfd 0 thus W@flﬁﬂ
3H/1 due to conformity to two words [in first case];

e Due to conformity to two words [in first case], "indeed, @: that is HI9: vital air of the vital air”, “dr4:
speech of the speech" should be said in this way for “dI<H speech”.

& TR g F: 0|
e 0 in this manner f& 0 because &AM 6/3 to majority TgLH: 1/1 conformity I: 1/1 proper Fa: 1/1

done ©E I11/1 would be.
e Because, conformity to majority done in this manner would be proper.
9 = T TAaE fgy I |
e TY81/lasked=d0and & 1/1 thing 99841 F3/1 through first case @ 0 alone ﬁég 1/1 mention A 1/1
proper.

e And it is proper to mention the asked thing through first case alone.
| T 2: S0 ORI RIS S0:, dedhdl [ STURE STUErHea |

e ®:1/1that=3: 1/1 who @1 T3/1 by you I8: 1/1 asked IURE 6/1 of vital air MURAGrTGRISE (Fra=t
ferRTS: | STOT: Sf) STt I giafar=iaed | SIUTea 4 6: Jidia’is: 9) 6/1 of a particular type of function
(breathing) called vital air 991: 1/1 vital air, dckd (3TP =AM TG FaH 1) 1/1 accomplished by that 0
because U 6 /1 of vital air Wﬁ"{l /1 capacity of enlivening/ sustenance/ breathing.

e That who was asked [about] by you is vital air of the vital air, of a particular type of function called
(tive-fold) vital air, because the capacity of breathing is accomplished by that (self).

A AT STUHHI9E,
e d0not f& 0 because A 3/1 by the self MM 6/1 of that which is not presided JUHH1/1
breathing function of vital air/ sustaining life 399d II1/1 is possible,
e  Because breathing function of vital air which is not presided by the self is not possible.
‘il YATHTcch: TATIST SRR IMewel 9 S (d, 3, R-9-2) ‘I T TR (. 3. 3--3) FANEgfna: |
e @& 1/1whof0indeed

o

fafafes) 111/1 inhales %: 1/1 who I11/1 breathes A< 0 if 99: /1 this

SRMRM: 1/1 self 3Awa: 1/1 that which is of nature of happiness 9 0 - ®&1d 111/1 would not be’ (@. 3. R-9-
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2) ‘T AUHEEAE TR (%, 3. R-3-) Aegfa: 5H/1 due to this Shruti statement, etc.

e Due to Shruti statements—“Who indeed would inhales, who breathes if this which is of the nature of

Vw74

happiness would not be there”, “lifts the vital air up, pushes the vital air down”, efc.

BT 9 9%Fd ‘A= 9191: JUiad dad ol & fafg (%, 3. 2-¢) 3 |

e &0 here M 0 also T 0 and F&4d I11/1 will be said ‘@4 3/1 by which I1: 1/1 breathing JuiEd I11/1

activated dd 2/1 that T 0 alone & 2/1 brahman & 1/1 vou g I1/1 may yvou know’ (. 3. 2-¢) 3d |

e And here also it will be said “May you know that alone to brahman by whom this vital air is activated”.
AT oS TR TV SR H ek TeUr |
e (Opponent) A e o '27SS/1 when the sense organs such as ear, etc, is talked about HIURH 6/1 of
olfactory organ W 0 alone WU 6/1 of vital air 70 not g 0 but It 1/1 is proper T&UM 1/1 grasping.
e (Opponent) It is proper to understand grasping of olfactory organ alone but not of vital air.
e U also stands for ten organs, especially ™9, in a secondary sense. The
AW |
e (Reply) @5 1/1 correct W9 0 in this manner.
o (Reply) (The interpretation) in this manner, is correct.
TIURTEIAE q SR e Fadd Hedd 2Jf: |
o YUEEUM 3/1 by understanding as five-fold vital air @ 0 itself g 0 but ST 6/1 of the olfactory organ
T8 2/1 grasping %dH 2/1 done W 0 indeed H=d I11/1 considers %Il%[ : 1/1 Shruti.
e However, Shruti indeed considers understanding of the olfactory organ as done by understanding as
five-fold vital air itself.
e Inhalation as one of the functions of five-fold vital air covers function of smell as well.
HAE FOTHSTE TGUTIH Tge:, TERIel Seheomet faaerat: |
o TEIHG6 /1 of entire 3 0 alone HWRSTH 6/1 of group of organs Wﬁﬁ'ﬂ?ﬁl (6TP, 7TP) F1/1 that for whose
purpose 5@%: F1/1 activity, @d 1/1 that & 1/1 brahman gfd 0 thus T 1/1 meaning of the section
fqaferd: 1/1 intended.
e For whose purpose alone, the activity of entire group of organs is done, that is brahman, thus is the

intended meaning of the section.

T TR SRR FE! TGV A e |

12 (Obj) Here, the sense organs such as ear, etc, are being talked about. So olfactory sense organ is a better fit than vital air.
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e  dA10 similarly J&8: 6/1 of the eye J&: 1/1 eye EIIRRERE 6/1 of that which illumines colour and form
=gE: 6/1 of the eye Id 1/1 which TR 1/1 capacity to grasp the colour and form dd 1/1 that
HIHFTAIAE 6,/1 of the basis of consciousness which is the self T 0 only.

e  Similarly, eye of the eye, of that which cognises colour and form, that capacity of to grasp colour and
form is only of that which has consciousness of the self as its basis.

ITAIIEE: |

e  3d: 0 therefore JN: 6/1 of the eye 9%: 1/1 eye.

e  Therefore, eye of the eye.

g JEETHE ST S STesau] 9eih 76 ‘el Tt ;

o ¥2:6/1 for a questioner J8¥ 6/1 of the question/ that which is asked I 6,/1 of the meaning SgH.0 to
know E81d 5H/1 due to it being desired e 6/1 of the ear, etc AES&U 1/1 that in the form of ear,
etc T 1/1 as it has been talked about 5@ 2/1 brahman “ZeT 0 having known’ gfd 0 thus 3reTfead I11/1
is to be supplied;

e Due to the meaning of that which was asked is desirable for the questioner, “having known” brahman
as it has been talked about thus “that in the form of ear, etc, of the ear, etc” is to supplied.

ST Ve 3 Fedad |

e "SWAN: 1/3 immortal ¥afed II1/3 become” 3fd 0 thus ®S¥d: 5H/1 because of Shruti statement of the result
being there ¥ 0 and.

e And due to the Shruti statement of the result as “they become immortals”.

STERA ST |
e M 5H/1 due to knowledge f& because A 1/1 immortality 91d 111 /1 is attained.

e  Because immortality is attained due to knowledge [alone].

S s g e ST —
e T 0 having known "31fcR= 0 having given up completely” g 0 thus " ° 5H/1 due to
capability/ appropriatenessS=GFUTRSTH 2 /1 [identification with the] group of senses such as ear, etc
IRFAT 0 having given up—

e Having known, due to appropriateness thus “having given up”, having given up [identification with

the] group of senses such as ear, etc.

13 What can be given up through knowledge can only be what is form)
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ST ST Focall, TGHTTE: T, TTHAT ST B TEfel = |
. %ﬁﬂ'lff 7/1 w.r.t. ear, etc f& 0 because T 2/1 [-notion/ identification %l 0 having made,
E@JTT'?J: 14(116BVzH?[¥ﬁﬂTl%: I T STTH: | STHT ) 1/1 that which has the adjunct of that &11/1 being,
AqrcHT (1 16BV=ad #ii=ie: AT I S0 / eH=: @:) 3H/1 due to being identified with the adjunct-self
S 111/1 is born 5@ I11/1 dies SR I11/1 wanders in bondage @ 0 and.
e  Because having made the I-notion w.r.t. ear, etc, being that which has the adjunct of ear, etc, being that
which is identified with the adjunct-self, one is born, dies and wanders in bondage.
A TG AAGSHA TRATHIA [, = AT TR —
e  3@: 0 therefore "S=E: 6/1 of ear, etc AAN<H&U 1/1 in the form of ear, etc & 1/1 brahman AT 1/1 1
am/ self” 3fd 0 thus f&fE@1 0 having known, 3= 0 having given up SR (7TP=G! STcHHTEH)
2/1 identification with ear, etc 9Re@d 0 having given up completely—
e Therefore, having known thus: “I am brahman in the form of ear, etc of ear, etc”, having completely

given up the identification with ear, etc—

A ST IR, o HRT: e |
o d1/3 those who HISEICHTE 2/1 [-notion w.r.t. the ear, etc TRt I11/1 give up completely, d1/3

they ¥: 1/3 discriminative people =¥#=d: 1/3 endowed with wisdom.

e Those who completely give up the I-notion w.r.t. ear, etc, those discriminative people are ones endowed

with wisdom.
A & FRe = ST 29 TRegHH. |
e A0 not & 0 because FARTSFFHEHN 3/1 without status of being endowed with extraordinary
intelligence G (7TP) 1/1 I-notion w.r.t. the self 2/@: 1/1 possible IREGHA 0 to give up
completely.
e Because it is not possible to completely give up the I-notion w.r.t. the selt, without being endowed with
extraordinary intelligence.
Y G I SiehTd, FREFHSTEY AHEHIETE NS, IhEas Jelcad: |
e UJ0 having departed =14 0 having withdrawn 3&Hd 5/1 - SR 5/1 from this world =33r'|ﬁwwg

7/3 w.r.t. sons, friends, wife, relatives TARHEAHHTERSHONd. °5H /1 from that characterized by involved

14 39 HHIY g g Iar: |

15 The transactions are mainly of four types:
. SIfrEn thinking/ disposition/ mindset,
. AhEeA talking about it
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transaction in the form of the notion of I and mine, FEHITT: (113BV= cI<ht: ga: ToT: §: d) 1/3 those by
whom all desires have been given up ¥ 0 having become gca%: 1/1 this is the meaning.

e Having departed, having withdrawn from this world, from that characterized by involved transaction in
the form of the notion of I and mine, w.r.t. [world of] sons, friends, wives and relatives; having become
those by whom all desires have been given up, this is the meaning.

IAT: STACITSHIOT: Welfed |

e IHd:: 1/3 immortals — STARUTHIUT: (ST AT Tt d) 1/3 those who are free from death/ all
modifications/ bondage ¥afed I11/3 become.

e They become immortals, those who are free from death/ all modifications,/ bondage.

< FHHOT 7 FG1 el ARk STHATAR]: (2. 1. ¢) ‘I Wiel U . . . ST dits’ (%, 3. R-2-2) ‘Je1 &4
T . . 3TH SRl T (F. 8. R-3-2%) SATEfR: |

e ‘A0 not FUMN3/1 by action 9 0 not 511 3/1 by progeny ¥« 3/1 by wealth @NH 3/1 by renunciation
T 1/3 some @ 2/1 immortality STE]: (3T AT Bhad AARN) 111/3 attain’ (d. 1. *¢) TR 1/3
outgoing @i+ 1/3 senses AU /1 destroyed. . . 3Tg=: 1/1 one with eye turned inward S#Hd<aH 2/1
immortality %3 1/1 desiring’ (%. 3. 3-2-2) ‘F&1 0 when &4 1/3 all 994 I11/3 fall off. . . 313 0 here &
2/1 brahman Hﬂﬂﬂ\ II1/1 attains’ (. 3. R-3-2%) 3?&11“3%1%“1 : 5H/3 due to these Shruti statements, etc.

e Due to these Shruti statements: “Some attain immortality by renunciation not by action, not by progeny,

not by wealth”, “The self-existent Lord (as-if) destroyed the extroverted senses organs, therefore (one)
doesn 't perceive the inner-self. Someone rare, whose eyes are turned away from outwardness, desiring
immortality, perceives the innermost self.”, “when all desires drop off, then he becomes immortal and

here itself, attains brahman”, etc.

N NN

T, AT AT R ST IR ed e Jacd™: I
e ¥ATO or, M /1 == 3/1 by this W 0 itself YU 6/1 of giving up of all desires faecaa
5H/1 due to establishment 3 5/1 - SR 5/1 from this world I 0 having departed =3T&H1d 5/1 -

TR 5/1 from this body 39 0 =7 0 having died gc%: 1/1 this is the meaning.
e Or, due to establishment of giving up of all desires, having departed from this body by this word
“having given up” itselt, “having died” is the meaning.

o Ifag=Afd indicates STk while SFHTGHIEIA indicates feggRe 11.21

. & giving up
. 3414 taking
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LN N .wlaﬁ:

HEH

@ 5/1 since Q. 6/1 of ear, etc 3 0 even A 1/1 ear, etc S 1/1 inner-essence 5@ 1/1
brahman, 31d: 0 therefore

Since brahman is the ear, etc, inner-essence, of even the ear, etc, therefore

T TS A ARt A A |
A ot A forTreire a¥degRrsand 1 2.3 0

90 does not @ 0 there F&: 1/1 eye T=3(d I1I/1 goes A 0 not a% 1/1 speech/ organ of speech 7=3fd I11/1
goes A not I indeed H: 1/1 mind 90 - fa=: 1/3 we do not know A 0 - fT=IA: 1/3 we do not know I 0
how Tdd 2/1 this brahman SR I1I/1 one would teach. Il 2.3 Il
T Te: 7 TN, AT 7 TN, 7 A TS| [T T FeH SHFRIEIG] [7] 7 7:, T [#a ST ] T[]
RIS, [d FER TF] 7 [@+14: |
There, the eye does not go, the speech does not go, not indeed the mind. We do not know [that brahman
is like this/ any method other than this negation to teach brahman/], nor do we know how [other
teacher] would teach this brahman.
The eye doesn't go to & because that it doesn’t have form and colour. What can be described has to
have one or more of the following;:
° S species/ class.

- TSI = SESTaHF 9e19: | There is no eS|
° T quality.

*  The locus has to be objectified for quality such as colour to be perceived.
R | activity.

» & has no o1, TR
o HHE

»  HA and A1 cannot have real &1 and so F& cannot be described using it.

q T ARTSIRIIUT <8 Tt TTcAT THAARTEN. |

40 does not @ 0 =aRHA[ 7/1 - F&M0T1 7/1 w.r.t. that brahman =g: 1/1 eye =B 111/1 goes, @ 7/1
into/w.r.t. one's own self THAERET 5H/1 due to going being impossible.
W.r.t. that brahman, the eye does not go, objectity, due to going being impossible w.r.t. one’s own self.

Also because i@ doesn’t have &9 for eye to objectify.
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CRIEEIE R Tl
e 410 similarly 90 not 9k 1/1 speech =B 111/1 goes.
e Similarly, the speech/ organ of speech doesn’t go [w.r.t. brahman].
T R 21 ISR SHREl Fe, dehrad uid aev s |
o I F3/1 by speech f& 0 213: 1/1 word IR 1/1 uttered IRTER 2/1 object Y= I11/1 reveals IaT 0
when, @@ 0 then ¥ 2/1 object 3 0 towards a1 1/1 Tr=sfd I11/1 i 0 394 111/1.
e When the uttered word by speech reveals the object, then it is said thus: “speech goes towards the
object”.
T T TG ATITHE = BT 7 |
e TE6/1 of that T 0 and T=E 6/1 of the word AfEdHE 6/1 of the organ which is the producer of that
word & 0 and U 6/1 of the organ 3cHT 1/1 inner-essence/ self si& 1/1 brahman.
e  Brahman is the inner-essence/ self of the word and organ, which is the producer of that word.
Il A AT |
e  3d: 0 therefore 91 0 does not 9% 1/1 speech =B 111/1 goes.
e  Therefore, speech does not go (speech does not denote brahman).
o UEEIWH FETEARAf: R FERR
o  9gEWH (knowledge of the words) gIETIRAR: (occurrence of the meaning of the word) TfHIE: (grasping
of the connection between word and its meaning).
o Jgeq: I IaH|
o TTEEE: = ATHASIE THARRATE, daa: |
FGTE: TRTRIH2A H+1 A I FHTTat qafd a1, T84 |
e I Ojustas e 1/1 fire §@%: 1/1 burner ¥&%RR&: 1/1 illuminator ¥ 0 and 1M 0 even though &1/1
being 9 0 does not f& 0 indeed =A™ 2/1 itself/ its self FRREAM I11/1 illumines g&fd I11/1 burns a1 0 or,
dad 0 like that.
e Just as the fire even though being burner and illuminator, indeed, does not illumine/ reveal or burn
itselt/ its inner-essence like that.
Al 79 A Ggead STAFETd | T AT AEeqdcdaaid o, Ty seieid |
e Hd0doesnot30indeed H4: 1/1 =H: 1/1 mind ¥ 0 and =& 6/1 of something else Wﬁﬁ N1/1
wisher/ thinker 37599@1q N1/1 decider ¥ 0 and &d.1/1 being 7 0 does not T 2/1 inner-essence
Hgeqd(d 111/1 thinks STeHE&id I11/1 decides ¥ 0 and, & 6/1 of that 314 0 even 5@ 1/1 brahman e 1/1
self 3fd 0 therefore.
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e Indeed the mind, being the thinker and decider of something else, cannot think or decide its inner-
essence, the brahman is even the inner-essence of that mind, therefore.
glesrgmena f2 aegal o |
o IfexTHARTT 3/2 through the organs and mind f& 0 because TEG: 6/1 of any thing s 1/1 knowledge.
e Because, the knowledge of any thing is through the organs and the mind.
e The mind also includes logic and other means of knowledge.
AT, A foran: dgay St |
o TE=RAT (q SR, ) 5H/1 due to brahman being outside the scope of those two 7 0 not fa=1: 1/3
we do not know "dd 1/1 - s’ 1/1 that brahman éﬁ"[(m@ T=ad 3%) 1/1 is of this kind” 3 0 thus.

e Due to brahman being outside the scope of those two, we do not know thus: “that brahman is of this

kind”.
Al A FAH: F1 99 THNUT Oad, T TR SUlR g S heanTa: |
o 37: 0 therefore 7 0 - FIHM: we do not know =31 0 how =3 3/1 - &N 3/1 by which method ¥dd 2/1

this =si& 2 /1 brahman MLIH/ 1 one would teach =39<2id 1/3 B 4/1 to the disciple g0 -
IIRTIRE: 1/1 this is the idea.

e Therefore, we do not know how, by which method, one would teach this brahman to the disciple; this is

the idea.

[N o oS D

A FONT:, TR ITGE T SAITERATERITON: | F dereanaia=euaga |
e Td1/1which®0 only FORTE 1/1/ FORTE accessible to sense organs, dd 1/1 that T 4 /1 to other
I94E 0 to be taught 21 1/1 possible SR UTRRATRRIST: 3/3 through class, quality, activity, relation (and
g/ &f¢, name/ convention) 9 0 not dd 1/1 that NI HEREER (Ad9) 1/1 that endowed with
specification such as class, etc & 1/1 brahman.
e Only that which is accessible to the sense organs, that is possible to be taught to another through class,
quality, activity and relation. That brahman is not that having specification such as class, etc.
e Halis also not possible since only what can be objectified can be named.
T R TR SR SER dgasien! = FeRahdeadt 2 |
o TEIA5/1 therefore fawH 2/1 difficult BT 2/3 disciples 3942 3/1 through teaching/ instruction
Qﬂﬂﬁ@&(ﬂ%+§ﬂlﬂ?ﬁ+fﬁﬁ+?f[) 0 to communicate/ teach Zfd 0 thus IF& 7VS/1 w.r.t. teaching Ha’ﬁﬂgﬁ
7VS/1 w.r.t. grasping the meaning of the teaching = 0 and TferERd=Adl F2/1 need for extraordinary

effort afcl'qﬁl III/1 shows.

e Therefore, it is difficult to teach disciples through instruction, thus shows the need for extraordinary
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effort w.r.t. the teaching and grasping the meaning of the teaching.
Especially, since the method used to communicate is STSHRY-2TGTE and it is possible to misunderstand
the superimpositions made themselves as the truth as is in the case of the causal status of brahman, etc!

qY: AT ST9EIEd Svd says Shvetashvataropanishad. 11.31l

3 et 9 fa FSqegRd’ (. 3. 2-3) 3 AAqHAICEMHRIATEAT T deqagisTg=ad |

A0 fo=n: 1/3 90 faT=is: 1/3 32 0 Tad 1/1 Rrsad 111/1 we do not know how to teach or how other
would teach’ (%. 3. 2-3) (1 0 thus @ 2ad /1 completely T 0 indeed ITGEEHRIARAM (6TP, 6TP) 7/1
-9 7/1 when negation of teaching methods is attained d@q9drg: (6TP) 1/1 its exception 319H 2/1 this

I=Ad 111/1 is said.
Indeed when the negation of teaching methods is attained thus “we do not know how to teach or how

other would teach”, this is said as its exception:

HAHE TETTE: SHTO OX: Sy 2R

g 1/1 true T 0 in this manner SI&RERT: 3/3 - T 3 /3 through the means of knowledge such as
direct perception, etc 90 not W 1/1 highest brahman Y@ 0 to communicate 2% 1/1 possible;
True, it is not possible to communicate the highest brahman, thus: through the means of knowledge

such as direct perception, efc.

AR g T T TR dgieaneSHETHAE —

ANTHA (AFT=STd I e 9id) 3/1 with the help of traditional teaching g 0 however T 111/1 is possible
@ 0 indeed u?qmﬁ@{o to teach gfd 0 thus H’g’qiiﬂ’ﬁ'l{ 2/1 for the purpose of teaching 3IWHH 2/1 Agama
31 I11/1 says—
However, it is indeed possible to teach with the help of traditional teaching, therefore, for the purpose of
teaching, Shruti tells Agama—
ed dlgladrean st |

3l o a9 I TR 0 2%
#d 1/1 other®™ 0 indeed dd 1/1 that ffedd 5/1 from known (F49 product) 8 0 likewise e 5/1
from unknown (FRUM_cause) 31 0 above/ beyond/ different” A 0 thus YA (l%@ 1/3 we have heard
‘{Eiﬁﬁ 6/3 of earlier teachers ¥ 1/3 those who : 6/3 for us dd.2/1 that brahman ZT=aER (l% faeqeyg+3n
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AT+ =8 +5E) 111/3 clearly and completely explained. Il 2.% I
o T ARG T TG el ARG Y []” ST [T AT [TFA] FYHI T 7: AT [FE] ATTAR
e “That is different from known/ effect and different from unknown,/ cause indeed” thus we have heard

[the teaching] of earlier teachers, who have explained that @&l completely and clearly to us.
HSH

Fd dleigargdl SfafgargHit |
e I 1/1 W0 indeed dd fafedrd sren stfefeard st 2 |
S G e T ST SRR H e oo |
e A 1/19d0=9¥% 1/1 different & 0 indeed @d 1/1 that =4d.1/1 which 9%d 1/1 subject-matter under

discussion W 6/3 of ear, etc < N'1/1 ear, etc” 3 0 in this manner 3WH 1/1 talked about STfs=:
1/1 not a object ¥ 0 and A9 6/3 for them.
e That which is the subject matter under discussion, talked about as “ear, etc of the ear, etc”, is indeed
different and not a object for them (ear, efc).
o fafeer wea & |
o @d1/1 that FfiGdrd 5/1 from known 2= 1/1 different W 0 = 2 0 indeed.
e Indeed, that is different from known (object/ product).
fafeet m afgfeframaforramm fafeframrrggm |
o fafed1/1 object M 0 means Id 1/1 which fafefraan F3/1 by the root “to know" ferErEE °3ad /1
specifically 3T 1/1 pervaded (by 3f) ﬁ%’liﬁqmﬁ‘ﬁﬂ 1/1 that in the form of object of the process of
knowing.
e That (object is) which is pervaded (by3rt) specifically by the process of knowing.
Tk RETEd Efd Ta9a A [Afand ; Feme-agdad: |
o &M 0 somewhere f&d 0 somewhat F&MA.0 for someone fafed 2/1 known ®1d I11/1 would be 1 0
therefore Hé'FLZ/ 1 entire W 0 indeed &M d 1/1 manifested world fafeaq 1/1 known @ 0 indeed; T8,
5/1 from that 3= 1/1 different W 0 indeed §4: 1/1 this is the meaning.

e The (object) would be known somewhat, for someone, somewhere, therefore the entire manifested

world is indeed known;, (brahman is) indeed different from that (known manifested product/ world),

this is the meaning.

16 By the process of knowing the object gets the status adl which is an additional effect called ffc@@| Such an object which

has got iTddl ITf@™, unknown made known, by the fafefsran, is called fafea) Fras=aweEm: 4 in grammar. That is, that

which is IF=ATE- and ®S=ATE-9E1 However, @ is not FeTiesa|
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ARG Tl Tl STl 3T —
o '"3fEfdad 1/1 =315d 1/1 unknown ar 0 then” gfd 0 thus T8 7SS /1 when obtained & I11/1 says—
e  When the possibility so”then, it is unknown” is obtained, Shruti says—
sl @it sfafeea Rfgafrtiaeepas s | Wit g ST ; sy s |
o R0 =3 0 this ST (R 3fd @1) 7/1 in the meaning “above”; SN F3/1 by context 3=d 1/1
different 3?193: 1/1 this is the meaning. & 0 moreover M 0 even fefedd 5/1 :ﬁﬁﬂﬁqﬁﬁ'{&S /1 from
that opposite to known =3=%dld 5/1 from unmanifest TSR0 5/1 from that in the form of Maya
E‘JW\T‘THS/ 1 from cause, the seed of manifested. "3 0” gfd 0 thus IAR 7/1 - a1 7/1 in the meaning of
above; F&UHET F3/1 by implied meaning 3+dd 1/1 different 3?1%%: 1/1 this is the meaning.
o S although is in the meaning “above, by context, “different” is the meaning. Moreover, even different
from unknown, opposite to known, unmanifest, in the form of Maya, seed of manitested. The word
“3714" is in the sense of “above”; by implied meaning, “different” is the meaning.
g TG IR Fa(d, TOHIGAIGI e, |
e  Id.0 which & 0 because T 1/ 1 from which 311 0 =39R 0 above Wafd I11/1 is, dd 1/1 that a&H.5/1
from that 3%=d 1/1 different &fd 0 this 5&e# 1/1 well-known.
e Because that which is above from whatever thing, that is different from that thing. This is well-known.
° Eﬂ'&‘TI'IEﬂTrITL explanation for 8%?11?3 for =Y is given here.
Afgfed daed Tl g:ETene: =i 899 |
e Td1/1 which f&fgd N1/1 known/ product a@d 1/1 that 3@ N1/1 finite/ small T N'1/1 mortal §:@TcHe
(116BV) N1/1 of the nature of sorrow ¥ 0 and fd 0 therefore &9 (3T&T % @F1+dd) 1/1 to be given up.
e  That which is known/ product, that is limited, mortal and sorrowful, therefore it is to be given up.
TG TG agaicdth AadcaHth & |
o "dHA5/1 - [fEard 5/1 from that known 4d 1/1 different si& 1/1 brahman” 3fd 0 - 3% 7SS/1 when this
is said g 0 however TEH 1/1 status of being that not (which cannot) to be given up 3 1/1 said &
III/1 amount to saying.
o However, when it is said thus “brahman is different from that known (to be given up)”, it would
amount to saying “status of being that (which can-) not to be given up” (for brahman)).
N ATk STATGH T & |
e 10 similarly SMAfEArd 5/1 from unknown ¥ 0 different 33 75S/1 when this is said SdEH&H,
(3T9+39+3M+G1+Fd+A) 1/1 status of to be taken up Itk 1/1 said & 111/1 amount to saying.

e  Similarly, when it is said “different from unknown”, it would amount to saying “status of that which

Download from www.arshaavinash.in Page 35


http://www.arshaavinash.in/

NN

FeATeTETEH,

cannot be taken up”.
FAE & FROHEERTIE A |

e T 1/1 for the purpose of the product & 0 because FWUM 1/1 cause 3=4d 1/1 different 34 3/1 by
other IIEA I11/1 taken up/ obtained.

e  Because that different (material) cause is taken up by other (intelligent cause) for the purpose of the
product.

o FMHTHRUA IUEEd Sfd STEH since it is taken up for the product (by the efficient/ intelligent cause), it is
material cause.

e A A FASERIgIed yafd

e  3d: 0 therefore (since brahman is the cause different from the product) @0 and 90 does not afeg 6/1 for
the knower =& 4/1 - J9EHE 4 /1 for some/other purpose 31=qd 1/1 different 3914 1/1 to be taken up
Wafd 111/1 becomes.

o Therefore, brahman does not become something different (from the knower) to be taken up for other
purpose for the knower.

e Fafgaafeamamaff Sareamfaen SIes A=, st e e fafdar / fFafde &)

e I 0 -0 in this manner [famafearam™ 5/2 from known and unknown 34d 1/1 different ¥fd 0 thus
FAMIGEIIdYe 3 /1 by the negation of to be given up and to be taken up®Te=: 5/1 from oneself ST,
5H/1 due to being different &f4w1 F1/1 - &1 F1/1 desire of knowing brahman &% 6/1 for the
disciple feafaan F1 /1/ feyafaan status of being removed/ accomplished ®&Md III/1 would be.

e In this manner, by the negation of to be given up and taken up thus “different from known and
unknown”, due to being different from oneself, the desire of knowing brahman (as an object) would go

away/ desire of knowing brahman would be accomplished for the disciple.

A I oA T anaae aege: TRTEdicTcHT Saicy arwe:
e d0notf&0indeed 3 6/1 of another WIHA: 5/1 from oneself [AEAEEan=™ 5/2 from known and

unknown = 1/1 status of being different T&gA: 6/1 for anything &= I11/1 is possible g 0
therefore ST 1/1 self & 1/1 brahman 3fd 0 thus T9:1/1 this T 1 /1 meaning of the sentence;
o The status of being different from oneself is not possible for anything, that is different from known and

unknown. Therefore, the self is brahman. Thus, this is the meaning of the sentence.

“STIATEHT F&T (. 3. 8-3-4) “T AHTEATNHT (T 3. ¢-9-2) “AAENEIILTEE T AT Tl (3. 3. 3-8-2) IANYATOIAT
|

e ‘STUH1/1 this AT 1/1 self i@ 1/1 brahman’ (3. 3. ¥-¥-1) ‘d: 1/1 one which STcHT 1/1 self M9ad9r1 1 /1
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free from unfavourable result’ (. 3. ¢-9-2) ‘d 1/1 that which & 0 direct/ by itself ST9&E 5/1=1/1

all’ (3. 3. 3-%-2) TAMGYARA: 5H/2 due to Shruti statements like these, etc, ¥ 0 and 3 0.
e Due to the Shruti statements like these: “Br. Up. 4.4.5: This self is brahman”, “Ch. Up. 8.7.1: self which is

free from%4”, “Br. Up. That which is direct and immediate, self-evident, is brahman, that which is the
Inner-self of all”, etc.
T Gl TR e PNl SRl IeHed R TRl STHEHTE — 3fd YA |

e TH0 in this manner TEcH: 6/1 of self of all ARSI 6/1 for that bereft of all specific attributes
fa=ErEIfas: 6/1 for the light of consciousness TEEIa9eR e 6/1 of the revealer of status of brahman
?ﬂ?ﬂT?iF%/ 1 of the message of the sentence 3@@?@@@ (6TP, 6TP) F3/1 through the tradition of
teaching from teachers H6cH 2 /1 attainment 311€ III/1 says — gl 0 so 3H 1/3 we have heard g 0
this, etc.

e In this manner, revealer of status of brahman for light of consciousness, self of all, bereft of all specitic
attributes, of the message of the sentence is attained is through the tradition of teaching from teachers,

50 says— “we have heard”, this, etc.

TR AR Tried 7 e SaamaTag gaaurasieael, 31 T o aawdl a9 THuT, ST 3w ;
e ®&2/1brahman ® 0 and T@H 0 in this manner Wﬁhﬁﬂw F3/1 through the tradition of teaching
from teachers @ 0 only @Rt 1/1 to be understood 7 0 not Thd: 03 through logic
TR TEEAqUEReE: 5/3 from discourses, memory, listening to many other shastras, austerity,
rituals, etc T 0 and, 3/d 0 thus W 0 in this manner YA 1/3 =Yda=: 1/3 94 1/3 we ﬁm6/3 - ST
6/3 of earlier teachers 99H 1/1 statement;
e And in this manner, brahman is to be understood through the tradition of teaching from the teachers,
we heard statement of earlier teachers (what is going to be said next);
3 ST A ST T e ST AT (s Hfda: qued: |
e 31/3 those who =¥HM: 1/3 teachers d: =3Fa 4/3 to us dd.2/1 that 5& 2/1 brahman AERR 1/3
=FARATdE: 1/3 =faeq® 2ad /1 clearly Fiyqawd: 1/3 they told T 6/3 (we heard) their (statement) T
1/1 this is the meaning.
o Those teachers clearly taught that brahman to us; their (statements we have heard), this is the meaning.

ni.4n
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‘ITACd digfedre el (. 3. 2-%) S arRiA T ST Tfaiad SIqUrRTET Sdl — e e =7 |

o ‘IHE dlgfediedll e that is different from known and unknown’ (&. 3. 2-%) 3 0 thus <4 3/1 -

A 3/1 through this statement "3TcH1 1/1 self /& 1/1 is brahman” gfd 0 thus Tfadiied 7SS/1 when
presented %ﬁ@ 6/1 of listener 3T=2TgI F1/1 doubt SN F1/1 is born — "®% 0 how 90 3T 1/1 self s& 1/1
brahman?

e Through this statement “that brahman is different from known and unknown”, when “the self is
brahman” is presented, a doubt of listener is born— “how is this self brahman?”

AT & AT : FHUGIEA = SR A 91 @A Seliddarean a1 STgirsid |

o I 1/1 self & 0 because M 0 well-known #ferd: 1/1 qualified FHM0T7/1 in action SYEH 7/1 in
meditation ¥ 0 and HEN (H'F[+H+‘Tl'gl ==]) 1/1 one having bondage w42 /1 action 391 2 /1 meditation a1
0 or &M4H 2 /1 means 38 0 having practiced FENfeaa 2 /1 deities such as Brahma, etc @ 2/1 heaven
a1 0 or 91GH 0 to attain g=3id I11/1 desires.

e Because the self is well-known to be bound, qualified in action and meditation, [who/ having practiced
the means in the form of action or meditation, desires to attain deities such as Brahma,/ Hiranyagarbha,
etc or heaven.

I SYREET FeruisaR geg: ST o1 el WGHEN, 7 WIcHT ; ST eTd |

o @0 therefore @A 5/1 from that &14: 1/1 different 39&: 1/1 one to be meditated upon fa: 1/1
Vishnu 351 1/1 Shiva §<=: 1/1 Indra ¥01: 1/1 Hiranyagarbha 910 or & 2/1 brahman ‘41%@{0 to become
31%% III/1 can/ is worthy, 9 0 not g 0 but AT 1/1 self; SEIFFEUEd 5H /1 due to contradiction to
popular belief/ thinking.

o  Therefore, different from that (meditator), one to be meditated upon, Vishnu, Shiva, Indra or

Hiranyagarbha can be worthy to become brahman, but not the self, due to contradiction to popular

thinking.

T ATk SHNIG ATHATIE, T HHUNSY T FHca=41 T 9 ST |
e  IAT(justas 3194 1/3 other e 1 /3 logicians EE’ETIFLS /1 from Ishvara 37=4: 1/1 different AT 1/1 self
30 0 thus =& I11/3 they say, @1 0 similarly FAUT: 1/3 those involved in actions "5 2/1 that & I1/1

may you worship 2% 2/1 that @ II/1 may you worship” g 0 thus "#T: F2/3 other W 0 indeed gad:
F2/3 deities ST I11/3 worship”.
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Just as logicians say thus “the self is different from Ishvara”, similarly ritualists worship dieties other

deities thus “may you worship that, worship that”.

T eI dgal Wad, Jais JUE i |

qEHA 5/ 1 therefore gk 1/1 (seems) reasonable dd. 1/1 which fafead. 1/1 known S9E 1/1 worshipped/
meditated upon @d 1/1 that 3@ 1/1 brahman ¥ad I11/1 let it be, @a: 05 from that "$=4: 1/1 different
SqE®: 1/1 meditator” 3fd 0 thus.

Therefore, it seems reasonable: let that which is known, worshipped be brahman, thus meditator is

different from that.

AHATHTRTE] Rrafag-Iuced JeTFTe] 18 — Ad a0gel: |

A F2/1 that TR F2/1 this $=1g1 F2/1 doubt Ri&5%« 3/1 by the indicative gesture of the disciple
I9A5&A 0 having discerned d&™Td 5/1 from that sentence a1 0 or 3@ I1I/1 says — "HI 0 do not Td 0 in this
manner FETT: (AT FE, 7 AN 11/1 doubt”.

Having discerned this doubt by the indicative gestures or from that sentence of the disciple, says— “Do

not doubt in this manner”.

TG 49 AN |

dqd =@ o fafg o Afegqamed 1 2.x
Fd 1/1 which self a1 F3/1 by speech g 1/1 not described / revealed ¥ 3/1 by which a& F1/1
speech 31'413?1'3[ I11/1 is revealed/ functional. ad 71 /1 that self @ 0 itself/ indeed & 2/1 brahman & 1/1
you &g I1/1 may you know = 0 not "8 1/1"/ & 2/1 this objectified thing @d 2/1 which FgH.2/1 this
IEd 111/3 meditate/ worship. II 2.4 |l
T I FTGIed, 94 qTF Yad, & dq 7 A [A1g! I '57" FId SR IET , A IGH T 7 HAld |
Which self is not revealed by organ of speech and speech, by which speech is revealed/ functional, may
you indeed know that brahman, not this objectified thing, which they (meditators) worship [as] “this”.
Words are heard due to TcHdH, the cognition of the words is also due to the presence of the self.
This is also a ﬂ@ﬂ'ﬁiﬁﬂﬁﬂl

17 & qarel: |
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T AAHEEE,
e Td1/1 which =Sd=HEEH®H (MVKD=4d94 19, 116BV="id=a91s @< 94 dd) 1/1 that which is of the

nature of consciousness and existence,
e That which is of the nature of consciousness and existence,
T — AT PR SEY Ery AT Ui F0H,
e dMIF3/1by speech— "aT& 1/1 speech” g 0 this word R&EFSIEY 7/3 in root of the tongue, etc 38 1£7/3
- RTI':E 7/3 in eight places ﬁm(ﬁﬁﬁm H®H) 1/1 associated P o (\?aT'I'}J 31 T O dd. )1/1 that
which has Lord Fire as the presiding deity U 6,/3 of letters S 1°1/1 manifestor FXUM 1/1
organ,
by speech— this word “speech” is the manifestor organ of letter, for which the presiding deity is Fire,
associated in eight places such as root of the tongue, efc,
TN AR e e A 3
e U 1/3 letters 9 0 and EFHHAIRFBH: (6TP, 3TP) 1/3 those which are determined by the designation/
convention of the meaning ¥dlaw: 1/3 these many W 0 in this manner FAYIH: 1/3 used in a particular
order/ sequence & 0 thus;
And as many letters used in a particular sequence which are determined by the convention of the
meaning thus;
T e 7 94 AT
e T in this manner d&RTE]: 1/1 manifested through that organ of speech 2sd: 1/1 word 9 1/1 word
% 1/1 speech i 0 thus 3=4d I11/1 is called;

e In this manner, the word is manifested through that organ of speech, thus word is called “dI% speech”;

S D <

SRR 3 Tl TR TRl C T T ) AR et (¥, 3, R-3-8) 3l 2 |
o ‘I °1/1 Omkara 3 0 indeed &4l F1/1 entire aT% F1/1 speech & F1/1 that 8T F1/1 this & 6/1 of
this/ that has TR e 3IB/ad/3 as various letters/ through mutes, semi-vowels, and sibilants/

aspirates (and vowels) &AMl F1/1 being manifested @& F1/1 many AR F1/1 varied ¥afd I11/1

18 I chest, #5, RR palate, SRS, G, ARTH, 31, 1S
19 A= AAATd, (ATTETREI )

20 SRR TAIST aTF |
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becomes’ (T, 3. R-3-8) T(d 0 - 3d: 5H/1 due to this Shruti statement.

e Due to this Shruti statement: “Ai. Aa. 2.3.6: Omkara is the entire speech. That is this being manifested as

many and varied letters”.
firaafird TR Gcad TN fRR FeT: 9 9T deca IRSEET FORIEE — g STURIRIaERR |

o ®aH1/1 measured Rik mantra/ structured shloka ®fHd 1/1 Yajur mantra/ prose &% 1/1 Sama
mantra/ musical composition &R N1/2 truth and lies T: 1/1 this f9®R: 1/1 modification &t F6/1
which has @41 F3/1 - a1 F3/1 by that speech Yacdd 3ad /1 - IRFss=™ F3/1 by that which is conditioned
as the word FURIIEAT (FLORIW AR SFET:) F3/1 by word which has organ of speech as its support—

m 1/1 =3T9=IR1GH 1/1 not revealed =313W(31?L+3T51+ﬁ+?5) 1/1 not described.

e [tisnot uttered/ described, revealed by speech, which is conditioned as the word, which has organ of
speech as its support, which has this modification in the form of Rik and metric, Yajus and prose, Sama
and musical composition, truth and lies.

9 SR ferfefcis S T a1 SR A= Sehrad S geiad. |

e IAN3/1-T&UNN3/1 by which brahman faafrd 7/1 - a1 7/1 w.r.t. intended meaning &M F3/1 by that
along with its organ @& F1/1 speech $hg&Id 111/1 is uttered Ja=a=atiad®l N3/1 by light of consciousness
YeREad 111/1 is revealed 9’3@?‘[ II1/1 is used §3dd.1/1 this is the idea.

e By which light of consciousness, by which brahman, the speech along with its organ is uttered, revealed

w.r.t. its intended meaning; this is the meaning.

Iqarl & 9 (%, 3. ¢-R) TIH, ‘g (T, 8. 2-¥-9) ‘Il IaH AL (. 3. 3-9-20) IANSE 4 AT |

e A 1/1 which self “am=: 6/1 & 0 aT& 1/1 speech of the speech’ (%. 3. ¢-?) Ffd 0 this IFH.1/1 said, ‘@@ 1/1

while speaking 9% 1/1 speech’ (4. 3. 2-%-9) ‘J: 1/1 one who a=H 2/1 speech = 1/1 remaining inside
THA 111/1 directs’ (3. 3. 3--20) IS 1/1 these mantras, etc T 0 and AT (T ST Al g I )
7/1in Vajasaneya/ Brihad.

o Which self was said as “speech of the speech”, and as these: “Br. Up. 1.4.7: while speaking, [He] is the
speech”, “Br. Up. Antaryami Brahmana 3.7.10: one who directs/ controls the speech remaining inside”,
etc, in Vajasaneya.

1 AT, TeUY A Y SfSdr R 4 AT’ S T Tidaa-Hwd, | aead @9 Wed’ (?) 3 |

e ‘TF1/1 which 9% F1/1 speech ‘1‘6@‘;{, 7/3 in living beings @1 F1/1 that ‘EI\TEQ 7/3 in letters SfafSdr F1/1
located / manifesting Ff#d 0 any ¥ F2/1 that speech 9 I11/1 know S&: 1/1 Brahmana’ g 0 92/.2/1
question I&™ 0 having raised Ffc@==¥.1/1 answer S®H.1/1 is told ‘81 F1/1 thatd™ F1/1 speech T
F3/1 by which @H 7/1 in dream ¥9d I11/1 speaks’ (?) gfd 0 thus.

Download from www.arshaavinash.in Page 41


http://www.arshaavinash.in/

NN

ET(EICErA =t
e Having raised the question: “does any Brahmana know that speech which is manifesting in letters in
living beings?”, answer is told so: “that speech is by which one speaks in dream”.

VoI Y LSRN o S N LY oY

WEWWWW ‘A & TpahiaIRSN o’ (3383\?5)%9&[ |

e @ F1/1 that ® 0 indeed T%: 6/1 of the speaker ars 1/1 power of speaking {91 F1/1 eternal a1 F1/1
speech A& F1/1 in the form of light of consciousness, ‘A 0 not & 0 indeed @: 6/1 of the

speaker @h: 6/1 of the power of speaking fIR@: 1/1 cessation &R I11/1 is there’ (3. 3. 8-2-3&) I 0

this %ﬁl : 5H/1 due to Shruti statement.
e  That indeed is the power of speaking of the speaker, eternal speech in the form of light of consciousness
due to the Shruti statement “Br. Up. 4.3.26: there is no destruction of the power of speech of the

speaker”.

T NMcAETEd Fat feRforrd AT TeaTgaitd fahg st <. |

e '"dd1/1 that 99 0 alone ATHEEY (116BV) 1/1 that of the nature of the self 5& 1/1 brahman ferforrd
(115BV) 1/1 there is nothing exceeding which ¥ (@&l W&, 116BV) 1/1 called Bhuma/ limitless
Qﬁ'ﬂ(ﬁ'&:ﬁﬂﬁl) 5H/1 due to being limitlessly big =& 221/1 brahman” 3fd 0 thus fafg 11/1 === 11/1
may you know @H 1/1 you.

e May you know thus: “that alone which is of the nature of the self is brahman, due to being big,
exceeding which there is nothing, called Bhuma/ limitless”.

e From the derivation, brahman is understood to be not limited by space. From that, it is known that it is

not limited in time or limited by object.

SRTEIRIRT: ‘AT & I ‘e ee]: /S S eEl 7 (%, 3. 2-R) ‘il Hieh Sl e SRmiiar e s (g,

e el s s S N ol s

3. 3-2-9) THIAEY: HHTEN SEHEE (wlaRI T A FaIfUl Seded, dwogaed ITcHTAHE iRy st fereifel Tereare: |
e @:3/3 by which aWTEIEIR: *M3H /3 because of the adjuncts such as speech, etc ‘@: 6/1 of the speech
g 0indeed a1k 1/1 speech’ ‘9gH: 6/1 of the eye J&: 1/1 eye’ ‘S 6/1 of the ear 85 1/1 ear H98: 6/1 of

21 Ch. Up. 7* chapter.

el

22 Growing, capable of appearing as the world, and making others grow if seen as with =¥ IHdM

23 Panchadashi says =& a1 GRERI a1 FRadt STTET | TSR | AR A Jgaed. 1l .28
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the mind #9: 1/1 mind’ (. 3. ¢-) ‘&l 241 /1 doer WA 1/1 experiencer fa=gmar 1/1 knower f@=ar 1/1

controller S=RAT 1/1 ruler’ ‘[ 1/1 consciousness ¥ 1/1 happiness & 1/1 brahman’ (3. 3. 3-3-9)

TAEHIEE: (116BV) 1/3 in this manner/ of this type, etc H@8RI: 1/3 transactions JHeaEH
(NBV=8=a&R: q faa &) 7/1 in that not available for verbal transactions/ non-transactional fofaz 7 /1
in that without attributes W 7/1 in absolute @ 7/1 in invariable/ uniform &1 7/1 in brahman T
I11/3 occur, @ 2/3 those adjuncts F&Ed (f+3g+3+@d) 0 having excluded/ dismissed cognitively as
mithyA SATHEH 2/1 self ¥ 0 alone fafaar 2/1 attributeless & 2/1 brahman & 11/1 may you know Zfd0
thus EE’iqu‘T?iz 1/1 meaning of the word "alone".

o  The meaning of the word "% alone” is thus: all fransactions occur in this manner: “indeed speech of the
speech, eye of the eye, mind of the mind, efc, doer, experiencer, knower, controller, ruler, brahman is
consciousness, happiness”, etc, in non-transactional, invariable, absolute, attributeless brahman, due to
adjuncts such as speech, etc. Having excluded those adjuncts, may you know the attributeless self alone
as (attributeless) brahman.

¢ & AfdgH TR RTERAIHsaNE IUHd e |

e d0notZ2/1 this =& 2/1 brahman Id 2/1 which "Z89 1/1 this” d 0 as Wﬁﬁaﬁm(éTR 3TP)2/1
endowed with the differences of adjuncts SHTHAE 2 /1 non-self, Ishvara, etc I9MEd 111 /3 =A™t I11/3
meditate.

e Not this non-selt, Ishvara, efc, endowed with the differences of adjuncts, brahman, which the meditators

meditate upon as “this”.

dda o8 o o 2egehsi 2 581 SIS SaT GrieAdl eiaTee STt aREeaTeTd & )

e Td2/1 that ¥ 0 alone & 2/1 brahman & 1/1 you &g I1/1 may you know fd 0 thus 3% 75S/1 when
said 31 0 even "9 0 not 3 1/1 this & 1/1 brahman” fd 0 thus 3H: 6/1 of non-self T5&Td 1/1 status
of being non-brahman 9A: 0 again 3=4d I11/1 is said f 9™ 1/1 for the purpose of restriction
FAAGGIREEETE 1/1 for the purpose of exclusion of brahmabuddhiin non-self a1 0 or.

o Purvamimamsakas talk of three faftls / instructions:

°  Id-/ TEE-/ aif@-ﬁf‘\il that which reveals a new thing not known through any other means.

- f@Afaf applicable.

24 Br. Su. Says *.3.33 Fdl ARHE
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* more than one option is available
* only one can be done at a particular time
» the shastras restrict the option by this fmfaf|
* doesn’t apply to those who already follow the same.
- A% o fafg = e o A fafg)
- o faf
* Emphasis is not on implementation but on negation of something.
* Suppose there is an instruction “eat only fruits on Ekadashi”, it doesn’t mean you have to eat
fruits, but it means an instruction to avoid eating anything except fruits.
- IR fREEEE 11151
TR A H Il e |
dqd @ o fafg =8 A ad I 2.6
e Td2/1 which A9 N3ka/1 with the help of the mind 7 0 not #gd I11/1 objectify & 3/1 due to which 3T
II1/3 they say #: 2/1 mind #dH 2/1 thought/ illumined/ objectified dd 2/1 that T3 0 alone & 2/1
brahman @ 1/1 you faf& I1/1 may you know 70 not ¢ 2/1 this @ 2/1 which $§A.2/1 this IrEd I11/3
meditate. Il 2.& Il
o 3% I H 7 AFA, " 7 A7 [$d T3] oME:, & T T 7 [A8, Td IAH: ITE, A 53 7 7 A |
e  That which one does not objectify with the mind, that due to which they say the mind is objectified, may
you know that alone as brahman, not this which the meditators meditate as “this”.
=
Je G 9 A |
e dd2/1 which consciousness #&I 3ka /1 with the mind 70 - #d I11/3 do not objectify.
e People do not objectify which consciousness with the mind.
A T T JrgHAGNERS T |
e T:1/1 mind A 0 the word =37 :Ui 1/1 inner-instrument m: 6/2 of the mind and intellect T
3ad/1 oneess ‘1'@?\{ III/1 is grasped/ considered.
o  The word mind means inner-instrument [here], both mind and intellect are considered as one.
HIASTAT A: HEF TR, S SEegHaTd, |
° H’-f[ I11/1 thinks 3 3/1 with this 3fd 0 therefore #: 1/1 mindHﬁWTHI‘JRUTFL 1/1 common to all organs,
HAfSEEATFE 5H /1 since the mind is covers/ encompasses all objects.

e This, by which they think, is the mind, which is common to all sense organs, since the mind covers all
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objects.

e All sense organs function only the mind is backing them.

N N N

T Tge fafafhe s JRgfaa i i Reddead 79 T (3. 3. 2-4-3) 3fd Yd: FHIEgRE-: |

e ‘&M: 1/1 desire @g9: 1/1 volition faRfeeal F1/1 doubt %€l F1/1 trust (in the means of knowledge)
12f@l F1/1 untrust 9fd: F1/1 perseverance #9fd: F1/1 impatience &: F1/1 modesty ¥: F1/1

understanding ¥: F1/1 fear i1 0 thus 9ad 1/1 this @& 1/1 all #9: 1/1 mind W4 0 alone’ (3. 3. 8-4-3) 3 0 -

%ﬁl : 5H/1 due to this Shruti statement Wﬁ@%ﬂﬁNl/ 1 endowed with thought such as desire, etc #:
N1/1 mind.

e  The mind is that which is endowed with thought such as desire, etc, due to the Shruti statement “Br. Up.
1.5.3: all these are mind alone— desire, volition, trust, untrust, perseverance, impatience, modesty,
understanding, fear”.

A A1 T IR ERTE: 9 Fed A Sgedatd At A Si:, Aadisaesmad faegad |

e dd3 /1 -¥\<"13/1 by that inner-instrument Id 2/1 which gl (KD) 1/1 light in the form of
consciousness #q: 6/1 of the inner-instrument @™ 1/1 illuminator 90 - Eﬁl IMI/1 =40 - 9ge9did
I11/1 one doesn't conceive A 0 - 24 = not even I I11/1 determines &: 1/1 person/ world of
people, AFE: 6/1 of the mind aEHEH 3H /1 due to being the illuminator @@ 5H /1 due to being
the director (for consciousness).

e  With that mind, the world of people does not conceive, does not even determine, which light in the form
of consciousness, illuminator of the mind, due to the self being the illuminator, director.

TS ST St TH( A TS FHH |
o TaRNE2 /1 all objects 9fd 0 towards I 1/1 (the self is) innermost ¥ 0 only Zfd 0 therefore @ 7/1
w.r.t. the self 7 0 does not 5&dd 111 /1 function 31=:%UM 1/1 inner-instrument.
e The self is the innermost towards all objects, therefore, the inner-instrument does not function w.r.t. the
self.
T & eI TTaTed HeTel Frieameas ;
o  3:¥F 3/1 by that dwelling inside f& 0 because St 3/1 by the light of consciousness STETRITE
6/1 of the illumined AF8: 6/1 of the mind AF=ETHEH 1/1 capacity of thinking;
e Because the capacity of thinking of the illumined mind is by the light of consciousness, dwelling inside.
¥ HgFee B I SR A [l AT 1g: Fudied Taifee;: |
e d3/1by that §gf® (SBV) 1/1 along with thoughts #: 1/1 mind 39 3/1 by which &0 3/1 by
brahman #d 1/1 =l%l‘5|€ﬂ%' 1/1 objectified =184 1/1 pervaded 3TE: 111/3 =Fi~d 111/3 they talk about
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FEfge: 1/3 knowers of brahman.
e “By which brahman the mind along with its thoughts is objectified, pervaded”, say the knowers of
brahman.
TEAT 4 HE ATHTH Fedahaiaan et fafg |
e WA 5/1 therefore @ 2/1 that W 0 alone H7E: 6/1 of the mind 31T 2/1 self %% 2/1 inner-most
=dRaR 2/1 illuminator & 2/1 brahman fafg 11/1 may you know.
e May you know that self, the inner-most illuminator of the mind alone as brahman.
et e
o M 1/1 "not this", etc ‘1\53?[0 as before.
e Not this, etc, is to be understood as before. I11.6 1l
TN A TR A e T |
ded o&l o g, g AfegHIEd 1l 2.9 |
e Td2/1 which Jgq1 3ka/1 with the eye 9 0 - 9&41d I11/1 does not see ¥4 3H/1 due to which &% 2/3
perceptions of the eyes 93aid [11/1 sees. dd 2/1 that W 0 alone 5& 2/1 brahman & 1/1 you fafs 11/1 may
you know 9 0 not 32 2/1 that 4 2/1 which 389 2/1 this IqEd II1/3 meditate. | 2.9 1l
o IIF: I (Fa) FGT T TGS, 97 TET T2, & 7 T T 118, I 9 TG, I 33 T 7 Wl
e One does not see which with the eye, due to which one sees the perceptions of the eyes, may you know

that alone as brahman, not this which the meditators meditate as “this”.

HSH
T T A T A AR ST TG g S,
e Id2/1 that consciousness which J&81 3/1 with the eye 90 does not 9240 111/1 see =4 0 does not
Tttt 111/ 1 objectify 3=l FNUGraEgeR 3/1 with that endowed with the vrit#i of the inner-instrument
&®: 1/1 person,

e  That consciousness which a person does not see, objectify, with the eye, endowed with the thought of

the inner-instrument,
I T S TG TR TR TRl SeaTerreater fer Rl S |

e ¥ 3H/1 due to which J&f 2/3 perceptions of the eyes =3a:F UG 2/3 differentiated with
variety of thoughts of inner-instrument/ endowed with particular modes of inner-instrument T

F2/3 the functions of the eye‘iﬁﬁﬂ%l III/1 sees/ experiences AT (KD, KD) light of the self which
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is consciousness N3 /1 fas&ii#itd I11/1 objectifies == I11/1 encompasses.

e due to which light of the self which is consciousness one sees, objectifies, encompasses, the functions of
the eye, endowed with particular modes of inner-instrument.

AT
o IS ‘ﬁaﬂ”that alone”, etc is as earlier. 11.71
T TS0 207 F HAHS 2 |
dqd = o fafg «d AfegHaEd 1 2.e

e T 2/1 that which %= 3ka/1 with ear 71 0 does not i I11/1 hear 31 3H/1 due to which %= 2/1 ear
g4 2/1 this a1 2/1 heard. dd 2/1 that T 0 alone & 2/1 brahman & 1/1 you fafs11/1 may you know €0
not &4 2/1 this 9d.2/1 which $28.2/1 this I I11/3 meditate. Il 2.¢ I

o 3% TG (Fa) HFT T T, 97 57 A YT, & T T T [TE, I FIHT: FUE, T 33 7 7 LA

e  One does not hear which with the ear, due to which one hears the ears, may you know that alone as

brahman, not this which the meditators meditate as “this”.

H=H
T ST =1 TUTI fevaaanrafyae SRR Hq\lﬂﬂlﬂﬂ'ﬂiﬁ\ A 7 e S,

e Id2/1 that which %31 3/1 with the ear @ 0 does not SIUlifd I11/1 hear =fevagar®d« 3/1 with that
presided by the Lord of directions =STRIEHT 3/1 that which is the product of space =g 3/1
endowed with/ backed by the attention of the mind =A0 - FI¥&i®{td I11/1 does not objectify @®: 1/1
person,

e That consciousness which a person does not hear, does not objectify, with the ear, product of space,

presided by the Lord of directions,

'\a:{ = ga. %a._ o e N bl N o ﬂ l
e F[3/1 due to which 25 2 /1 ear g€ 2/1 this 2Id 2/1 heard F&1% 2/1 which is well-known
Ja=aTcAifas N3 /1 by the light of the self, which is consciousness I%lﬂ?{ﬂWZ /1 objectified.

e Due to which light of the self, which is consciousness, this well-known ear is objectified.
dgacate gaed |l
o dadE ‘?E:lil?[that alone, etc is as before. 11.81

TSI A TTOTT 3 ST0T: U |
dad el o fafg g Ffegqarad Il 2 R |l
e Id2/1 that which W9H 3ka/1 with vital breath/ olfactory organ €0 does not Tt (§l+317{+l%|1{) /1
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HEH

breathe/ smell/ objectify ¥ 3H/1 due to which T 1/1 olfactory organ Joidd I11/1 is directed. dd.2/1

that @@ 0 alone &1 2/1 brahman & 1/1 you farg11/1 may you know 90 not g2 2/1 that 9d2/1 which |
2/1 this SR I11/3 meditate. Il 2.8 1l

&I TG (IdwF) T 7 T, 9 F197: FIF5, & Aq W 7 (318, I TIEFH!: IIEG, I 3 7 7 Hald|
One does not smell which with the olfactory organ, due to which one smells the objects of the olfactory

organ, may you know that alone as brahman, not this which the meditators meditate as “this”.

_qa\ ~ ~ qﬂ% o oo . [N . oS W (oSl aN o ﬂ xr\,

Td 2/1 which consciousness JUF 3 /1 =H0H 3/1 with the organ of smell/ olfactory organ —qTEA 3 /1
with that born of earth element =TRHIgETERAdA (6TP, 6TP, 7TP) 3/1 with that situated in the cavities
of the nose =:FOMUERRT ([6TP], D, [6TP]) 3/2 - afead 3/1 along with function of inner-instrument
and function of vital breath/ inhalation Id 2/1 which 70 does not ST I11/1 smell =7=Iad 0 like smell
does 7 0 does not fasdd I11/1 objectify,

[A person] does not smell, objectity, which consciousness with the olfactory organ, situated in the

cavities of the nose, along with the function of the inner-instrument and function of vital breath, like

smell.

_‘aq\\ e aN e o .q_]%w: ﬂ\

a_?l 3/1 due to which = THSINTeST N3/1 due to light of the self which is consciousness CER IS
3ad/IB/1 being illumined @iw™ 2/1 its own object gfd 0 towards JM01: 1/1 olfactory organ ol 111 /1 is
led/ directed

Due to which Ilight of the self which is consciousness, being illumined, the olfactory organ is led towards

its own object.

JedcaTe T4 qHE

qedate ad QHEH that alone, etc is all the same as before. 11.911

Summary of Chapter 1:

Has 4 @U8s from Talavara branch of Samaveda.

1.1

o [t starts with a question by the well-educated student, who has finished study and practice of his

branch.

> He asks “directed by which and by the mere presence of which, all organs and the mind function”?
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©  The world is AFETEHIHE TG, name being covered by dI%, form by 3, activity by H19 with H7
backing them all.
o 12
> The answer is that there is one consciousness that does so
> [tis not another organ
° It makes all organs function by being their very essence
° [t makes all insentient organs and mind, sentient
> Therefore, it is itself sentient. consciousness.
o 1314
°  This consciousness is not available for objectification.
o The teacher says that: we do not know how it can be taught as “this”.
> How it can be taught by anyone else any differently is also not known, says he.
°  [tis different from known, product and different from unknown, unmanifest cause.
o Itis not product which is 37, 3:@IHFT, 897, to be given up. It is not IUGIH, something to be taken
up.
°  Since there is only one thing which cannot be given up or taken up, it is the self, to be understood as
brahman.
°  This teaching is heard as is from the traditional teachers.
o 1519
> That which is not objectified by eye, ear, mind, olfactory organ, etc, but due to which all of these
organs and mind function, may you know that alone as brahman.
> Not anything else which is objectified as “this” by meditators.
° By the word @, all adjuncts of body, mind and senses are to be negated and the adjunct-free self is
to be understood as brahman.

o The first chapter is T4, where the vision of S is given.
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e This chapter focuses on the H aspect to resolve doubts from outside the Shruti, e.g., other
philosophies, experiences, etc. Bhashyakara uses the term ¥JUT-fRe@w=-=1T4 for this strengthening of the
understanding, wherein like a pole fixed in the ground, the understanding is shaken, and then ideas are

repeatedly put in, like mud for the pole.

e AR e ARl Se: e st st gy aneffd W e erarET: Rt —
T |

e W0 in this manner ATGARTIG: 1/1 opposite to what can be given up or taken up @H.1/1 you ST
1/1 self & 1/1 brahman 3fd 0 thus Sc@T@: 1/1 it was taught/ convinced/ confident f&1<a: 1/1 disciple
"3EH 1/1 199 0 alone & 1/1 brahman” gfd 0 thus "gg 0 very well 2 1/1 know &H 1/1 1" Zfd 0 thus |10
not ﬂ@?ﬁ[ (ﬁT"&’I@@f) III/1 may he grasp gfd 0 - =™ 5H /1 due to this intention 1= I11/1 says T 1/1
teacher RTGRERmISIIH, (6TP, 6TP, 4TP) N1/1 for the purpose of shaking the understanding of the
disciple— T 1/1 “if”, etc, mantra.

e In this manner [when taught] thus: “you are brahman, opposite to what can be given up or taken up”,
may the confident disciple not grasp thus [like an object]: “I know very well” so: “I am brahman alone”,
due fo this intention, for the purpose of shaking the understanding of the disciple, the teacher says—
“If”, etc, mantra.

Afeasa g Fered 3fd it gfaafa: |

e 990 Objection 81 F1/1 desirable @ 0 indeed "g 0 very- well 98 I/1 I know 2%&H.1/1 1” §fd 0 thus i
F1/1 ascertained Sfdafa: F1/1 conviction.

e Objection— Indeed, the ascertained conviction thus “I know very-well” is desirable.

e, gt fefiar sfoafs: ; 7 fe g e |

e (Reply) @@H 1/1 true, 21 F1/1 desirable fef1ar F1/1 well-ascertained SIfadfa: F1/1 conviction; 9 0 not & 0
but "g 0 very-well T;E I/1T1know 31@H 1/11” 2fd 0 thus.

e (Reply) True, the well-ascertained understanding is desirable, but not as “I know very-well”.

Ay e g ferriveafer, g afad 2o, i PgH SRigg: A o e |

e Td1/1 whichever & 0 because &% 1/1 knowable T&] 1/1 object foeivafa 111 /1 is objectified, dd 1/1 that

g3 0 very-well afdg 0 to know 21 2/1 it is possible, T 2/1 inflammable object 4 0 just as A0 to
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burn 3 6/1 for fire g (@+JH) 6/1 for burning 9 0 not g 0 but ST: 6/1 of fire @&IH 1/1 essence/
nature W 0 itself.

e  Because whichever knowable object is objectified, it is possible to know that very-well, just as it is
possible for the burning fire to burn inflammable objects, but not the nature of the fire itself.

e Similarly, only the knowable is possible to be known for the knower, not the own self of the knower

Haw f Afeg: w@re SRl sdaerari giafidise: |

o TWH 6/1 of every f& 0 indeed aﬁﬂt 6/1 of the knower T 1/1 own self 5i& 1/1 brahman fd 0 thus
HAET=ai 6/3 of all Vedanta scriptures g 1/1 well-ascertained el 1/1 purport.

e Indeed, brahman is the own self of every knower, thus is the well-ascertained purport of all Vedanta
scriptures.

& = dad dfcdried FeAvfcrerairT /S S (&, 3. 2-R) ST |

e TE(0/E0hered0anddd1/1 that W 0 also Hfadiied 1/1 established Semfaa==i<a F3/1 by the presentation
of answer to the question ‘S5 6 /1 of the ear %5 1/1 ear’ (%. 3. 2-R) I F3/1 by this Shruti, etc.

e And here also, that is established through the presentation of answer to the question by this Shruti: “ear
of the ear”, etc.

“TgTAgead (F. 3. 2-4) 3fd T RIAISTIRAH |

o 'TEEMAH which self is not objectified by the speech’ (. 3. 2-4) 3 0 thus ¥ 0 and fo=iwa: 03ad

specifically @A 1/1 ascertained.

e And specifically ascertained thus: “which self is not objectified by the speech”.

TR =ERh: Id diglediedl Afdieder’ (%, 3. 2-9) T |
o FEIEWEEMEA: 1/1 conclusion of teaching of knowers of brahman = 0 and S%: 1/1 told [ ech

Afgfedies fafeder different from known and different from unknown’ (&. 3. 2-%) &fd 0 thus.

e And the conclusion of the teaching of the knowers of brahman was told thus: “it is different from known

and different from unknown”.

SUYIEE R = ST el Heiaaies=as’ (F. 3. R-3) 3 |

e 3I99&H 2/1 what has been presented IqEERAN 111 /1 will conclude 9 0 and “319=1d 1/1 unknown

fast=dt 6/3 for those knowing S=a¥ 1/1 known SIESEa™ 6 /3 for those not knowing’ (. 3. R-3) & 0

thus.

e And will conclude what has been presented thus: “it is unknown for those knowing and known for

those who not knowing”.

N o ﬁﬁi‘ﬁ{gﬁ“ < |
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o dWId5/1 therefore IHH 1/1 proper W9 0 alone R 6/1 of the disciple "§ 0 very well 2 1/1 know” 3id
0 thus gR.2/1 understandingﬁTﬁT&’RO to shake/ dismiss.

o  Therefore, it is proper to dismiss the “I know very well”-understanding of the disciple.

e d0not f&0indeed afedr 1/1 knower %ﬁi@ 6/1 for the knower %ﬁi@ 0 to know 2I: 1/1 possible, i 1/1
fire @9: 6/1 for burning 34 0 just as IJA.0 to burn ¥H: 6/1 for fire.

e Indeed it is not possible for the knower to know the knower, just as it is not possible for the fire to burn

the fire.

A = ST SRS R T TaHIEER |
e d0notd0and 3: 1/1 other/ different df<dl 1/1 knower &UT: 5/1 from brahman @R I11/1 is there
T 6/1 for whom 999 1/1 knowable 374d 1/1 different ®&d I11/1 would be 5& 1/1 brahman.
e And there is no knower different from brahman, for whom brahman would be knowable.

‘AR =’ (3. 3. 3-¢-22) IA1 fagman gfafrsd |

e ‘A0 not 34 0 different 31d: 05 from this 3IRA I11/1 is there f5Td N1/1 knower’ (3. 3. 3-¢-22) §d 0 thus

39: 1/1 different =TT 1/1 knower Sfdfesad I11/1 is negated.
o A different knower is negated [by Shruti] so: “Br. Up. 3.8.11: The knower different from this (brahman)

1s not there”.

e Just as a fire cannot burn itself or any other fire, so too a knower cannot objectify his own essence nor
any other knower’s essence.
o NS T and ST RO arel|
o Both are Eﬂﬂﬁ%, distinguisher, while in the former the inner-instrument is an adjective, for the latter,
it is an adjunct.
o A Afedciced |iel A FRINUH when an attribute is a part of the substantive, that distinguishing
factor is an adjective.
> A e @i AEd® ST when an attribute is not a part of the substantive, such distinguishing
factor is an adjunct.
> The same consciousness is called as knower or witness, based on whether the consciousness is along

with the mind as a part of it or with adjunct alone. Therefore, it is not possible for the knower to
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objectify the witness.
I Hg 39 AR At |

o TM5/1 therefore "§g Oad very well 9 1/1 I know 3@ 1/1 1 5@ 2/1 brahman" 3fd 0 thus Sfadf: F1/1
understanding e 0 false W@ 0 indeed.

o  Therefore, the understanding thus “I know brahman very-well”, is indeed false.

AEHATIHATETAE! FGITg |

o &I 5/1 therefore S®H 2/1 what was said W 0 indeed =18 I1I/1 says - 1/1 teacher Igrae 1/1 by
"if", etc.

o  Therefore, the teacher indeed says what was said by the mantra, “if”, etc.

e FeE g Fef a7 o e AR &9
e o I gy  HHeHd d 7 fafam 1 .2

o TG0 if #=E II/1 you think "g 0 very well 3 I/1 I know” 3 0 thus g&XH.2/1/ ¥ little T 0 only 34 0
even 7 0 certainly @ 1/1 you 3 II/1 know F&UT: 6/1 of brahman &4 2/1 form dd.2/1 which 3 6/1 of
this brahman @ 1/1 you ad 2/1 which & 6/1 of this brahman éﬁlﬂ 7/3 in gods 314 0 therefore g 0 now
T (H, I+ R ™ &1 2,25 +3d) 2/1 to be thought over W 0 indeed d 6/1 for you A=
1/11 think fafea® 2/1 known. Il 2.2 1

o [oE] 7@ G " G A AT, [AR] T (FE:) TG & [ & dee], 7 FEXH/ G 1 S [FE:] T & 395
& deg, dq oY A FEXH/ FHH T 57  HHETH TF i1 7 Fqaq!

o I3 GaZ I HIE, AR I T I &Y & HFHY dcd A 7 FECH T, I 7 I &9 3399 & dc9 A A7 TEH
T/ 379 J 3 &I HHETH G| R I "H Aeaq|

o The HM®-/ TWU-EGH is of two types:

N_ oo

ATHMIMIR =39 €99 particularized by the individual adjunct/ state of the mind.

(oSN o oY N

AeGETTEMR=29 €99 conditioned by divine deity.

H™H
e, Fad A= G 3l G 99 il |
e X0 if FAMIA 0 sometime A=E I1/1 you think "g 0 well F2I/1 1 know” Efd 0 ="gg 0 very well FTI/1
know & 1/1 I 5i& 2/1 brahman” 3 0 thus.
o Atfsome time, if you think in this manner “I know brahman very well” .

FI T ST SUETS: GHT: FHEIETTad He SRIEHE T |
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FAI.0 at some time FN%d (AB) 0 as taught 3= 1/1 difficult to know 3 0 even though &fivEs: 1/1
one whose impurities have reduced/ removed §HdT: 1/1 one with good mind ®d 0 someone JfqTad
I11/1 understands Ff#d 0 someone 7 0 does not 3 0 therefore HETgH 2ad /1 along with concern T8 I11/1
says Tinie 1/1 “if”, etc.

Even though the subject matter is difficult to understand, someone whose impurities have been
removed, with good intellect, at some time, he understands as taught, someone else doesn’t understand;

therefore, along with concern, the teacher says “if”, etc.

78 = ‘g IS gESl Tad U S S Rde YA TEHAEET (B, 3. ¢-9-%) T Ted: TUedIsHgRgi=-:
N o~ a 25[‘ a ¥ o . |

T8 1/1 seen 90 and “T: 1/1 one who T8: 1/1 this STf&fU1 7/1 in the (right) eye : 1/1 Purusha ¥23d I11/1
is seen : 1/1 this AT 1/1 self 3fd 0 thus & 0 indeed 34T I11/1 Prajapati said ¥qd 2/1 this $HaH 2/1

immortal 3TMIH 2 /1 free from fear ¥dd 2 /1 this i’/ 2/1 brahman’ (3. 3. ¢-9-%) 3?1%5 755/1 when taught so
HST9cT: 1/1 son of Prajapati gfvea: 1 /1 learned MY 0 even though W< 1/1 King of Asuras o 1 /1

Virochana @M EENa=d 5H /1 due to the defects of the nature/ mind/ character SIGIHTEH 2 /1
untenable 3 0 even though @ 2/1 wrong/ opposite @i 2/1 meaning "TH 1/1 body e 1/1
self" 3fd 0 thus Sfe@@: 1/1 understood.

And it is seen, when taught so “Ch. Up. 7.8.4: (Prajapati) said — this Purusha who is seen in this eye is
this self; this brahman is this immortal, free from fear”, even though untenable, King of Asuras, son of
Prajapati, even though learned, understood the opposite meaning thus: “body is the self”, due to defects
of character.

Ch. Up. has 8 chapters, of which last 3 are considered important, since they predominantly talk of
st while the first five are predominantly ST based.

The last three chapters are called: afgam, ‘1341%@1, S RIEEI]

AU TIE TR ereTh UIaaaT: TEeNeEaaed g8 T TSHRRHe 58 Sfade |

@1 0 similarly $%: 1/1 Indra §90< 1/1 King of Devas %d 0 once 8.0 twice P& .0 thrice 3t 2/1 taught =
0 and *™d9=@E: 1/1 did not understand (brahman) @EENEEH 2HGV /1 removal of defects of the
mind 3983 0 having expected =g 7/1 - 9@™ 7/1 in the fourth round/ stage S¥HIRH (7TP) 2ad /1 as
taught in the first round @ 0 itself & 2/1 brahman Sfd9@@™ 1/1 understood.

Similarly, King of Devas, Indra, taught once, twice and thrice, did not understand brahman, having
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expected removal of defects of the mind, he understood brahman in the fourth round, as taught in the
first round itself.
SRS THEATE: STTad! HEATTEE T FEEIHEd FEfEatd Hiew Sfad |
e &% 7/1 in the world 314 0 also WA 5/1 - {lff: 5/1 from one teacher SUadi 6/3 among those listening
F13d. 0 someone @ 0 as taught Ff9@d I11/1 understands Ff3d 0 someone FFEd 0 not as taught FHEd,
0 someone fadid 2/1 opposite Fd 0 someone A 0 does not Hfef@@d I11/1 understand.
e In the world also, among those listening from one and the same teacher, someone understands as
taught, someone not as taught, someone opposite and someone does not understand.
Ex:ErErniit-ericcic
o Y0 -TWH 1/1 then what to talk of Ti~%aH 1/1 beyond the senses 3eRA™H. 1/1 the true nature/
reality of the self.

e Then what to talk of the true nature of the self, which is beyond the senses.

[N N N

7 fe ferferoren: SewgTigmeaTTha: &4 |
e 30 here, in this regard & 0 because f¥fd9=m: 1/3 those who are confused/ deluded/ have understood
wrongly/ in opposite manner &g&ales: (D, UTP) 1/3 who say self is there/ product is unmanifest or
not there/ not manifest aTfT: 1/3 logicians |4 1/3 all.

e Because here, w.r.t. the reality of the self, all logicians are deluded who say the self is there or not there.

qEITgfee SRt GirRdTRaTY s fafaeTd Aty 7w Sens amEg a= Jhaararae |

e T 5/1 therefore "fafed 2 /1 known =& 1/1 brahman" §id 0 thus ﬁ’lﬁfﬁﬁﬁ&l /1 statement made of
understanding very well 3 0 even though e 5H/1 since the real nature of the self is
difficult to understand "afe 0 if A= E 11/ 1 you know” g 0 etc A=E 1/1 along with concern T 1/1
statement I®H 1/1 appropriate W 0 indeed G 6/1 of the teacher.

o  Therefore, even though the statement of understanding very well so “brahman is known” (by the
student), due to the real nature of the self being difficult to understand, the statement of the teacher “if
you know?”, etc, of the teacher is indeed appropriate.

T STIHETY T o 9 AN R0 &9 |

o TEH/ M 1/1 =T 1/1 little/ limited T 0 only M4 0 even/ then J 0 certainly @& 1/1 you &4 I1/1

=TI 11 /1 you know SRIUI: 6/1 of brahman 49 1/1 form.

e You certainly know the only the limited form of brahman.
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o b [N N o < r\alx SN r\?

(Opponent) .0 are there 3T 1/3 many S&T: 6/1 of brahman 9T 1/3 forms A&Md 1/3 great
IRTRIMT 1/3 small 90 and, & 3H/1 due to which 3T& I1I/1 says "§5¥.1/1 limited T 0 only" e 1/1
this, etc?

(Opponent) Are there many forms of brahman, great and small, due to which Shruti says “small only”,

etc?

TeH, | ST & ATHCHIT IRt ST 9T, 9 &= |

(Reply) q@H 1/1 O yes. 3T 1/3 many & 0 indeed AH&EIMIEATH (ID, KD, 3TP) 1/3 caused by adjunct
in the form of name and form S&UT: 6/1 of brahman &4T{UT 1/3 forms, 0 not &d: 03 by itself.

(Reply) O yes, indeed there are many forms of brahman, caused by adjuncts in the form of name and

form, not by itself.

] SRR JUNE e waa= 9’ (%, 3. 2-3-24) 3fd 2e1eN: §8 &9 sfifiw |

SN

w4 03 by itself g 0 however ‘STEECHERMETHAE AURH (eAHT=Ia= gd that which is soundless, touchless,

formless, indeclinable, tasteless, permanent and free from smell” (%. 3. 2-3-84) gfd 0 thus EAMERT: 3/3 - T8
0 along with sound, etc 91T 1/3 forms/ attributes Sfdfed= I11/3 are negated.

However, on its own, attributes are negated along with sound, etc, thus: “that which is permanent, free

from sound, touch, form, decline, taste and smell”.

o

Y AT T FEHA TG T TEETTHI SRSy 3 ferieut vl qed e Ted E4h |

«q 0 objection I[q3/1 by which @ 0 itself HT 3/1 by feature/ attribute Id.1/1 anything ®d 111/1 is
defined @ 1/1 that W3 0 itself @ 6/1 of that @&9H 1/1 form 3fd 0H therefore S&UI: 6/1 of brahman 34
Oeven3d3/1 by which fRmu 3/1 by distinctive feature f&9ui 1/1 determination @d.1/1 that @ 0 itself
d= 6/1 of that brahman &4 1/1 nature &1 I11/1 would be.

Objection,; by which attribute anything is defined, that attribute is the nature of that thing itself.
Therefore, by which distinctive feature, determination of brahman is done, that itself would be the

nature of that brahman also.

A I — AT, JREAR I Fa9t fEaRurami a1 wwt | Wafd, aun S F0e = T = Wil SR &9t
a@ N D ~ l

(Opponent) 31a: 0 therefore F=d 111/1 is said— %HT*’FL 1/1 consciousness, ‘Iﬁlﬁl’dﬂ?{ﬂé /3 of earth, etc

HIAHH 6/1 of any of a9 6 /3 of all fURUIAMT 6/3 of the modified / transformed products a1 0 or T
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1/1 attribute 90 does not ¥afd I11/1 become, I 0 similarly %lﬁTﬂHTH6 /3 of ear, etc T=:&WH 6/1 of the
inner-instrument 3 0 and ¥: 1/1 attribute @ 0 does not ¥af ITI/1 become el OH therefore &I 6/1 of
brahman 99 1/1 attribute 3d 0 therefore & 1/1 brahman &%d I11/1 is defined =a= 3/1 by
consciousness.

e  (Opponent) Therefore, it is said (by us so)— Consciousness is not the attribute of any of (the elements in
the form of) earth, efc, or of any of the transformed (great elements as products); similarly, of ear, etc, of
inner-instrument, etc. Therefore, consciousness is the nature of brahman, Therefore, brahman is defined
by consciousness.

e For a feature to be the nature of a particular thing:

° it should not be seen elsewhere.
> it should be seen in this thing all the time.
e Charvakas are dismissed here, since they think that when the four great elements (space not being an

element for them) are combined in a particular way;, it results in consciousness.

AT = | s s (3. 3. 3-%-9) “fosiee w (3. 3. R-9-2R) ‘A S sal (d. 3. R-2-2) ‘U sal (T, 3. 3-2-3)
3_[% a ~ EEi [Nl o Y o |
e @0 similarly ¥ 0 and I®H 1/1 it is said. ‘=AM~ &’ (3. 3. 2-%-9) ‘foei@eom @ (3. 3. -8-¢R) ‘TA

A & (d. 3. R-2-2) ‘I el (Y, 3. 3-2-3) Z(d 0 thus ¥ 0 and & 6/1 of brahman &4 1/1 attribute

ﬁﬁ:’@ 1/1 shown %ﬁg 7/3 in Shrutis.
e (Opponent) And likewise, it is said in Shrutis: “Br. Up. 3.9.7 brahman is consciousness, happiness”, “Br.
Up. 2.4.12: fully consciousness alone”, “Tai. Up. 2.1.1: brahman is existence, consciousness, limitless”,
“Ai Up. 3.1.3: consciousness is brahman”, thus the attribute of brahman is shown.
HEI'EEW[; GRIIE Hﬁf_dﬂiiul\i\i?iq\ Eu'\lag\{ﬁ\la '\a§ ;||'\|§5|§(\;?N§5q€|, dad® Red \ﬁl'\l@ﬁ@ﬁﬂ? K @\Ql'\lia (typo)
AEIHIR AR eHRArS eI ARIY =, 7 & |
o (Reply) @& 1/1 truth W@H 1/1 thus; T 0 - M4 0 even then @d 1/1 that 3=:FUGEFEATTEN (KD) 3/1
through the adjunct such as mind, body and senses @ 0 only ﬁﬁiﬁT&ﬂ%: 3/3 with the words
consciousness, etc feifazad 111/1 is indicated / presented, EGEANCCIGE (UTP:?-HT-L?HﬂHﬁG NS T/ GG RSGERUR]

3fd1) N5H/1 because of (appearance of brahman's) imitating that adjunct

25 Comm— HeATagR IRTETM |
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QEllqIradhT=qllqy 27VS/SS/3 w.r.t. expansion, contraction, division, etc, of the body, etc ?ﬂfl‘;l, 7VS/3
w.r.t. destructions ¥ 0 and, 9 0 not &d: 03 by itself.

e (Reply) Thus is the truth. That brahman is indicated with the words consciousness, efc, only through the
adjunct in the form of mind, body and senses, because of (appearance of brahman's) imitating that
adjunct, w.r.t. expansion, contraction, destruction/ multiplication and destructions (of the adjuncts) not
by itself.

e Consciousness may well be the ¥&9H of brahman, however without any adjunct, brahman cannot be
said to have the attributes such as consciousness, etc. Moreover, brahman is the essence of both sentient
and insentient things, so consciousness cannot be seen as an attribute of brahman. Nor is brahman the
=39 of the word consciousness.

T A ST fsarfes=am (3. 3. *-3) 3f ferd wiesafa |

o &@a: 0 by itself 0 however ‘3¥=Td 1/1 not objectified &THdi 6/3 for those who know fa=a¥d 1/1

obiectified A=A 6/3 those who do not know’ (%. 3. *-3) 3fd 0 thus R&d 1/1 settled/ established

wfersAfet I11/1 will be.
o However, by itself, it will be established so— “Ke. Up. 2.3: It is not an object of knowledge for those who
do not know and objectified for those who do not know”.
e TR S’ 3 g0 - |
e ‘dd1/1 which 314 6/1 of this sI&lUl: 6/1 of brahman ®9H.1/1 form’ gfd 0 thus ‘{giUT 3/1 with previous
GEg: 1/1 connection.
e There is connection of “which is of this” is with “form of brahman” (to make “which expression of this
brahman [w.r.t. human beings or gods]”).
A FAGHATHTIN oS eaed A0 &Y @Hed acd ; TAGaaI IR eaweared eIl €4 4y 9ed @, TaMd T goHd 9ed
3fa weasE |
e "A0not #&H 1/1 only HATHITIIR=ZE (AB=3TTH Ifd AT KD/ 6TP, 3TP) 6/1 of that
conditioned by adjunct (in the form of peaceful mind) related to individual 37 6/1 of this s&U: 6/1 of
brahman ®42/1 expression @H 1/1 you 1Y 2/1 little T 11/1 know; dd.2/1 which 1 0 even

Lo NN N o N o N

STIGIAMTYR=$ed 6 /1 of that conditioned by adjunct related to gods 3T 6/1 of this SRIUI: 6/1 of

26 Just like sun that appears to be divided/ multiplied when the water in which it is reflected is divided. Even when there is
no connection between the sun and water, still water becomes an adjunct for the sun. Similarly, although there is no
connection between brahman and the body-mind-sense-complex, due to different their degrees of realities, still due to the

appearance of imitation, the BMS complex becomes the adjunct for brahman.
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brahman &4 2/1 expression g9 7/3 w.r.t. gods ¥ I1/1 know @ 1/1 you, @ 2/1 that 4 0 also T 0
certainly ¥ 2/1 little %9 0 only T 11/1 know” 3fd 0 therefore A= I/1 think/ consider3@H 1/1 1.

e [ think thus: “Not only the expression of that brahman conditioned by adjunct related to individual that
you know is little, but even which expression of that brahman conditioned by adjunct related to gods
that you know is also certainly little only”.

e Td1/1 which & 1/1 centred around individual Fd 1/1 which 31 0 even iﬁﬂ 7/3 w.rt godsdd1/1
that 24 0 also ¥ 0 and IUMTHIRI=Fw@ 5H /1 due to being conditioned by adjunct ¥@d 5/1 from
smallness 5 0 does not ffi@ad III /1 is not free.

e  Whichever expression is centred around individual and even w.r.t. gods, that expression is also not free
from littleness due to being conditioned by the adjunct.

o X o S .

] e e FeHHHHgd YA e 5@, 7 dogaaicanea: |
e Fd1/1 which g 0 whereas feraea@aiaefa=id 1/1 that in which all adjuncts are destroyed =™ 1/1
tranquil 3= 1/1 infinite =TkH, %1/1 one (free from spacewise limitation) a1gd 1 /1 non-dual (free
from objectwise limitation) A& *1/1 called Bhuma (indicates happiness) i 1 1/1 permanent (free
from timewise limitation) s/& 1/1 brahman, 9 0 not dd 1/1 that ﬁa@{ 1/1 known well 0 - TR™mE: 1/1
this is the idea.
e Whereas that brahman in which all adjuncts are destroyed, tranquil, infinite, one, non-dual, called
Bhuma, permanent is not that which is known well. This is the idea.
Tl T Y T A ST e e o o e |
o Id: 0 since TH 0 it is so 1A 0 J 0 =dHHTd 5/1 therefore 7 1/1 1 think 3% 0 now 314 0 even HIHIE 1/1
—fMMEH 1/1 to be inquired into @ 0 definitely d 6/1 =@ 6/1 for you & 1/1 brahman.

e Since this is so, therefore, I think even now, brahman is to be inquired into for you.

(NN <

AT : T T IufE: TR G, AR ARTHHE [, dhae ), S e, STEEEER T,

27 ST gveleaH] Mandukyakarika says that it is that which is one now.

28 fasTdaatiéadl Mandukyakarika says that it is that which cannot become multiple/ more than one ever, unlike some
things which are one but can become multiple later, such as clay, which may be one but become multiple.

29 71 3 @)
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S — AASEARAGH fafet st |

e TIH 0 in this manner ST=MEE: 1/1 told by teacher T4: 1/1 disciple W= 7/1 in solitude 398 1/1 sat
gHIfEd: 1/1 focused &1.1/1 being, @FH 2ad /1 as described SR 3/1 by the teacher 3FHA 2/1
traditional teaching F9a: 03ad meaningwise ferm 0 having deliberated, dhd: 03 through reasoning 9 0
and fat 0 having ascertained, ®9¥d 2/1 one's own clear understanding/ experience 1 0 having
made, TETEEHEM 2/ 1 near the teacher ITH 0 having approached, I8 I11/1 said— "A=4 I /1 think 3&H,
1/1 1319 0 thereafter 2t 0 now fafed 2/1 known &1 1/1 brahman” 3fd 0 thus.

e In this manner, as told by teacher, the disciple sat in solitude, being focused, having deliberated upon
traditional teaching as described meaningwise and having ascertained through reasoning, having made
it his own clear understanding/ experience, having approached the teacher, said— “I think now, after

q], 777 and I9geqra, I know brahman”, 2.1l

FAMHAL, *19] —
o "HYY 0 how?” 30 this, W] I1/1 may you listen—

o “How?” may you listen this—
& (typo)

AR AA g afaAadefaag = |
Tl TEeg deg A A g = 1l R

e d0donot3EOIAAI/1 think "g 0 very well as an objectaﬁ I/1 know” g 0 thus 90 not 3 0 indeed "7 0
do not @@ I/1 know" 3d 0 thus @€ I/1 I know = *0 and (I do not know). I: 1/1 one who 9: 6/3 among us
dd 2/1 that statement a2I11/1 knows dd 2/1 that brahman @2 ITI/1 knows 9 0 do not 3 0 indeed "0 - 9
I/11do not know” 3fd 0 thus "3 1/1 I know” @0 and.ll R Il

o I TR G a7 5 3 75, e A 733§ 7 F 7, 93 7/ F: 7: A I AAT: 93, : A T 32, AT '3, ‘A
35" g1 =1

o I A GIT I E T, e AT AT T 7T HA| & g, TG AZ| A 797" I "9 7" 5 A T 7: TH
g: 43, & dq & 33/

e /donot think thus: “I know brahman very well”, indeed not thus: “I do not know brahman”, I know

30 Shankaranandi or Maniprabha says 9&R: Hﬁ‘ﬁa‘qa?ﬁz |
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and I do not know. One who knows that statement [of mine] thus: “Its not that I do not know”, and
thus: “I do know”, he knows that brahman.
HSH
A 9T (typo) / & Hel § A3, ST Hel 9 el |
e A0not1/11AAT/11 think "0 very well 4G I/1 I know” d 0 thus, =7 0 not @ 0 certainly 3%& 1/11

74 1/1 know "g 0 very well g2 1/1 know" 51&1 2 /1 brahman 3 0 thus.
o Certainly I do not think thus “I know brahman very well”.
a3 afe fafed == T8ig o — A a R faag = |
e "d0not W0 indeed af 0 then fafed 2/1 known @@ 3/1 by yous& 1/1” 3?1’?5 755/1 when disciple was
told so 9T& 111/1 disciple says— 9 0 not 3 0 indeed "9 0 do not 2 1/1 know" 3 0 thus 92 1/1 I know F 0
and.
e When the disciple was told so by the teacher so “Then, indeed, brahman is not known by you”, disciple

says: not indeed thus: “I do not know” and “I know”.

N N

I A TR A 9g T |
e "32I/11know I 0 and” A 0 thus T==ad 5H /1 due to the word "and" " 0 do not 9 1/1 know” F 0 and.
e And due to the word “and” in the phrase “and I know”, “I do not know” [is to be understood].
79 fmfafrg e 7= g 33fq, |t A 38fd, g T 3f |
e dq0 Objection foufareg 1/1 contradictory " A q Fafd, At A 9efd, 92 T 1 do not think I know and I do not
know, I don't know and I know" fd 0 this.

o Objection: This statement “I do not think I know and I do not know, I don't know and I know” is

contradictory.
g A 779 g dfd, F4 79 38 =M |
e JRR0ifA0donot A II/1 you think "g 0 very well F21/1 1 know" A0 thus, 4 0 why A 11/1 you
think "92 I know" 9 0 and 3fd 0 thus.
e Ifyou do not think thus: “I know very well”, why do you think thus: “and I know”?

LS YN . SV at

1Y Y dedtd, U 9 g9 gagfd |
o Y0 then A=FH I1/1 you think "9g I/1 I know @ 0 indeed” fd 0 thus, % 0 why A0 don't "= I1/1 you
think "g§ 0 very well 2 1/1 know" 3fd 0 thus.
e  Then, you think thus “indeed I know”, why don 't you think thus: “I know very well”?

[N NI N <Y

T T I F, deid Ao aeq A G forsmaa gfd ol damafaagat st |
e ThH1/loned&1/1 thinga?lfi/l bywhom%qu—STIII/l isknown,?ﬂf&/l by him @3 0 alone dd 1/1 that ¥ 0

Download from www.arshaavinash.in Page 61


http://www.arshaavinash.in/

FeATeTETEH,

itself &g 1/1 thing 9 0 not § 0 very well fas™d I11/1 is very well known 3fd 0 thus Rl 1/1
contradictory HaEfeddt 1/2 doubt and misunderstanding TSI 0 having excluded.
e By whom one thing is known, it is contradictory [to say that] that thing itself is not very well known by

him alone (the same person), except [in case of] doubt and misunderstanding.

9 9 &l GRde g e afd e e |
e d0notd0and "€ 1/1 brahman @&1¥ded 3ad /1 as doubtful T 1/1 to be understood faaided 3ad /1
erroneously a1 0 or” gfd 0 8= 0 to restrict 2 1/1 possible.
e And it is not possible to restrict thus: “brahman should be understood as doubtful or erroneously”.
Tt & SEeEeE ue
o TIERTEET 1 /2 doubt and error & 0 because FaAMYEEH 3ad /1 as leading to all evils ¥ 0 indeed gRTEl
1/2 well-known.
e  Because doubt and error are indeed well-known as leading to all evils.
TR IS Y Rt A forere, ‘eraeg afgfedres sfafedef (. 3. 2-9) TAEIER RGNS,
STITIGHAIR;
e WIH ( in this manner AR 3/1 by the teacher CEIctCh (ﬁ+ﬁ?§+ﬁﬁ+%+ﬁ%+§ﬂﬂﬁ) 1/1 shaken =19 0

even Rrs: 1 /1 disciple @0 - o= 111 /1 was not moved, ‘e digledied ifdfeare different from

known and unknown’ (&. 3. 2-%) 3 0 thus STEEIERFERSEEESA5H /1 due to the strength of teaching of

traditional knowledge /scriptures imparted by the teacher STITIIHTEA 5H /1 due to the strength of
reasoning and clear understanding & 0 and;

e In this manner, even when shaken by the teacher, the disciple was not moved, due to the strength of the
teaching of scriptures imparted by the teacher (¥d9]) thus “different from known and unknown” and
due to the strength of reasoning (A7) and clear understanding (i IigATE);

T | SRl TeerEdl SREeeE: |

e W III/1 roared 9 0 and S&IE@M™I F7/1 w.r.t. knowledge of brahman Zefizdai (KD) F2/1 firm
conviction QTCITF-U /1 showing 3H: 6/1 his own.

e  And roared showing his own firm conviction w.r.t. knowledge of brahman.

FANT=AD — T: T B A: ST TN 7 dd Ageh = a<dl 95, |: qd Fal 3¢ |

o FH0 how 3 0 this I=4d I11/1 is being said— &: 1/1 - T: 1/1 - Hd.0 whosoever : 6/3 =3 6/3
among us HEETHTRUT (FHTH F& dga= =X+ 3id) 6/3 - 4 0 among the co-students @d 2/1 that =Agwh 2/1
made by me T4 2/1 statement dwad: 03ad in reality FTI0/1 knows, 8: 1/1 he dd that =s& 2 /1
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brahman g I11/1 knows.

e How this is so, is being said— whosoever among us co-students knows that statement made by me in

reality, he knows that brahman.

foh grEaEAHcad 3TE — Il A Jgid 98 9 3 |
e %0 what 9: 0 again dd 2/1 that 9=H 2 /1 statement gfd 0 therefore 31d: 0 then 3T I11/1 the disciple
says— "9 0 not 3 0 indeed 90 do not 2 1/1 know” i 0 thus "9 1/1 I know d 0 and” 3 0 thus.
e Again, what is that statement? Therefore, then, the disciple says thus— “not that I do not know and I do
know”.
A9 /= dfgiadiaell stfafedaf (3. 3. 2-¢) ScYHH, 49 6] FTAHRFRAT Hrs i TR i < dafd 99 = gErad,
A T AR ETE o |
e Id2/1 which W 0 ‘3<d dlgledes tfafeare different from known and unknown’ (. 3. 2-¥) FGhH was

said so (by the teacher), @ 2/1 that W 0 alone & 2/1 brahman SIFHEERAT 3 /2 through his own clear
understanding #4154 0 having made ff%d 2 /ad /1 determined / in a well-ascertained manner STFIT=RTT
3/1 through another sentence "di 94 93fd 9 9 not that I do not know and I indeed know" 3fd 0 thus ST&=d,
111/1 disciple said STHEgGEaTEE (6TP=3T=MEE Jfg: U@ | 3TP=aH Ha1g: | KD=8d1g: T 319 9ot 2,/1
for the purpose of understanding by the teacher T GTRUTATETE (e SAUTEEH) 2/1 for the purpose of the
negation of the assumption so “the (disciple) is dullard (had he not answered at all)”/ to negate the
assumption of dullards that brahman can never be understood = 0 and.
q = TR WAl A g daa’ 3 |
e A0 -0 in this manner Tlﬁl?-ltll /1 roaring SquEi 1/1 justifiable Wald I11 /1is ‘4 Hﬁiﬁ ?-@3 among us, one
who knows my statement, he knows brahman’ £fd 0 thus.
e In this manner, the disciple’s roaring so: “among us, one who knows my statement, he knows brahman”
is justifiable. 2.2/l
AR S 0 g ST A AR — TR |
o RISEEEAEM 5/1 from the dialogue between disciple and the teacher ff<ged 0 having stepped aside
WA 3/1-%&499 3/1 in own words %I'I%l :1/1 Shruti Wﬁﬁﬁéﬁ"{(KD, 3TP) 2/1 derived from the dialogue
3195112/1 message W 0 itself T 111/ 1 makes known— "3 6/1 3WdH 1/1" - A1 3/1 through the
mantra “for whom [brahman is] unknown as an object”, etc.

e Having stepped aside from the dialogue between the disciple and the teacher, Shruti herself conveys the
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message derived from the dialogue through the mantra “for whom [brahman is] unknown as an object”,
etc.
T T Hd Ad T A 92 9 |

EIERICICE ERICRIRLIESIECI IR
T 6/1 for whom ¥d 1/1 not known as an object 7 6/1 for him #d 1/1 known #d 1/1 known as an
object @& for whom 6/1 7 0 does not 9 I11/1 know &: 1/1 he. #ifagd 1/1 not known as an object fasiat
6/3 for those who are knowing clearly fasa¥ 1/1 known as an object SISTEA™ 6 /3 for those who are
not knowing brahman as oneself. Il .2 Il
v G S AT T e HAH | e e Hd @ 7 7 31 [T e SHAAZATH, AT 7 [FAH
For whom, brahman is not known as an object, it is known for him, for whom, brahman is known as an
object, he does not know brahman. For those who are knowing brahman as oneself, brahman is not

known as an object. For those who are not knowing brahman as oneself, brahman is known as an object.

T TRl ST STgad STafed sl Ao STRwE: Ham: , a6 O Siid TR sRicaieT: |

T 6/1 whose s&IHE: 6/1 of knower of brahman 3aH 1/1 ="31=1dH 1/1 =31fdfed 1/1 not known as an

object s&1 1/1 brahman" Zfd 0 thus AAH 1/1 ==1h™ma: 1/1 understanding fq2™: 1/1 conviction, @ 6/1 for

him ®d 1/1 known =3Td understood =H%F&& 1/1 brahman is known correctly 3@ 9@: 1/1 this is the
meaning.
Which wise person’s conviction is thus: “brahman is not known as an object”, for him, brahman is

known correctly. This is the meaning.

T G A 1 fafed wan s@ifd ferm:, | 989 @: | s faemta @: |

o [N

T 6/1 whose GA: 0 again Hd ="91d 1/1 =ffdd 1/1 known as an object 741 3/1 by me #& 1/1 brahman"
gfd 0 thus F2/: 1/1 conviction, 90 - 2 11T/1 does not know T 0 indeed @: 1/1 he =0 not s& 2/1
brahman &= 111/1 know @: 1/1 he.

Again, whose conviction is thus: “brahman is known as an object by me”, indeed he does not know

brahman.

AN W o NN NI

[EECEESIERINAN (O WACECEEEIERINA QefTaaErd —

l%la?{ﬁ@iﬁ: 6/2 of wise and ignorant persons TR 2 /2 as told geft 2 /2 views @IRAM 111/1 reinforces/

ascertains—

[The Shruti] reinforces the views of wise and ignorant persons as described.

o 2 O (\(\, o o S aa(\ . oo oS |
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° '?m 1/1 not known l%l\_rﬂ-_-ﬁrﬂé/?) for those knowing gfd 0 thus, %L?ﬂ{l/l =3HdH 1/1 =341%|%aq1/1
not known an object %9 0 certainly si&l brahman [aIdl 6,/3 =gwIRaedad™ 6/3 to those who know

properly ¥4dd 1/1 this is the idea.

e &&lis certainly not known as an object to those who know properly. This is the idea.

o "\r\‘w o faSs o A o NN ~e o ?i:’
o fETE1/1 2%1/13@1/1brahmanisknownasanobject?aT'I%l\_rﬂ-_-!HTtL6/3=3Wﬁﬂﬂé/3forthose

who know incorrectly, =s'|“am:ﬁ§&'g 7/3 in senses, mind and intellect @@ 0 itself 311?'431%??&6/ 3 for those
having the I-notion gca%: 1/1 this is the meaning;
e For those who know incorrectly, having I-notion in the sense, mind and intellect itself, brahman is
known as an object.
A A GG |
e d0notJ0 but AF<H2/1 totally W 0 indeed BWHTF[ (116BV) 6/3 for those who have uninformed
intellect about brahman.
e Butnot indeed for those who are totally ignorant about &/
A f& it formramehisEife Afenfafd |
e A0 not f& 0 because 81 6/3 for those "9 1/1 known as an object ST 3/3 by us & 1/1 brahman"
gfd 0 thus Afd: 1/1 idea ¥aMd I11/1 is there.
e Because, for those, the idea “brahman is known by us” is not there.
EESUEIERRIBE R g AR IR, genrgarde] fagidaard ffdd srRicgrued wi-aR: SR
R — PR |
° Q’Wﬁl@w 7/3 in adjuncts in the form of senses, mind and intellect QWE'I%QHT 6/3 for those seeing
the self g 0 however SRIMMMRERIGISRIE(ID, 6TP, 6TP) 5/1 due to non-availability of discrimination
between brahman and adjunct, W‘at 6/1 of adjunct such as intellect, etc &0 and fasacard 5H /1 due
to understanding "fafed 1/1 known as an object si& 1/1 brahman” Zfd 0 thus I99T 111/1 is possible yfed:
1/1 delusion 4: 0 therefore ¥EEREAH 1/1 incorrect understanding ‘1??‘1&1?313 3/1 as wrong/ opposite
view I9&Id I11/1 is presented— "fgd9. 1/1 known as an object ST 6 /3 for those who do not
know" fd 0 thus.
e However, for those seeing the self in adjuncts in the form of senses, mind and intellect, due to lack of
discrimination between brahman and the adjunct and due to understanding of adjunct such as intellect,
etc thus “brahman is known (as an object)”, delusion is possible. Therefore, the incorrect understanding

Is presented as the opposite view thus: “for those who do not know, brahman is known as an object”.
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T B I sfasTare: |
o IEI0 or TAN: (116BV) 1/1 that which has the reason [in the first half] IT: 1 /1 latter half "Siar=Ta,
1/1 not known as an object” ganie: 1/1 this, etc.

o Or the latter half is that which has a reason [in the first half] so: “not known as an object”, etc. I12.31l

ST A (. 3. *-3) ST |
e ‘M= 1/1 not known as an obiject fISTEAM™ 6 /3 for those who know” (. 3. R-3) 3 0 thus Egaq 1/1
established.

e [t was established thus “2.3: not known as an object for those who know” .
e TRIEATHAT I, Sifhehl Seliea) TnazS: 91e: |
e TiT 0 if 5 1/1 brahman 3/c&@=H 2ad /1 completely 99 0 indeed e 1/1 unknown, JIEEac] 6/3
among the worldly &gt 6/3 among knowers of brahman = 0 and feR: 1/1 non-distinction/ non-
difference 9m8: 1/1 obtained (as a logical conclusion).
e [findeed brahman is unknown completely, non-difference between the worldly and knowers of

brahman is a logical conclusion arrived at!

AT A (3. 3. R-3) el = REfereeH |
o ‘A= FISTHAM not known to those who know” (&. 3. 2-2) 3fd 0 thus ¥ 0 and TEUEEEH 1/1 mutually
contradictory.

e And “unknown to those who know” is mutually contradictory.
e &% (0 how g0 then dd 1/1 that si& 1/1 brahman gERafed 1/1 understood correctly 3ald [11/1 becomes 3
0 therefore TR 2/1 for this purpose 3T& I1I/1 says—

e How then that brahman becomes understood correctly? therefore, for this purpose of answering this,

Shruti says—

NN N N .

Sfcanafaied AarHdd f& e |
AT faegd o ferran faegdsgam 1 R 2 11
o YfqEMdfEied 1/1 (when brahman is) recognized in every cognition (as consciousness) AdH 1/1 (then
brahman) is understood correctly/ is correct understanding A 2/1 immortality f& 0 because fa=d
I11/1 attains A1 3H/1 due to (the immortality of) the self f&=gd I1I/1 attains 4 2/1 strength fam@n
F3/1 through knowledge faw=d I11/1 attains $#ad.2/1 immortality. | .% I

o TG T TR TqT AT T HAH I8 (THI) FHIHAGIZ A SFFTd [373cd | STHT (G &90]) FTedl §&: STIcAI
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When brahman is recognized as consciousness in and through every thought, then brahman is correctly
understood, because by this understanding alone one attains immortality. A wise person attains the
strength due to the self alone, therefore by the self-knowledge one attains immortality.

/Brahman recognized in every cognition is correct understanding, because one attains immortality (due
to that correct understanding). Due fo (the immortality of) the self, one attains strength. Therefore, one
attains immortality through the (self-)knowledge.

Whatever is gained by knowledge of anything has to be the intrinsic nature of the thing. Therefore, if
immortality is attained by the knowledge of the self, self is inherently immortal.

T or U84 is differentiated from Qﬁ-l in that the former is with consciousness, while the latter does not
include consciousness.

If one's intrinsic nature is not immortality, one cannot attain immortality through knowledge (or

anything).

oSN oo

giaardfdied 1/1 =ard 1/1 - 1/1 every cognition 9fd 0 in and through fafea®. 1/1 brahman is
understood.

Brahman is understood in and through each and every cognition.

FANTRTea Ahgl: ToTdT 34 |

TqrRead 3/1 by the word 115 1 (@@T ST ¥d1:) 1/3 occuring in the inner-instrument S¥c@4T: 1/3
thoughts F=4=d 111 /3 are meant.

The thoughts occuring in the inner-instrument are meant by the word “a@4:"l

Ha(_‘ o ﬂ o W,H LN [N ey

a4 1/3 all 5@ 1/3 thoughts fa@hafd I11/3 become the object/ objectified/ illumined T 6/1 for
whom, &: 1/1 that ST 1/1 self T 2/3 w.r.t. all cognitions 5fd 0 T I11/1 is recognized

That self for whom all thoughts become the object, that self is recognized in relation to all cognitions.
The thoughts are insentient by themselves and become experiences when illumined by the self in the
form of consciousness. Then the self is recognized/ manifested by the thought. Without the thoughts,
the self is not recognized. The light is 92 illuminator, while the pot is ¥R9 illumined. The pot is
RTEAFF manifestor of the light which is 2T manifested.
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e The logic used is Hf@aalGad AdH, A edard| I FAHISEA)

TR (e R THTH: S et area edd ;
o TEWIEAN 1/1 that which is illumining all thoughts FreaftaEq =: (KD=4d Ffth: | BV= =3t @ @&
| MV={=3t&€q: W) 1/1 that which has the nature of power in the form of consciousness T

3ka/3 through thoughts T 0 only ¥&4Y 7/3 in all (variable) thoughts fafRred@r F3ad /1 as invariable
@ed 111/1 indicated;

e That which is illumining all thoughts, which has the nature of power in the form of consciousness is

indicated as invariable only through thoughts.
AHERACHH! {5 |

e A0 no A 0 other A 1/1 doorway I=RIH: 6/1 of inner-self fag=/™ 4/1 for the knowledge.

e There is no other way for the knowledge of inner-self.

e  The consciousness M itself, without undergoing any change, is called as &R when manifested /
reflected in the mind/ thoughts. Then it appears to be have a location, appears limited and also due to
the many reflecting mediumes, it appears to have multiplicity. Factually, there is none of that, the same
fd exists as a limitless whole. Without the thought, there cannot be appreciation of the consciousness
and when there is appreciation of consciousness, there is a thought. As such, there is no possibility of the
GGG facing 4, since both are the same, unchanging, undivided consciousness.

T FEFIERTIa ff #e 7eT, A8 dd A deeRaRrie:

e 3Ad: 0 therefore YT NHAA (6TP) F3ad /1 as the inner-essence of all thoughts fafed 1/1 known s&1 1/1
brahman 3T 0 when, a1 0 then dd 1/1 that Ad 1/1 =ad 1/1 that W&fh‘{l /1 correct understanding
3?12?1 1/1 this is the meaning

o  Therefore, when brahman is known as the inner-essence of all thoughts, then brahman is understood

that is correct understanding, this is the meaning.

< [N LN [N ol SN .

AT AT ST e Rl e Rl eI i3S o Gy R ¥ad, SeumenamEs
(typo)/ SEUETTETE A 59 FERTRIRTIY |
° H&Q@ﬁﬁ 755/1 when (brahman’s) status of being the witness of all thoughts/ cognitions is
understood ¥ 0 and STTHAIEEHTERTETAT 1/1 one whose nature is illuminator/ seer/ witness bereft of
arrival/ birth and departure/ death A 1/1 permanence foTera®9ad (116BV) 1/1 being free from

impurities/ being of pure nature 3 1/1 status of being the self feferRian 1/1 being free from
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attributes W 1/1 oneness ¥ 0 and T&¥Y 7/3 in all living beings &% 1/1 established ¥ad I11/1 would
be, FFURIEMTET °'5H /1 due to absence of differences in nature &®&: 1/1 space 89 0 just as ﬂ?ﬁﬁ“@ﬁi
7/3 w.r.t. pot, cave, etc.
e And when brahman is understood as being witness of all thoughts, the status of being a witness of
arrival and departure, permanence, pure nature, self and oneness (of brahman) would be established,
w.r.t. all living beings, due to absence of differences in inner-essence, just as space w.r.t. pot, cave, efc.
e  This lists the corrollaries of understanding brahman as that which is in each and every cognition.
e That which is &Ed is THT, while that which is Ed is HTHT |
e Even though clay is in and through all pots, clay is not limited by any pot, potness not being the intrinsic
attribute of clay, clay is said to be beyond/ transcending pots. The clay remains clay without being pot,
even when it is seen as a pot.
ffafafamaT R e ud aREgE T ad |
o "[fEAIEiEan=™ 5/2 from known and unknown 31 0 different si& 1/1 brahman" fd 0 thus
NTHEER:1/1 meaning/ purport of the sentence giving the traditional knowledge @ 0 in this manner
aRZTE: 1/1 clarified W 0 indeed I9H&a: 1/1 concluded ¥afd I11/1 is.
e In this manner, the purport of the sentence giving the traditional knowledge “brahman is different from
known and unknown” is indeed clarified (and) concluded.
‘ZBEH (typo)
EUEE Yd: S HAHT (Tt (3, 3. 3-9-R) &ft & ogedeci |

o ‘ZW: 6/1 sight-perception/ vRtti Z811/1 seer %d: 6/1 of sound-perception/ vRtti #idl 1/1 hearer #d: 6/1
of mental vRtti A= 1/1 thinker f=Td: 6/1 of intellectual vRtti &= 1/1 knower’ (3. 3. 3-8-?) 3fd 0 thus &

0 because YA~<H 1/1 other Shruti is there.
e Because another Shruti is there thus: “Br. Up. 3.4.2: brahman/ self is the seer of the sight, hearer of
sound-perception, thinker of mental perception, knower of intellectual cognition”.

e The Br. Up. sentence which says that the seer of sight, etc, cannot be seen, etc, is paraphrased here.

qa_l_ X _o . ha¥ o gTU‘\m C. i1f\ ha¥ gTU‘_\mf\'\t oo oo o~ \’qmq}[q '\H
g dgd ;
o (Ekadeshi/ Bhartrprapancha view) 31 0 when 9: 0 but arafeRaTRat 1/1 (self as the) agent of the act of

31 SEURIERITETd SeaEnTE: |
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knowing fd 0 therefore afHaTB&H 3/1 through the indicator in the form of act of knowing Akan 2/1
agent of that fa<TTid I11/1 one infers fd 0 thus a9S&UH 3/1 by the indicator of knowing fafdd 1/1
known Hfd@rafafda® 1/1 known in every act of knowing il 0 thus SR 111/1 is interpreted, 1 0 just
as q: 1/1 one that &M F2/3 branches of a tree T&3Md I11/1 moves 8: 1/1 that ag: 1/1 is the wind”
2t 0 thus T840 like that;

e But when the "5& known in every act of knowing” is interpreted thus: “just as one infers so: one that
moves the branches of the tree, that is the wind, similarly one infers the [self as the] agent of that [act of
knowing] through the indicator in the form of act of knowing”

e  When this expression is explained in a particular manner, then there will be unexpected conclusions.

¢ Here, ThaaMl/ Bhartrprapancha’s view is refuted, in which he says that Sfc@ means that it is every
action of knowing, which is an indicator to know the agent of knowing as brahman. Sfc@raq fosga fafead)

A AFATRRHIH] Sed, 7 aeey |

o A0 then FRARIEAT, 1/1 one that has the power of the act of knowing AT 1/1 self Z=H.1/1
substance, 0 not FEET: 1/1 that of the nature of consciousness T 0 only.

o Then the self would become (established as) one that has the power of the act of knowing, not that
which is only of the nature of consciousness.

AN ST fereratal = |
e dM: 1/1 consciousness g 0 however ST I11/1 is born faw=afd I11/1 is destroyed = 0 and.
e However, (the implication would be that) consciousness is born and destroyed.

AT Al S, AT AR SR |

e T 0 when d: 1/1 knowledge A 110/1 is born, a1 0 then R F3/1 by the act of knowing qfzm:
(SBV) 1/1 endowed with quality.

e When knowledge is born, then by the act of knowing, the self will become endowed with quality of
knowing.

e Al FRAf], A7 A gemAr ffaE: |

e I 0 when d: 1/1 knowledge A/ is destroyed, @ql 0 then AT (116/7BV) 1/1 that whose
knowledge is destroyed &&= 1/1 mere substance fafd=s: 1/1 without any quality.

e When knowledge is destroyed, then the self would become that whose knoweldge is destroyed a mere
substance, without any quality.

o i faFraTere: STEgalsalSE eal 3 A TReq T |

e TAO0w.r.t. W0 did7/1 when this is so fafsiaic®: 1/1 that which has the nature of change &&a:
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(SBV:BIIE’T\’ﬁl : {8 ﬂﬁﬁ) 1/1 that with parts fe: 1 /1 impermanent/ timeless 31%[€: 1/ 1 impure TAGA:
1/3 these, etc adT: 1/3 defects 9 0 not ‘?Iﬁi_cj 0 to avoid = I11/3 is possible.

e In that case, w.r.t. (such) interpretation, it is not possible to avoid defects such as that which has change,
with parts, impermanent, impure, etc for the self.

T FIUGIATH, SATHAA:HAITA! a7 HTeH FHAT ;

e (Kanada’s Vaisheshika view) ad.1/1 which (R view) 3 0 even if FIMEMM 6/3 (view) of the Kanada
followers— AHAA:ETRTST: 1/1 born of contact between the self and the mind &4 1/1 knowledge A
7/1 in the self gHata 2111 /1 remains connected;

e The followers of Kanada/ Vaisheshika have a view that such a defect wouldn't be in their philosophy
because they say that although the self is a substance, it undergoes no change. When it comes in

association with another substance, mind, knowledge is born for the self. And then without undergoing

any change, the self becomes the knower.

A AT Argead, A g Rt ST ; FEHTERg Wald 9 39 T e |
e 37d: 0 therefore 3TcH( 7/1 in the self Eﬁ%ﬂ'?ﬁﬂl /1 knowership, 91 0 not J 0 but fafraTcr®: (116BV) 1/1 that

which has change 31 1/1 self; & : 1/1 only a substance g 0 but ¥afd I11/1 is &2 1/1 pot 4 0 like
TETEHEETET (3TP, ) 1/1 that which has connection with colour.

o  Therefore, knowership is (born) in the selt, but self is not that which has change; self is only a substance
like pot that has connection with colour.

Y o aN

ARFIR ST ZeHTE TR A J8y (3. 3. 3-2-R') ‘UEH Far’ SARI: Yol aredr: ;|

e (Refutation of Vaisheshika view) 3TRH[.7/1 - 981 7/1 in this view 3 0 even 3=+ 1/1 inert/ insentient

TEHE 1/1 only a substance & 1/1 brahman 2fd 0 therefore ‘T5EH 1/1 knowledge 3E= 1/1

happiness 5& 1/1 brahman’ (3. 3. 3-2-R9) ‘¥=7 1/1 consciousness & 1/1 brahman’ T 1/3 these, etc

#Jd9: 1/3 Shrutis qIferat: 1/3 contradicted &]: [11/3 would be.
e Even in this view, (since) brahman is only an insentient substance, therefore Shrutis such as “ brahman

Vw74

is knowledge, happiness”, “consciousness is brahman”, etc, would be contradicted.

S LA CICRECE] q\aillq q1d (\;IFQFI.Q?F»@ | HAY: paggeq’\ﬁ’\qqmaqq’\ﬁ{qﬁg B qd |
o 3M: 6/1 of the self FX@dd@ 3H /1 due to being partless SG2m@E 5H/ 1 due to specific part not being
there ﬁ?ﬂWHSH/ 1 due to continuous contact between mind and the self @ 0 and #49: 6/1 of the
mind SAIFAGIIT: F1/1 untenability of the rule regarding the rise of memory STaRETT F1/1

32 §HaE @+ is an intimate relationship, a connection which is between quality and qualified, different from TgRT: |
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unavoidable ®1d 1II/1 would be.

Due to being partless, due to specific part of the self not being there, and the untenability of the rule
regarding the rise of memory would be unavoidable due to continuous contact of the mind (with the
self).

The self is FTRIRAT, of huge size, and mind is SUARA, of small size (everything else is HSIRAT);
when there is contact between them, the quality of knowledge is born. #aR1 being Tha21gM, it is possible
between the two substances only when both are #1994, since only some part of one thing will be in
contact with some part of another thing, not the whole. However, STTcHI being l%lHQﬁFHUT, it has to be
feREdd, so too A9 being HYIRATI smallest indivisible substance, it is also partless. So no H4W is not
logically possible between them.

Vaisheshika definitions are: Hé’ﬂﬁﬁm‘l"l@ﬂ/ﬂ@l‘ﬁ forgH) FRama Hﬁa‘{l So they say the association is
possible.

Even if this be accepted, there is a defect that the self being & and mind being 31, they will always be
in contact. Due to this, sleep would also be impossible due to continuous rise of knowledge in the self.
Vaisheshika’s rule is that the birth of rise of memory is only at the time other than the time of direct
knowledge and sequentially.

o GRSl gh -G AN ST causes TITEIAH,

o When E&RREHA association is with 31T, F{l%l is born.

However, when the object, sense, mind and self are connected, the mind endowed with &R is in touch

with the self and there will be simultaneous direct knowledge, and not role to play for memory.

PR N o\ VY :r\r\ T SV o N} |

c_ac .

Heeafie (KD, 7998 3f) 1/1 status of having the quality of contact/ being contactable = 0 and TcH4:
6/1 of the self gﬁwﬁmﬁw 1/1 opposite to Shruti, Smriti and logic Head 1/1 imagined &1 111/1
would be.

And the status of the self having the quality of contact, which is opposite to Shruti, Smriti and logic,

would be imagined (by Vaisheshikas).

‘A A & A (4. 3. 1-3-28), (4. T. 9-4-2%) “ST6H T’ (. 0. 23-2%) 3 & ferage |

‘319g: 1/1 free from having contact 90 not & 0 because @=Hd I11/1 not connected’ (9. 3. 3-%3-%), (3. S. ¥-4-
24) ‘31E<h 1/1 not connected "RTd 1/1 even though holding everything’ (¥, 3. 23-2%) 3 0 thus & 0

because Hﬁﬂﬂ?ﬁ 1/2 Shruti and Smriti.

Due to Shruti and Smriti statements: “Br. Up. 3.9.26 the self if free from having contact because it is not
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connected”, “BG 13.14: the self is not connected even though holding everything” .

A — TUTEEUEAT S, AGeASTdrEH |

=qr9: 1/1 there is a logic/ law & 0 and — T0TEd, %1/1 that endowed with quality 3991 3 /1 with that
which has quality €53 I11/1 is connected, 7 0 not Jea=ITd@H 1/1 that of dissimilar category.

And there is a logic— that endowed with quality is connected with that which has quality, that of
dissimilar category is not connected with that of dissimilar category.

Shvetashvatara says?ElT&'ﬁ <l hh: ﬁl‘jﬂ%l

m:(\(‘.(\n&\. AN PN o ﬂ\ . by o PR |

1d: 0 therefore fR]Ui 1/1 that without quality fafd=1§ 1/1 that without distinguishing factor qaferesei 1/1
without any unique characteristics F4d.0 - 34 0 with anything Jgea=idad 3/1 with that of different
category HE_?TPI I11/1 is connected 8dd 1/1 this idea ~AMEia%s 1/1 opposed to reasoning Wad I11/1 would
be.

Therefore, the idea “that (self) without quality, distinguishing factor, unique characteristics is connected

with anything of different category” would be opposed to reasoning (given above).

T, IR e oRIcHT SRicadeel: Taalag ofch: Resafd, e |

T 5/1 therefore McNgasTE®YAId: 1/1 that which is light of the nature of consciousness,
permanent, unbroken STIcHT 1/1 self s&11/1 brahman a1 /1 thus 3/9H 1/1 this 1 1 /1 meaning
Hﬁﬁh@%ﬁ 755/1 when understood as illuminatorship of all thoughts 3lcH«: 6/1 of the self fraAfa 111/1 is
established, 9 0 not 3141 0 otherwise.

Therefore, the self which is light of the nature of permanent undivided consciousness is brahman; this
meaning is established when status of being the illuminator is understood for the self, not otherwise.

So @M is neither a doership or property of the self, but only illumined by the self.

oSN oo

T “Sfqarafaied g9’ 3fd IerareaTd TEEisEhT: |

T 5/1 therefore ‘Sfcamaidd Fad’ 3id 0 thus JAEAREE: 1/1 as explained W 0 alone @i 1/1 meaning
ST 3/3 by us.

Therefore the meaning of “brahman known in each and every thought is rightly understood”, is only as

explained by us.
TG TGN TG caed aRearel qudd, T Wald aifehe ATl JEaIEe e 3e TReEBeTHAIHT diiid

33

Vaisheshikas accept 24 qualities.
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GHIEN: —

(Another Ekadeshi’s view) @ 1/1 which interpretation 9: 0 again T&a@dl 1/1 status of being known/
knowable by itself SfciMIGe& 6,/1 - I 6/1 of this sentence el 1/1 meaning TUGd I01/1 is
described, @ 0 in that interpretation ¥afd I11/1 is HIAM®EH 1/1/ HdMHe 7SS/1 when status of being
with adjunct is accepted TcHA: 6/1 of the self FEUIRE®YEd (KD, 116BV) 3ad/H/1 based on the self
which is of the nature of adjunct in the form of intellect ¥ 2/1 division 9R®e™ 0 having imagined
"$THAT 3 /1 by oneself ST 1/1 oneself a1 I11/1 one knows” 3fd 0 thus &@&R: 1/1 transaction—
Again which interpretation of this sentence is described thus: “status of being knowing by itself”, in that
Interpretation, there is the transaction thus: “one knows oneself by oneself”, when the status of the self
being with adjunct is accepted, based on the self which is of the nature of adjunct in the form of intellect.
Another THazN view is: TicaTEe S 3T f[afdd the self of the nature of consciousness is known by
consciousness.

U1 T3 AT, 01 391 ATt | If the statement is interpreted this way, then there would be ﬂﬁiﬂ?ﬁﬁfl‘fk |
The same agent of the action cannot be the object of the action. Else the mantra would be talking of

HraTieeReal, not fETHEET wherein the HIERETAT would know the THTe / FRERTATHTI

‘AT T2 (3. 3. ¥-8-R3) ETIHAIHATH 9c o JEEITH’ (M. 3. 20-24) 3fd |

AT T AT TR (. 3. $-9-]3) “TIIH TG ATHAT AT e o TEEH’ (M. 3. 20-24) 3fdl |

“Br. Up.4.4.23: one sees oneself in oneself”, “BG 10.15: O Purushottama, you know yourself by yourself

indeed”.

A  RTTreR e Wohed T GEIdl o1 HRTE(d |

d 0 not d 0 whereas TR 6 /1 of the adjunct-free 3HA: 6/1 of the self TFHed 7/1 when status of
being one THITAT 1/1 status of knowing itself T 1/1 status of being known by others a1 0 or
grREfa II1/1 is possible.

Whereas when status of the adjunct-free self is being one, status of knowing itself or status of being

known by others is not possible.

G AE® I aeaT-adeT = & TRTF, T SRR TRIRI-IUeTET § §RTE: dgd. |
o HdIAEEYIA 5H /1 because of being of the nature of knowledge/ consciousness egar=aaen F1/1

expectation of being known by other ¥ 0 and 7 0 not =T I11/1 is possible, T 0 just as THERE 6/1 for
the light SERETFAUYETET: 6/1 of expectation of another light/ revealer A 0 not ®a: 1/1 possibility T&d.0
like that.
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And because of being of the nature of consciousness, expectation of being known by other is not

possible, just as there is no possibility of expectation of another light for the light.

In Vedanta though, the THHRIGH is explained as follows:

°  ZAUYERTE Hid TRRMME @a9RREIEH, | The shining of the self without being illumined by something
else is called being self-evident. There is no FI¥aESEMME, the self is not subject and object like it is
with Ekadeshis.

° U Hid FFHTERANTE@H says Chitsukhi. The self being fit to be available for immediate

transaction of “I am”, while being objectifiable by any means of knowledge.

ArETE TR J HUERE FRicHhe o e &1 ;

[N

(Buddhist view) atgd&l 7/1 - @&a@am@t F7/1 in Buddhist self-knowing g 0 whereas &UMgR (5TP, TB)
1/1 momentariness e icA®dd 1/ 1 status of being bereft of the self ¥ 0 and s =1 6/1 of the
consciousness ¥d III/1 would be;

Since Buddhists don't accept Vedas as the means of knowledge, the only possibility with there is
@Il for them, is by 9cG&H | However, aﬁqﬂ"{@ ‘1@?\' TI&UT | With the direct means, only the
present can be known. The previous consciousness cannot be perceived by the current consciousness.
TR is the type of knowledge by which one recognizes/ recollect knows own presence in different
states, that is the waker knows oneself as the dreamer. This wouldn’t be possible in the Buddhist
momentariness. (Ref: Br. Su. 2.2.25, 2.2.31)

Whereas, in Buddhist self-knowing, there would be momentariness of consciousness and the status of

consciousness being bereft of the self.

fa LN o S NN N NI

‘A B REdRsaieaRa N REs R (3. 3. -3-10) ‘Ficd fon] Havad’ (4, 3. ¢-2-8) ‘@ 91 06 F&Md

SMATUSHUSTAISHA:” (T, 3. 9-¥-34) IATAT: JAdT TN |

‘40 not f& 0 indeed F=1G: 6/1 of the knower S=Td: 6/1 of knowerness fAR&M: 1/1 loss fa&d I11/1 is

(not) there AfIRIET 5H /1 due to being indestructible’ (3. 3. 8-3-2°) ‘e 1/1 permanent fa 1/1 -
T 1/1 all-pervasive’ (g, 3. ¢-2-8) “A: 1/1 that 3 0 indeed W§: 1/1 this #& 1/1 great 31 1/1 unborn

STTHT 1 /1 self ISR 1/1 decavless 3HL: 1/1 deathless 81Hd: 1/1 immortal 3¥49: 1/1 free from fear’ (3. 3. ¥-

¥-34) FATT: these, etc 34 1/3 Shrutis AETE I11/1 would be opposed.

The Shrutis such as “Br. Up. 4.3.30: The destruction of the knowerness of the knower is not there,
because of being indestructible”, “Mu. Up. 1.1.6: that all-pervasive self is permanent”, “Br. Up. 4.4.25:
this self is that great, decayless, deathless, immortal, free from fear”, etc would be opposed.

Bhashyakara is not directly talking to Buddhists here, which is why he quotes Shruti.
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oS Y [aN o\ NN

FeqH: HfcaTaRieas (i aa: Sfard: 991 Gaed 3o TReheadied, SHER Sier 2w ;

e Td1/1 which view IA: 0 again Yfdama=egd 3/1 by the word fafdfr: 1/1 causeless a: 1/1 knowledge
=Yfaard: 1/1 9910 just as Fa& 6/1 for one who is asleep 3?&95 2/1 this meaning IR fed 111/1 imagine,
TFEEH 2/1 knowledge occurring once =Hf@md: 1/1 gfd 0 thus R 1/1 some;

e Again, in which view, JId@4 is causeless knowledge, just as there is causeless knowledge (happiness/
darkness, efc, perhaps) for one who is asleep. Some imagine this meaning: knowledge occurring once is
gicra |

e Some say that it is to be understood as either by I or intuition, which is knowledge without cause.

(o a\VaN

fefiifH: | SFaragal Yiaan W@ i &: |
o fAfAfm: 1/1 without basis @FRR: 1/1 with basis TFEEaT 0 happening once or many times fc@rd: 1/1
thought W 0 alone f& 0 indeed |: 1/1 that.

o (Whether) it is without basis, or with basis, happening once or many times, that indeed is thought alone.

e We are interested in the brahman known in each thought, not in the thought.

. oﬁra% o ha \q\ oS oS [aN oY oS oo haN
AAHARTITE: |

o ITAEH (MTE ) 2/1 immortality =3THRUMTE (116/7BV, TB) 1/1 status of being free from death (all
limitations) =& 7/1 in one's own self 3@ 2/1 abidance =Hi& 2/1 freedom & 0 =a&1d.5/1
because fa==d I11/1 =¥d III/1 one attains J=Hd 5H /1 - Sfaarard 5H/1 due to the knowledge as
mentioned/ described =Sfcamfafedict®d (7TP, 116BV) 5H/1 due to the knowledge in the form of
knowing brahman in each and every cognition, @HId 5/1 therefore "gfqardfafedd. 1/1 brahman
understood in each cognition T 0 alone #G 1/1 right understanding” EREE: 1/1 this is the idea.

e Since one attains immortality, status of being free from death, abidance in one's own self, moksha, due
to the knowledge as described, in the form of knowing brahman in each and every cognition, therefore,
brahman understood (as oneself) in each cognition alone is the right understanding; this is the idea.

e The logic used is:
> This knowledge is right knowledge
> Because this knowledge gives immortality
> And only right knowledge gives immortality, just as the right medicine cures the disease.

*  The right medicine is that which is in keeping with the constituents of the person, similarly the

right knowledge is that which is about one’s inner-self.
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> Therefore, this knowledge is the right knowledge.

T & T eATI e 9 Havide &g |

A 6/1 of knowledge f& 0 because TETIHIIES / TERTHISAE 1/1 status of being connected to (one's
own) inner-self ¥ 0 and Ad9.1/1 right knowledge Hdd 7/1 w.r.t. immortality &J: 1/1 cause.
And because of the status of knowledge being connected to (one's own) inner-self, right knowledge is

the cause w.r.t. immortality.

A TS ARG A HaTd |

90 not f& 0 indeed : 6/1 for the self IcHEH 1/1 status of becoming/ attaining non-self ¥de 1/1
immortality Ward 111 /1 is.

Indeed status of the self attaining non-self (anything other than the selt) is not immortality.

This answers the question: Why immortality is attained only by knowledge? Why not say that
immortality is attained by one's (who is non-self) attaining Vishnu in Vaikuntha, etc? It will then be one

of the four possibilities of Eb'fl%, namely 91, which will be limited.

[a N a\YaN ha

HTHARIHAISHAE FefeHTe |

AMHAGT 5H /1 due to the status of the self 3HA: 6/1 of the self 3dd 1/1 immortality/ free from all
limitations ﬁﬁﬁ?ﬁ"{l /1 without any cause %9 0 itself.

The immortality of the self is without any cause, due to the status of the self itself being free from all
limitations.

T is giving up one’s own immortal nature and identifying with the mortal non-self. Although it is
faedeE it appears as HATAEH |

Everything tends towards its own inherent nature, so everyone tend towards limitlessness.

qa._ < = o r\r\:|

T4 0 in this manner ﬂ?ﬁ?@l‘q\l /1 mortality 3TcH: 6/1 of the self 9d 1/1 which @ F3H /1 due to
ignorance SATHEYaqra: F1/1 attainment of the status of non-self.
In this manner/ Similarly, mortality of the self, which is due to ignorance, is attainment of the status of

being non-self for the self.

% G AT faead godd e —

%% 0 how F: 0 again A1 F3ad /1 as mentioned @™ F3/1 through knowledge of the self 3fde
2/1 immortality fa==d 111/1 one attains §3d: 0 therefore 318 I11/1 says—
Again, how does one attain immortality through self-knowledge as mentioned? (Since this could be the

question,) therefore, says Shruti—
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AT T &4 fargd S¥d 91 a9 |meay |

AT 3IB/H /1 =4 3/1 - &40 3/1 due to one's own nature [&=2d III/1 =3¥d I1I/1 one attains 3']_?5 2/1
=% 2/1 strength —ae=EH 2/1 capability.

Due to one’s own (immortal) nature, one attains strength, capability (to conquer mortality).

TR A E N e 41 7 A Tcar T eIgH, e had ;

Wﬂaﬁm 1/1 born of wealth, assistants, mantra, medicine, austerity and yoga 1 /1
strength H942/1deathd0 - IR 111/1 is not capable aqﬁw%?ﬁo to overpower, mﬁﬂWSH /1
due to being born from impermanent thing;

The strength born of wealth, assistants, mantra, medicine, austerity and yoga is not capable to

overpower death, due to (strength) being born from impermanent thing.

o .ﬂﬁ(‘ AN N \, SN \S o ﬂc aﬁqaﬁﬂ = o0 |

Wﬁﬂ% 1/1 born through self-knowledge g 0 whereas é\ﬁ"[l /1 strength STTHAT 3/1 due to the self
0 alone fa=d 111 /1 one attains, @ 0 not 3=+ 3/1 due to any other source ¥Id: 0 therefore =TAIHTIAATd,
(116BV =31 €ra+ I&4 T I 98 | | AT | JE 1) 5H/1 due to not having something else as the
source SRR 6/1 for the strength of self-knowledgedd 2/1 that % 0 alone 4/ 2/1 strength 94
2/1 death 2RI 111 /1 is capable aqﬁw%@{o to overpower.

Whereas one attains the strength born through self-knowledge due to the self alone, not due fo any
other source. Therefore, due to not having some other source for the strength of self-knowledge, that

strength alone is capable to overpower death.

T T JHTTE faad, o1 e STTeHTead g sHa, smded |

gd: 0 since ¥dH 0 this is so =3TI?H1%|€I'|§H 1/1 born of self-knowledge a'ﬁ'lil /1 strength ATHAT 3 /1 through
the self T 0 alone fa=d I1I/1 attains, 31d: 0 therefore =1 F3/1 through knowledge =3TcH{aw=a1 (116BV)
F3/1 through that which is about the self fa=d I1I/1 one attains SHdH 2/1 immortal =={da¥{ 2/1
immortality.

Since this is so, one attains strength born of self-knowledge is through the self alone, therefore one

attains immortality through the knowledge about the self.

“AHICH] SR F:” (. 3. 3-2-3) A |

“d I STHT IS H4: this self is not attainable by one devoid of strength’ (4. 3. 3-2-¥) Wﬂ&‘ﬁ 7/1

thus in Atharvana Upanishad.
1t is said “this self is not attainable by one who is devoid of strength” in Atharvana/ Mundaka

Upanishad.
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=0 S

¥d: THHT &q; A & faegd T |l
e  3d: 0 therefore (since the strength to overpower death is only due to the self) qud: 1/1 capable &g: 1/1
reason "3¥dw 2/1 immortality f& 0 because fa==d I11/1 attains” &fd 0 thus.
e Therefore, the reason “because one attains immortality” is capable (to establish FIdaIdIdlqd Haq, that
brahman/ consciousness known in every cognition as oneself is the right knowledge) .
. gﬂa Jq9IGH establishing the reason as reason.
e Maniprabha explains last two quarters in a simpler manner so: 3TcHl TR FET 6 94 fameq, wifeen
frrgfoeRTut 19w, R siga™ fied One attains strength of knowledge by the purification of the mind and
by knowledge one attains immortality. 112.4 1l
FE T GBI SR g TR SR GEs TR |
e ®E1/1 miserable/ pitiable @g 0 indeed ﬁ'{ﬂﬂ%ﬁaﬁﬂﬂ";{ﬁ 7/3 in devas, humans, animals, ghosts, etc
H’H’I’@Fﬁ@%ﬁ (KD/ 6TP, 117BV) 7/3 in those in which there is abundance of pain of bondage Qﬁﬁmﬂ
7/3 in multitude of living beings TSHURRTIICEST: 1/1 attainment of birth, old age, death, disease,
separation, etc I 5H /1 due to ignorance.
e Due fo ignorance, it is pitiable that there is attainment of birth, old age, death, disease, separation, efc, in
(bodlies of) multitude of living beings, such as devas, humans, animals, ghosts, etc, where there is

abundance of pain of bondage.

e  37d: 0 therefore

o (Since there is bondage due fo ignorance) therefore—

3 JqIGIe RN A JfEragRd ot |
Y Y Ffe R ST IRTeHa Fated 1| R4 )

e 320 here ¥d 0 if a4, (EREEET &) 111/1 one were to know 319 0 then &@H.1/1 meaningfulness s
I11/1 is there 91 0 not ¥d.0 if 3& 0 here 3&<Id 111/ 1 one were to know H&dl F1/1 great fa=t®: F1/1 loss/
destruction ¥dY 7/3 - ¥ 7/3 in all living beings faf=e 0 having discovered 9I: 1/3 discriminative
people 40 having gone beyond 3®HId 5/1 - S 5/1 from this world 3[A: 1/3 immortal aied 111/3
they become. 1l .4 |l

o 37 99 37351 GTH I T8 T 7 STAFIq HEA 13T S | €RT: YAY HAY [ STHIG FIFTT I STGAT 7l |

e  [fone were to know (brahman) here, then there is meaningfulness; if one were not to know (brahman),

there is a great loss. The discriminative people become immortal, having discovered (brahman/

oneself) in all living beings, (and) having gone beyond this world.
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%8 T N AHIS R T T A ST T Teiihosiu fafdeT aeivhe SR,
e &0 here W 0 itself 99 0 if =Hd™: 1/1 human being Blﬁi@_cl : 1/1 qualified ga: 1 /1 capable §11/1 being
gz 0 if S 111/ 1 were to know 3T 2/1 self FUeS&0 (116BV) 2/1 of the nature mentioned fafedam,
1/1 one has understood % 3ad /1 -F&NTT *3ad /1 in the manner described,
o  Here itselt, if a qualified human being, being capable, were to know the self of the nature mentioned, if
one has understood in the manner described (as oneself),
319 AT AN Tl AT NGRS S a1 Tl a1 STl a1 & ferrd |
e Y0 =dql 0 then AR I11/1 is there @ 1/1 =AgESH 7/1 - 3IRFA.7/1 in this human birth =R 1/1
non-destruction (not dying again and again) e F1/1 meaningfulness a1 0 or &g&: * (6TP) 1/1
glory/ goodness a1 0 or QU F1 /1 being absolute reality 910 or =9 1/1 f[G=d 111 /1 is there.
o Then, there is non-destruction, or meaningtulness, or glory, or being one with absolute reality in this

‘human birth.

A AfETEiEa, 7 = g8 S St STad A e, e Fadt G St faafe: R SRR aesam
HEGT: |

e "H0 0O G /1" ZM 0 this part of the mantra is being commented upon, A0 =d 0 & 0 ==a.1/1
while living ¥ 0 if 3d: 1/1 qualified TEE I11/1 = 0 @@ 1/1 one did not understand, a&T 0
then H&dl F1/1 =‘<ﬁﬂ% F1/1 long time A<=l F1/1 unlimited faaf®: F1/1 =faam= 1/1 loss/ destruction
=SS =33@&0T F1/1 that characterized by perpetuation of series of birth, old age, death,
disease, etc (humiliation, separation) §HRTd: F1/1 course of bondage.

o Ifwhile living, a qualified did not understand, then there is unlimited destruction for a long time,
course of bondage characterized by perpetuation of series of birth, old age, death, disease, etc
(humiliation, separation).

TEHTEE TUIEIS IS STRIO: ¥y ¥y TRy TRy =Ry = ThHTcHa sl fafe et anefiee S dee: Se g
RN RIS AT I, ST TalcHEITIHEHTI=: Tl STHAT Mafed said Wawiicad: |

34 SIS as oneself.

35  EgE: 9ngdE: S |
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o T 5/1 therefore W 0 in this manner IR *2,/2 advantages and disadvantages fasi=d: 1/3 those
who know well sT&IUT: 1/3 Brahmanas ﬁﬂ 7/3 1@ 7/3 =Fﬁc'*{c\i§ 7/3 in all living beings =P¢TI7:|\T§ 7/3in
non-moving =g 7/3 in non-moving ¥ 0 and WA 2/1 one e 2/1 reality of the self =3&1 2/1
brahman &R 0 =fegm™@ 0 having known ®i&lchcd 0 having made direct/ immediate knowledge 9 1/3
={i"=a: 1/3 those endowed with discriminative intellect ¥4 0 =AM 0 having withdrawn

AHIETESUTE 75/1 from that which is in the form of notion of I and mine 3T 5/1 from that

which is in the form/ product of ignorance =31&1d 5/1 - 3®d 5/1 from this world 39 0 having
withdrawn Hﬂﬁ?a@-'lla'l{(éTP, Tl 3TTcHTH) 2/1 oneness of self of all 3@8‘*{(%‘% T 7T, fgaH. | fgae
HE: gdH. | i?i‘l:[?l fraa aﬁn&aﬁ?ﬂ 1) 2/1 non-dual 379 1/3 those who have attained |«: 1/3

being $F: 1/3 immortal ¥afed I11/3 become & 1/1 brahman T 0 itself Wafed I11/3 @9 1/1 this is the
meaning.

e Therefore, in this manner, Brahmanas who know the advantages (of knowing) and disadvantages (of
not knowing) very well, having directly known the one reality of the self, brahman, in all moving and
non-moving living beings, those endowed with discriminative intellect, having withdrawn from this
world which is in the form of ignorance-born notion of I and mine, being those who have attained non-
dual oneness with everyone, become immortal; they become brahman itself, this is the meaning.

e The knowledge is seemingly in 3 stages:
> Tam different from this BMSC by Tezafaa |
> lamin everyone by ﬁa@ ai\\Tqﬂ"\JWHH |
> Tam everyone/ everything by WA /IR A== |

‘| 1 & 3 qo F&l 9 Feid WAl (4, 3. 3--%) 3 3 1

e Q:1/1hed:1/1onewho®0 3 0 indeed dd2/1 that W 2/1 highest si& 2 /1 brahman 42 I11/1 knows 5=
1/1 brahman W 0 itself ¥afd 111 /1 becomes’ (9.3.3-3-R) g0 - %F\'I: 5H/1 due to this Shruti statement.

e Due to this Shruti statement "One who knows brahman, indeed becomes brahman” I12.51

36 JEAE IOI: A I |
37 kel HEHR: It 21 A6 Fdedl THER: =g HaS %A mineness is to be given up; if its not possible to give up the same,

the notion of mine should be had w.r.t. everything/ everyone.
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Summary of Chapter 2:

2.1 The teacher tells the disciple:

o

If you consider you know brahman very well, you know only the limited form of brahman, not the

formless. In that case, you need to think more. After thinking, the disciple says “I know”.

2.2 The disciple says:

o

1 do not think that I know brahman well (as an object), its not that I do not know, I know and I don’t
know.
One who knows that statement “its not that I do not know, I know and I don’t know” knows that

brahman.

2.3 Shruti says:

o

24

for one whom brahman is not objectified, he knows, for one whom brahman is objectified, he
doesn’t know, because it is not known as an object for those who know correctly and known as an

object for those who do not know correctly.

When brahman is understood in every thought as consciousness, as oneself, then that knowledge is
correct knowledge, because one attains immortality.

One attains the strength of self-knowledge to overpower death due to the self alone, therefore, one
attains immortality through self-knowledge. This strength, although belonging to the self, cannot be
drawn directly, but only through self-knowledge.

The 2 quarter is the reason for 1" quarter and the 3 quarter is the cause for the 4" quarter.

The 4" quarter is 8g7d FT9IGF, which explains why 2" quarter is the reason for I** quarter. That is,
since one attains immortality only through self-knowledge, therefore brahman understood as
consciousness in each and every cognition is the right knowledge.

1t is a HEEFIF because it says that consciousness is present in every thought as consciousness, which
is the illuminator of every thought. This is W&%‘IFQW by 177%3?&7, while 197%77-1 is FIHE’W?%FW and
due to their being in IHIAERTTY it becomes a HETATHRH|

2.5: If one understands the self, there is meaningfulness of life, else there is a great loss. Those who know

the self in everyone, they become immortal having withdrawn from this world.
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&1 & 3 fafewd |

ST Al SRS (. 3. R-3) SN IR dlggid SHIUI: Telid dfasid TR HaEEsH |

“feTd ATl fETeH e |da™ not known to those who know and known to those who don't know” (. 3.

R-3) AT 5H/ 1 due to this Shruti statement, etc ¥d.1/1 which 3% I11/1 is there dd.1/1 that fe=id
1/1 is known SHTG: 3/3 through the right means of knowledge #d 1/1 which A0 - @& I11/1 is not there
dd 1/1 that G 1/1 is not known RIS 1/1 like imagine rabbit's horns 3cd=<H2/1 completely
W 0 indeed 3T8d 1/1 non-existent T¥H 1/1 seen.

1t is seen that that which is there is known with the help of right means of knowledge, (while), that

which is not there is not known, indeed completely non-existent like rabbit’s horns.

AU TR ] Aeagaiei SATHEl AT qfafd TeamMeaTeH ST |

a1 0 similarly g< 1/1 this 5& 1/1 brahman 1<=daTd 5H/1 because of not being known 3®d 1/1 non-
existent 99 0 indeed 3fd 0 thus qﬁﬂ@?ﬂ 6/3 of slow-learners/ dull-witted ZE: 1/1 misconception/
delusion |10 - ¥ I11/1 let it not be gfd 0 therefore Hﬁﬂ% F1/1 for that purpose 4H F1/1 this STREATIRIRT
F1/1 story 3Td I11/1 is started.

Similarly, “this brahman is indeed non-existent, because of not being known”, let such a misconception

of dull-witted not be there, with such intention, w.r.t. purpose, this story is started.

A & T FAERNT SRR ATH SR 33, SR OO, 3Re:, St SR, ST TR

dd 1/1 that @ 0 alone & 0 indeed & 1/1 brahman TR 3/1 through all angles 92%&q] 1/1 director
@M 6/3 of all gods =4 0 even T 1/1 highest §a: 1/1 god, ST 6,/3 among all rulers 3 0 even
QT 1/1 highest ruler, gﬁéﬁ:: 1/1 difficult to be known, 34t 6/3 of devas Fﬁ’?@ﬂ: 1/1 cause for victory,
ST 6/3 of asuras WISEEd;: 1/1 cause for defeat;

Indeed, that brahman alone is the director through all angles, god of all even gods, highest ruler of even

all rulers, difficult to be known, cause for victory of devas and cause for defeat of asuras

dchel AR TSR el S T2awd |

dd 1/1 therefore "& 0 how 0 - 3R 111 /1 is not there!” §fd 0 thus W& 6/1 - SBo| 6/1 of this meaning
IFST 1/3 conveyers f& 0 because ITM 1/3 answers T=iE 1/3 statements TZa= 111/3 are seen.

Therefore “how is brahman not there/ existing?” because answer-statements which are conveyers of

this meaning are seen.
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AT SR T |
e ¥ or SN F6 /1 of the knowledge of brahman lﬁ?-l'a 4/1 for glorification.
e Or for glorification of the knowledge of brahman.
FYH? TR, STEATEAl a1 ATl g SWy: |
e  FIH( how ? SR 5H/1 due to knowledge of brahman f& 0 because r=AEET Agni, etc & 1/3 gods
da=i 6/3 among gods A9 2/1 exalted status S 111/3 attained.
o How? Because due to the knowledge of brahman, Agni, Vayu, etc, attained exalted status among gods.
AN SATATUHE el |
o  @d: 05 compared to them 3 0 even il 0ad extremely &%: 1/1 Indra 3fd 0 thus.
e Thus, even compared to them, Indra (attained) extremely (exalted status).
T gRY TRideEEdd —
e HAYAT(Qor ”'gﬁg\lﬁ 2/1 difficult to know =& 1/1 brahman” §fd 0 thus Tad.1/1 this ‘Eﬂiﬁ II1/1 is shown —
o Or “brahman is ditficult to know” is shown—
FATAGAIS TS T 3R S ffdaaaead sl RIS & |
e IA3H/1 because of which 3EaEE: 1/3 Agni, etc SfraeE: 1/3 very brilliant 1M 0 even though FA3/1
with great difficulty @ 0 only & 2/1 brahman f&fgda=: 1/3 understood @ 0 similarly ¥%: 1/1 Indra
@M 6/3 among gods 3% 1/1 ruler 3 0 even §41/1 being 3fd 0 thus.
e Because of which (knowledge being difficult), Agni, etc, even though very brilliant, understood
brahman only with great difficulty; similarly, Indra too, even though being the ruler of gods
(understood brahman with great difficulty).

AN N N o NS

TR I & |
o TEIHUNYSERW 1/1 committed to instruction about Upasana (=Upanishad =secret) going to be told & 0
or FlT:l'Fll /1 entire story/ content.
e Or the entire story is committed to the instruction of Upasana going to be told (after mantra 3.3).

e This 4™ reason is the main purpose of the story as per Anandagiri among the five reason given by

Bhashyakara.
o oS o . < > o \_l(_\q_\\ < 9JCE|T o ,qq_l_\ . o (\r\l

o SRICEANEHT 3ad /1 as opposed to knowledge of brahman Ui 6/3 of living beings FIPIHATARTIA:
1/1 notion of doership, experiencership, causing to do, etc #1281 F1/1 false/ improper g 0 thus Tqd.2/1

this gaiF19 2/1 for the purpose of showing aT 0 or &R F1/1 story, a1 0 just as g1 6/3 of gods
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HSH

SEEREE: 1/1 doership in victory, etc dgd 0 like that gfd 0 thus.
Or the story is for the purpose of showing “notion of doership, experiencership, causing to do, etc, as

opposed to knowledge of brahman, of all living beings is false/ improper”, just as doership in victory,
etc of gods.

Five reasons given are:

o Sgul: Cﬂﬁ?k_vﬂbrahman exists

- wgEUy, glorification of knowledge

- gz difficult to know

° B‘qlﬂ?lT?j'Fl\Upasana

> WeERME: to show idea of doership, etc, is improper

I & T (Ao o & Sl faeidl 31 STHETa o N RerTRHaTe feeal SERHET At Il 3.2 1

%@ 1/1 brahman & 0 indeed g3 6/3 for the gods R (FA+f+f521) I11/1 won @& 6/1 of that & 0
indeed &U: 6/1 of brahman &8 7/1 w.r.t. that victory 3 1/3 gods SR (B¢) 111/3 were glorified
d1/3 they &= I11/3 they thought "$FHTEH 6/3 ours T 0 only & 1/1 this fasf: 1/1 victory TEHTEHH 6/3
ours @ 0 alone ¥/ 1/1 this ARGHI M1/1 glory” 3fd 0 thus. Il 2.2

TR & ZIH: [A1T | T & AR [A579 3T: SFEiae| " SRHAHEH T 37 [A57: STHIFH T ST [HIeAT " 3T 7 Qi |
Indeed brahman won for the gods. They were glorified w.r.t. that victory of brahman, indeed. They

thought thus “this victory is only ours, this glory is only ours”.

R TR N & fohes aenaise fafowd) o1 @eaaq

& 1/1 brahman &R0 2ad /1 as described W 1/1 highest & 0 =% 0 indeed 23¥3: 6/3 for gods 9™
4/1 for the purpose of devas faFa 11/1 ==9 2/1 victory &=49d N1/1 attained

Indeed, highest brahman as described, attained victory for the purpose of devas.

AT = T ST SFTEUAIRHgHT, (typo) SERal ST dches = TE=geiid: T |

AEH6/3 - G 6/3 - 9 0 between devas and asuras GO 7/1 in the battle YU 2 /3 asuras S o
having conquered SFTEUH (TFd: T g1 3fd| A TAA: $Wh: | 6TP) 2/3 enemies of the world é’ﬂ'@?ﬁﬂi
2HGV/3 / é’&l’@@ﬁ?ﬁviolators of (dharma) bounds of Ishvara 3RT: 4/3 to the gods SE2/1 victory R
2/1 its result ¥ 0 and I&=3d 111/1 He gave SWIA: 6/1 of the world S} (I KIC] Eﬁﬁﬁ) 4/1 for the
stability.

Having conquered asuras, enemies of the world, due to being violators of bounds of Ishvara, in the
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NI
battle between devas and asuras, He gave victory and its result for the stability of the world.
T & fohes TRV FoIoTdl A STPATG: STEwd AfEHT Jaawd: |
o TE6/1 of that 8 0 = 7 0 indeed F&IW: 6/1 of brahman fast 7S5/VS/1 w.r.t. victory gaT: 1/3 gods
=3819: 1/3 Agni, etc SHEE (A M +IH+3¢) 111/3 =qfgA= M2/1 glory uma=d: 1/3 they attained.
e Those gods, Agni, efc, attained glory, w.r.t. the victory of brahman indeed.

T SATCHECIE TN 2% Ha5ed Galhahoaaisig: ST earh: swid: Rafd Rt o s At Scast=m: d

3T Ve ST ST TR eI SRR fed: SEHTRHaTE Afe iERasaesenn

ARSI ST ARSI oA 3 |

e T 0 then "STTcHERI (UTP=3TI?H'I%I Ergetory 1%[81%{) 6/1 of one staying in the body IcHTHA: 6/1 of the

inner-self 3%& 6 /1 of Ishvara FF:Q@F:I 6/1 of all-knowing/ omniscient H&Pml%"ﬂﬁlﬁﬁﬂ 6/1 of the
connector of results of all activities (with their agents) TIOTET 6/3 of living beings HaRh: (116BV) 6/1 of
one having all the power SUTd: 6/1 of the world Refd 2/1 maintenance fret: 6 /1 of desirous of doing
3 1/1 this S™: 1/1 victory ARAT1/1 glory @0 and" 2fd 0 this 3T=: 1/3 not knowing d1/3 they =3
1/3 devas ¥ I11/3 saw =3fatdaed: 1/3 thought "STATFIEIIR e a: (BV, KD, 3TP, [KD], 3TP) 1/1
accomplished by the limited self in the form of Agni, etc S 6/3 ours W@ 0 alone 1@ 1/1 this &/:
1/1 victory SEHIEH 6/3 ours T 0 alone 37 1/1 this ARHAI M1/1 glory" sifHaRasatiesa: (BV, TB, BV)

1/1 in the form of status of Agni, Vayu, Indra, etc STHSd: (STFRSE d: TH: / STERSEY:) 1/1 in the form
of result of victory TR 3/3 by us I I11/3 is experienced A 0 not IFEASETHIEA: (6TP, KD,
YA 9m:, KD, 3TP) 1/1 accomplished by Ishvara who is the inner essence of all of us” 3fd 0 thus.

e Then, not knowing this: “this victory and glory is of omniscient, omnipotent Ishvara, inner-self staying
in the body, connector of result of all activities of living beings, desirous of maintenance of the world”,
they thought thus: "this victory, accomplished by the limited self in the form of Agni, etc, is experienced
by us, is ours alone, this glory in the form of status of Agni, Vayu, Indra, efc, in the form of result of
victory, is ours alone, not accomplished by Ishvara who is the inner essence of all of us”. 113.11/

el forsTeit il & TIgehgd o AT e i 13, R 0

e dd2/1 that Wi 6/3 of these I%EET\T (1%»{) II1/1 came to know a&: 4/3 to them & 0 indeed Fﬂ?ﬁl‘*{q’ /1
manifested dd 2/1 that brahman 9 0 - ST (&¢) 111/3 they did not know "fFH.0 what 3¢ 1/1 this T&9
N1/1 adorable/Yaksha?” g 0 thus. 1. R I

o & F: & TGEHEI 53 T 139 517 Aq A 7 FATA
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e  (Ishvara/ brahman) came to know that (pride) of these (devas). Indeed to them, brahman manifested.
They did not know that “what is that adorable form?” thus (they wondered).
e This mantra shows that Vedas also have 3ddRdIq |
HSH
 freTTEEEl dd & e T reierol foretit femraega |
e T in this manner fEATHMETEGT (KD) 6/3 of those endowed with notion of false pride @d2/1 that
brahman & 0 =% 0 indeed =T8I 6/3 of these devas fHeA&Ui 2/1 wrong notion l%l_?ﬁﬂi III/1 came to know
=f=aad N1/1 was endowed with knowledge & 1/1 brahman/ Ishvara.
e Indeed, that brahman/ Ishvara, was endowed with knowledge, came to know the false notion of these

devas, endowed with notion of false pride.

ﬁfi‘{a ]% aa\ < Y
° Fﬁfiﬁ (6TP) N1/1 seer of everything f& 0 because =ad N1/1 that H&EHRWWSH /1 due to being the

director of organs of all living beings
e  Brahman is the seer because of being the director of organs of all living beings.
¢  This mantra makes the ¥f¥d aspect of &&, while the 1% chapter clarified the ST e s aspect of
ER
A F AT HaTgRasal eI ag R dagareal ST Iaag I ow: §eha: & fhe
AT TG T TR A H AT g [eRATawIE 0T S THeE e = STgehTd TgHaad |
e ddMi6/3 of devas T 0 and FeATE=H 2 /1 false notion I9&F 0 having found "HT 0 not W 0 indeed TG
(ﬁﬁmﬁ NTP) 0 like asuras &a0: 1/3 devas FZRAEE 5H/1 due to false pride wag;: (fe) 111/3 may
(not) get defeated" gfd 0 thus deg¥dl (7TP) F3/1 due to compassion 39 2/3 devas HehMEGHIEAA
(KD, 6TP) 3/1 by the removal of false pride S g M (fafafse) I/1 let me bless” g 0 with this
intention a: 4/3 for them =<&vd: 4/3 for the devas & 0 =f%a 0 indeed —319 4 /1 for the sake of @E
II1/1 manifested mﬁm@mﬁﬁiﬁﬂ (6TP=t=&4 T M, KD /6TP, 3TP) 3/1 through the power of one's
own Maya ?ﬂﬂgﬁ?l 3/1 by an extremely wonderful form foremTaeram (& 4+ e) 3/1 by that
causing wonder/ astonishment QU 3/1 by the form M 6/3 for the devas Zfeg@=N 7/1 within the
range of perception/ senses @E I1/1 manifested :El@i?lﬂ?[ (hdd) N1/1 manifested.
e And having found the false notion of devas, thinking thus “indeed devas may not get defeated like
asuras due to false pride, let me bless devas by the removal of their false pride”, indeed, due to

compassion, for the sake of devas Ishvara manifested within the range of the senses (of devas).

o PRIUIcHERT AT, UM IRTET AT AW due to being a combination of three TUs, Maya is called yoga.
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The shastras say &2: T TH: T ATTHME |

T Tl &1 A A 9 faiaa: 4o Fhf 7a ged Aegatufd |

dd 2/1 that brahman :‘Jﬂ@%i 2/1 manifested & 2/1 brahman 9 0 - A (&) 111/3 did not know d 0
not T 0 definitely fo&faa=d: 1/3 knew &@T: 1/3 devas "fH.0 what ¢ 1/1 this @& N1/1 adorable being =4
N1/1 worship-worthy H&gdH 1/1 great” 30 0 thus.
They definitely did not know that brahman which had appeared, [thinking] thus: “what is that great
worshipworthy being”? 113.21l
AT Tqdg T FRHaqEertd qafd | 3.3 1
d1/3 they =M 2/1 Agni d1ga 111 /3 told Fag: 1S/1 O Jataveda Td 2/1 this =it I1/1 know "F&H.0
what ¥qd 1/1 this &#1.1/1 adorable being” il 0 thus "dT 0 let it be so” g 0 thus (replied Agni). Il 2.3 I
a sifer S1gad, & FIaag: '1HH Tad J&" Sid Taq [dAiE | T sreg "Sid [T STEdd ]/
They told Agni thus: “O Jataveda, know what is this adorable being”. (Agni replied) thus: “let it be s0”.
TRIEATHIEEA FISTARTE! STEREHCAFETAE! a1 SFEREAt | 3.9 1
dd 2/1 that adorable being ™gdd I11/1 approached dH 2/1 Agni ¥dqd I11/1 asked "#%: 1/1 who Chjs)
II/1 are you?" gfd 0 thus "316: 1/1 Agni 3 0 indeed well-known MAH1/11 e I/1 am" Zfd thus ?ﬂﬁﬁﬁﬂ
I11/1 replied "Sdee: 1/1 Jataveda 30 indeed3®H 1/1 1RHA /1 am" 0 thus. || 3.9
ST: T [FEH] TG | [Fe] T[] AT F: ST T | [ 3] ST TH: G e, HEH TG T
AR St AN |
(Agni) approached that adorable being. (Yaksha) asked him (Agni) thus: “who are you”? (He replied)
thus: “I am well-known Agni, I am Jataveda indeed”.
Aty f Safredid o 2ed afee giemffd 1 2y
"qRF.7/1 in that glorious @4 7/1 in you 7 0 what 4 1/1 strength?” 3fd 0 thus "4 0 even 3§ 2/1 this
T4 2/1 all <8 (2% {5 =) 1/1 I can burn 3@ 2/1 this . 2/1 whatever 28 2/1 this IR¥EM F7/1 on the
earth” g 0 thus. 1| T4 1l
R @ A9 3T [T ST ]| 9 7 G A [3q] §F w6 S o @ S [ ST/
(Yaksha asked) thus: “what is the strength in such a glorious you?” (Agni replied) thus: “all this,
whatever is on the earth, I can burn”.
A QUi AT dguSET Haiae el 21 v | dd W fagd Adeamh e dedeeitd 1 2 E 0
T 4/1 for that Agni U1 2/1 a blade of grass ferdt 111/ 1 placed/ gave ¥ 0 indeed "%dd 2/1 this @ 11/1
burn” g 0 thus "dd 2/1 that blade of grass ITE™ (I9+5+30+52) 111/1 approached HISE4 3 /1 with full
speed dd 2/1 that 9 0 - 212 (2R +l%>'¢:) III/1 was not capable 39 0 to burn &: 1/1 he d@d: 05 from that
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Yaksha @ 0 indeed @dd (75 .2.3% 31 3 U:) 11/1 returned "9 0 not Td.2/1 this & (§%) I/1 1 was
capable fa=Tg 0 to know” "ad.1/1 what Tdd.1/1 this & 1/1 adorable being” 3 0 thus. Il 2.5 I

o [ 7] & Ul [ A 78 STl o [F] SR [ STl oA 7 (] 7Y 7 2R @ ad: [Fra]
[7aga @1 "I T e 3 T [T [S7E] 7 SR [ & ST

e Indeed, for that Agni, brahman placed a blade of grass and said “burn this”. Agni approached that blade
of grass speedily. He was not able to burn that. He returned from that Yaksha indeed and said thus: “I

was incapable to know thus— what is this Yaksha?”

HSH
A AT T A AR e T AR SERTHA Siqaqd Gaghedd Fea Iha: |
o d1/3theydd2/1 that adorable being ST<=: 1/3 not knowing 3aT: 1/3 devas | (SBV) 1/3 those
with fear inside dfgfsgmaa: 1/3 desirous of knowing that ARM2/1 to Agni =3I (UTP=3T‘EI T s
31) 2/1 forerunner STAIGH (ST AT A /3G TG/ ST a4 9 61 8:) 2/1 one who knows everything
that is born :Hﬁm (4.3.89 %ﬂg—m‘&ﬁ W@@ﬁ'ﬂ'{z) 2/1 almost omniscient 3sdd I11/3 =3<hd: 1/3
told.

e Not knowing that adorable being, desirous of knowing that, devas with fear inside, those devas told
Agni, who is the forerunner, who knows everything that is born, almost omniscient.
e Here, Bhashyakara says that the mantra presents the idea that ignorance causes fear.
& SIqeq: Teldl FTEHE R e Tt forRival gouea o Feaste el |
o "¥JAMEAE: 1S/1 O Jataveda Tad 2/1 this FEHEEEY (UTP=3FHg=R fd8fd) 2/1 standing within our view &
2/1 adorable being faTite 11/1 =feRiea: 03 specifically §&9& 11/1 know & 1/1 you 7: 6/3 among us
dTEl 1/1 brilliant 1.0 what Tad 1/1 is this &M 1/1 adorable being” g 0 thus.
e “O Jataveda, among us you are brilliant, specifically know this adorable being thus— what is this
Yaksha?”
o oreg 3fa
o "T0 likewise &G I11/1 let it be" g 0 thus (said Agni)
o Agnisaid “let it be so”.
el 87 A e el T |
e dd2/1 that =48 2/1 adorable being 3TRT 0 - 3Tgad 111/1 =i 0 towards that 7Tdd.1/1 went 3181 1/1
Agni.
o Agni went towards that adorable being.
& = e sy qeaHTdS SRR dee™ Shaaed ST Iid STATSd RISTI |
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e ©@2/1him I 0 and @& 2/1 one who had approached Tg=zy (TBH T R.28¢ TR 3:) 2/1 one
desirous of asking T 7/1 in the proximity of that Yaksha 3@t 5H/1 due to being powerless
T (e ¥l STE) 2/1 became quiet ad.1/1 that 9&F1.1/1 Yaksha Saad [11/1 asked @1 2/1 Agni 9fd
0 to ==d III/1 spoke "&: 1/1 who M 11/1 are you?” 2fd 0 thus.
o Yaksha asked him, Agni, who had approached, desirous of asking, due to being powerless in the
proximity of that Yaksha, who had become quiet, thus: “who are you”?
e ST geisT: STerid e SRTHE uRrE ST 2 = ATHEae SRIgAETcHT AT |
e Td(in this manner SEUM 3/1 by Yaksha/ brahman 92: 1/1 one who was asked i 1/1 Agni CECIG
II1/1 replied A 1/1 Agni 32[ 0 well-known = TR 1/1 by name Agni & 1/1 1 9M%E: 1/1 well-known
e 1/1 Jataveda gfd 0 thus 9 0 and A¥ga« 3/1 by two names qagadl F3/1 as well-known STHH 2/1
oneself FEI (¥ 1A FeH +§§1T'I%l ﬁﬁ+§l§) 1/1 praising/ boasting gfd 0 thus.
e Asked in this manner, by brahman in the form of Yaksha, Agni replied boasting oneself as well-known
by two names thus: “I am well known by name Agni and well-known as Jataveda”.
TR SRl e T SRS UTHa i e ame af |
e T 2/1 in this manner IHawd 2/1 (Agni) one who spoke so (as before) & 1/1 brahman Bﬁﬁa(i.&‘ﬁ
qfh... 3G, 9.8.R0 = M) II1/1 told "qRA9 7 /1 in that kind of Agni Td 0 in this manner ‘JI"I%F&"J}THTHH'I% 7/1
in one endowed with well-known qualities a_ﬁ 7/1in you E 0 what Eﬁ_’\’f (a"rﬁw \a: / e o= %l'?\-l) 1/1
heroism/ strength —amEH 1/1 capability?” 3fd 0 thus.
e To Agni who spoke so, Ishvara asked thus: “in such a you, endowed with well-known qualities, what is
the capability?”
Hisad 3¢ ST T qed gl 9d 38 TEat gieam i |
e T:1/1he =EII/1 replied "3 2/1 this 9T 2/1 world &4 2/1 entire @ 1/1 I can burn 3@ 2/1 this =
HFJ'EW% I/11 can turn to ashes @ 2/1 whatever & 2/1 this =¥EWiE 2/1 immovable, etc =M 7/1 on
earth” gfd 0 thus.
e Hereplied thus: “I can burn, turn to ashes, this entire world, whatever is this immovable, etc on earth”.
AT, Tl SRR Fae T |
o 9REAM7/1 on earth 3 0 this IS 1/1 is only for indication, ad: 0 because IREESH 1/1 what is
in the sky MY 0 also g&@d: 1/1 is burnt @ 0 indeed 1% 13 /1 by Agni/ fire.
e “On earth’, this phrase is only indicative, since whatever is in the sky also is burn by fire, indeed.
T TR el gui gt qUsH: Tefudad, |

° @ 4/1 to that TH.0 in this manner 3RMEd 4/1 to one having pride si& 1/1 brahman qui 2/1 blade of
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grass fererelt 111/1 placed X 0 in front S 6/1 of fire Wﬂ’ﬁﬁﬁﬂ(w+ﬁﬁ+?ﬁ§) N1/1 placed.
e For that Agni, having such pride, brahman placed a blade of grass, in front of Agni.
HalcHTEHde 3 |

e SN 3/1 by brahman ‘Tdd 2/1 this =JUM 2/1 just a blade of grass 79 6/1 of me ¥1¥a: 0 in front & 11/1
burn; A 0 not 3.0 if AR 11/1 are Y 0 to burn &F: 1/1 capable, §2 I1/1 give up GFATHAE 2/1 pride of
status of burning (everything) a0 everywhere’ gfd 0 thus I: 1/1 said dd 2/1 that =quiH 2/1 blade of
grass SUEM I11/1 =qUEHId 2/1 near the blade of grass TddM, 1/1 went H&oldd 3/1 =HalcATESH 3/1 with
the speed caused by full enthusiasm =37 3ad /1 speedily.

e [t was said by brahman thus: “burn this blade of grass in front of me. If you are not capable to burn, give
up the pride of the status of burning everything everywhere”. Agni went near the blade of grass
speedily, with the speed caused by full enthusiasm.

Tl dd A 2ARATH ATRIRd GVYH |

e I 0 having gone dd 2/1 that grass 9 0 not 2R% (l%»{) III/1 =40 - 32Rd_ (S¢) 111/1 not capable @IH 0 to
burn.

e Having approached, he was not capable to burn.

q: AT U1 GVIHEIR STedl Sastiag: dd U Jeed ot SaTestic fFiagd feaw: SfovTaard 9 Tad Je7 T2 AaTe g
ferare: Fecraeafd |

e @|:1/1he=Sdar: 1/1 Jataveda qui 2/1 blade of grass @9H 0 to burn 32®: 1/1 incapable Aifed: 1/1
ashamed &aulagl: (116BV) 1/1 one whose proclamation failed @d: 0 - ¥4 0 =3&d 5/1 from Yaksha @ 0
indeed EEJ?I Oad quietly 3a.2/3 devas 9fd 0 towards m (l%l+§?l\+l%>'¢:) II1/1 =ﬁ-|§?l: 1/1 =¥fcFTaa.1/1
returned "9 0 not %dd 2/1 this &H 2/1 Yaksha 31 [/1 =2Fa.1/1 (not) capable 3@ 1/1 1 &= 0 to
know f&&iEa: 0 specifically "9d 1/1 what ¥dd 1/1 this 9&¥ 1/1 adorable being" gfd 0 thus.

o That Jataveda, incapable to burn a blade of grass, whose proclamation failed, being ashamed, returned
from Yaksha quietly towards the devas and said "I was not capable to know this Yaksha specifically
thus— what is this adorable being?” 3.6/l

Y AT AAAGATIE. FRHAEH qfd | 3.0 |

o A0 then aFA2/1 Vayu SFga I11/1 a1 1S/1 O Vayu Tad 2/1 this fasTitE I1/1 know "RH 0 what Tad
1/1 this 9&¥.1/1 Yaksha" g 0 thus "@®1 0 let it be so" & 0 thus. Il 2.9 1

o Y "], [ T FerH S [EAR T [d] g gl 39 E1d [a1g: 3]

e Then, they told Vayu so: “O Vayu, may you find out who this Yaksha is.” Vayu replied “let it be so”.
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AP TG IEAISTN ATGAT SEHEIHTHTIRAT 7T A N 2.¢ )
dd 2/1 that Yaksha 3gad 111 /1 approached @ 2/1 to him 3&dqd I1I/1 said "®: 1/ 1 who M I1/1 are
you?" g 0 thus a: 1/1 Vayu 3 0 indeed 31&H 1/1 1 SRA /1 am 3 0 thus & 111/1 said AR 0 one
who moves in space 3 0 well-known indeed SEH 1/113RA /1 am & 0 thus. 1| 2. |
[T:] T [F5] SPAET | [F] T [ATFH] AT " Sife? E | [F: ATG:] "SI Arg: e, ST AR 3
AR ETF ST |
[Vayu] approached that adorable being. [Yaksha] asked him (Vayu) thus: “who are you”? [He replied]
thus: “I am well-known Vayu, I am Matarishva, one who moves in space, indeed”.
afteaty fh fafredic aemmed afe gReamifa 1 3. 1
"qfF[.7/1 in that kind @R 7/1 in you f 0 what dEH1/1 strength?" 3fd 0 thus "3 0 even 3§ 2/1 this 4,
2/1 all @S /1 1 can lift up 9d 2/1 that which g2 2/1 this lifl'§lailTl:[137/1 on earth 3fd 0 thus. Il 2.2 Il
AR & R A 51el [ T T | "9 5 G A [ §7 A ST 7 e 1 [arg: i)
[Yaksha asked] thus: “what is the strength in such a glorious you?” [Vayu replied] thus: “even all this,
whatever is on this earth, I can lift up”.
A Ui RIS AT GawiaH ae FRMHENG @ dd U agd Aaaams e aeaaeif i .20 |
aH 4/1 to him qui 1/1 blade of grass ﬁlﬁ‘cﬁ III/1 Tdd 2/1 this 3T 11/1 please lift g 0 thus dd.2/1 that
ITIFME 4/1 for one who had approached HaeTaq 3/1 with enthusiastic speed dd 2/1 that blade of grass &
0 - T 111/1 was not capable ETq 0 to lift @: 1/1 he dd: 05 from that Yaksha @ 0 indeed fetagd 111/1
returned 9 0 not Tad 2 /1 this 3 /1 I was capable ﬁﬁﬂﬂ 0 to know "9d 1/1 what ¥dd 1/1 this 9&H 1/1
Yaksha” i 0 thus. | 2.20 |
[ T @] U1 1l | Gl 78 21 il (] SR (A7) S| e (] SR A AR @ [T
A5 T "I T e 91 TeAd [ [S7E] A ST [41d @ Sreea]
Indeed, to that Vayu, && placed a blade of grass and said “lift this up”. Vayu approached that blade of
grass speedily. He was not able to lift that. He returned from that Yaksha indeed and said thus: “I was

incapable to know thus— what is this Yaksha?”

Y e, AGHEH & AT Tl cATte, HETre geor |

Y 0 =~ 0 thereafter agH.2/1 to Vayu @7¢fd I11/3 they said "g a1 1S/1 ad oS gaante g
(116BV) having similar meaning 94U 3/1 as earlier.
Thereafter, they (devas) said to Vayu thus: “O Vayu, know this (Yaksha)”, etc, has similar meaning as

earlier.
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AIATEHATEIATET a1 |
e  dMd (A+cgZ) 5H/1 =HATd 5H/1 due to movement 7*ITd 5H/1 due to spreading smell 91 0 or 99:
(A+3) 1/1 Vayu.
e Vayu is called so because of going about (everywhere) or due to spreading smell.
TANE el AR |
e HEAR7/1=91R&7/1in space sqata (Pa) 111/ 1 goes/ moves about g 0 therefore ATARAT (375E UTP)
Matarishva.
e Since it moves about in space, therefore it is called Mataraishva.
& T e TR |
e 3¢2/1 this §99.2/1 all 3 0 even eI 1/1 =TRAM 1/1 I can take/ lift up.

e “Ican lift up even all this”.

q_l(aab‘{f\ o o Y “
o Tled YIS AT THEH T 113,101l
NAZHITHITAAGATIE FRHAEAI q2ifd dagaaaaied | 3.22 |l

o ¥ thereafter $&H 2/1 to Indra 3T I11/3 they told "T& 1S/1 O Maghavan dd 2/1 this R 11/1
please know” "1 0 what Tdd 1/1 this &M 1/1 Yaksha” fd 0 thus "d®1 0 let it be so" & 0 thus dd.2/1

oS S

that Yaksha $gad I11/1 approached @&1d 5/1 from that Indra c@igd (fRE+4T) I11/1 he disappeared. |

.22
o dEH IGa, & HEA, "HH Taq FE ST T [STAE | T g "Hd [F77: STEA ]I [FR] A [FEH] SrAzad!
[27&77 ~ S -\/

e They told Indra thus: “O Maghavan, know what is this adorable being”. (Agni replied) thus: “let it be
so”. He approached that Yaksha. That Yaksha disappeared from that Indra.

T AR TSR 9 RAMAEIHT Had! af alar Ferdaetifa 1 3.2 1
e ®:1/1he/ Indra d¥H.7/1 in that W@ 0 indeed / itselfSTHRI 7/1 in the space f&@H 2/1 woman WA
III/1 approached s§ 0 very M F2 /1 effulgent / beautiful 3H{ F2/1 Uma Hadi F2 /1 Hemavati, one
(as if) wearing golden ornaments @ F2/1 her & 0 indeed 3am I11/1 Indra asked "##H 0 who % 2/1 this
T8 2/1 Yaksha?” gfd 0 thus. II 2.2R
o T (3F:) AHT T AR TE | T AT G TG | G: Al & 5531 | ZET 7 EHAA TgHIHIAH FHE
ST | '13H Gd FEH?" §1d &: dl & I |

e He (Indra stood) in that space itself (where brahmavidyA appeared). (He) approached the very
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ET ETErt
effulgent/ beautiful woman Uma, who was (as if) wearing golden ornaments. Indeed, he asked her
“who is this Yaksha?”
HSH
AT AT TS, gad, |
o ™0 thereafter F&H 2/1 Indra HFA I11/3 they told "A=EA 1S/1 Td 2/1 this STt 111/1 please find
out” AT 0 this, etc ‘JE:?HHO same as before.
o Thereafter, they told Indra “O Maghavan, please find out”, etc, is same as before.
T TR WoET Jodard, adid agvagdd |
e T%:1/1 =TT 1/1 Parameshvara (here, Bhagavatpada gives the 9Td meaning only) HeT (&.%.23¢ Fe@l
TgSH, AE+FHi, AL 3) 1/1 adorable/ worshippable =3&award 5H/1 due to having strength '@ 0 let it
be so" & 0 thus dd.2/1 that Yaksha 3n&ggad I11/1 approached.
e Indra, Parameshvara, worshipable due to having strength, said “let it be so”. He approached that
Yaksha.
TEHTA FIGTHEHT Tl g feriage forina |
e dWId5/1 from that §=Id 5/1 from Indra SATHEHTY 2/1 near him 31dtd 5/1 from one who had gone dd 1/1
that 5i&1 1/1 brahman fcRigd 111/1 =1%'IT\I'*1§'IIL 1/1 disappeared.
e  From that Indra, who had gone near him, #& disappeared.
TEEEATHIS T FeRReled S ETEHTEHTY AIgEe =T |
o T 6/1 of Indra FEETRHE: (TB, 6TP) 1/1 pride of being Indra I 2ad /1 totally ferae: 1 /1
should be removed Ad: 0 therefore IGHEH 2 /1 even a dialog MY 0 even A1 0 - 3. (FF) 11/1 did not
give 5@ 1/1 brahman &= 4/1 to Indra.

e  “The pride of Indra being Indra should be removed totally”, with this intention, brahman did not give

even a dialog to Indra.

qE AR STRTIIET ST e (R 2] TRATTRARITRTSS TRTHTRTET ST, |: S75: Afeed STl aeedt
JUTHIA S ; A fMagdsTead |
o A IE ARHAA7/1 - 9HRI 7/1 in which space THRIIGE AT 2/1 oneself TG 0 having shown R,
2/1 disappeared ¥=: 1/1 Indra ¥ 0 and s&U: 6/1 of brahman faraS (6TP, THARET: with S/IU1:) 7/1
at the time of disappearance ARF7/1 - S&RI 7/1 in which space S I11/1 was, 8: 1/1 he =§%: 1/1
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Indra afeAd 7/1 9@ *0 itself STHRI 7/1 in that space d&1 I11/1 stood "fh Id a5’ what is this Yaksha" 3fd 0
thus ¥&4 1/1 thinking; 90 - ﬁﬁ@'@l I11/1 Indra did not return 3T%41<ad 0 like Agni, etc.
e In which space brahman had disappeared, in which space Indra was at the time of disappearance, in
that space itself, Indra stood thinking thus: “what is this Yaksha”? He did not return like Agni, efc.
TS T8l itk a7 SR SHREUT TIgGIce |
e dHE6/18wH 6/1 of that Indra I8 7/1in Yaksha afth 1 /1 devotion $€I 0 having known faan F1 /1
knowledge JHEYUN F1/1 in the form of Uma Ug0Id 111/ 1 manifested E&91 1/1 in the form of a woman.

e Having noticed the devotion of that Indra in Yaksha, the knowledge manifested in the form of a woman,

Uma.
|: T T I T TR ;
o ®|:1/1=5%:1/1IndradM™2/1 her =3Hi (I R A TG 3fc1/ IFE A fa=n 51 340 2/1 Uma a8 0 very
N 1/1 effulgent/ beautiful;
e Indra saw her, the beautiful/ effulgent Uma.
FA fE FIT ZeT for |
e AW 6/3 for all & 0 because IR 6/3 among all effulgents FHFHT F1/1 most effulgent &1 F1/1
knowledge.
e  Because knowledge is the most effulgent among all effulgents.
TN T AT [RISUrHYYs Hafd |

e  dql 0 then (if she is knowledge alone) "3 0 very T F1/1 effulgent” gfd 0 thus fe=wUM 1/1 adjective
I99e 1/1 justified Wl I11/1 is.
e Then, this adjective “very effulgent” becomes justified.
BEA ERFANRUENE g T |
. M F2/1 =§H§|P4T‘Tﬁlfﬂ11 F1/1 endowed with ornaments made of gold & 0 as if 5§ 0 very BINTHTET,
F2/1 effulgent 3?1%?: 1/1 this is the meaning.
o  She was very effulgent as if endowed with ornaments made of gold. This is the meaning.
T2 I ferwraat gl aRadt
e A0 or 3T F1/1 Uma W@ 0 Herself f&@a: 6/1 of the presiding deity of Himalayas 3f&dl F1/1 daughter
=gHadt F1/1

o  Or Uma Herself is Hemavati, being the daughter of the presiding deity of the Himalayas.

38 Comm— this means wherever Ishvara is there itself the Guru will arrive. ¥ 39 T Gt 39 qen ﬂﬁl

Download from www.arshaavinash.in Page 95


http://www.arshaavinash.in/

NN

FeATeTETEH,

[N ° Yo

fTcaHa Fagi+a0T §E 9dd 31d S1g, THUTd Feal ARSI |
o @™o always W 0 itself FF:EFI 3/1 omniscient ELtu 3/1 -8 0 with Ishvara Fad 111 /130 g 0 to know
W F1/1 capable 3fd 0 thus F@T 0 having understood @M F2/1 her ITFTH I1I/1 approached.
geg: A1 & IHT s I 9o i FeRceTIIe fordngdl Treirfar |
o &=:1/1Indradi2/1her g0 indeed =3#i 2/1 Uma {% 0 indeed S99 I11/1 =958 I11/1 asked = 11/1
please tell "% 0 what Tad 1/1 this TR (T+ g4 0 having shown @R 1/1 disappeared J&H.1/1
Yaksha” gfd 0 thus.

e Indra indeed asked Uma 'please tell what is this adorable being who having shown himself,

disappeared?” I13.121
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| =gg: |Ue: |
g1 SR e Selul a1 UdigeTd HE Attt dal 8 feeEsm s@ifd | 9.2

e WIF1/1She "si& 1/1 brahman” & 0 thus & 0 indeed I/ I11/1 replied S&U: 6/1 of brahman 30 indeed
"edqd =0ad this/ in this manner &4 7/1 in the victory F&@& I1/3 you all are claiming” 3fd 0 thus da: 05
from that € 0 indeed T 0 itself/ alonefdE=HR (l%l§+%3 +31§WT'I%’)'{) III/1 came to know "si&l 1/1 brahman"
30 thus. 11 .2 1

o T (T#) Fe AT T AR 7579 § T U FETAT” S T T E I | A A& I Ad: T & §5: [95TFER

e Indeed, She replied “(this adorable being was) brahman”. “Indeed in the victory of brahman you all are
claiming in this manner”. Indeed, from that itself, Indra came to know thus: “brahman”.

HSH
1 STl &7 & fohes FRIU: I SEAd faotd — 20T e ST |

e W F1/1She "s& 1/1 brahman” & 0 thus & 0 indeed 39/ I11/1 replied 20 = % 0 indeed S&IT: 6/1 § 0
indeed = 3%9¢E 6 /1 of Ishvara @ 0 alone =@ 7/1 in victory — 2N 3 /1 by Ishvara @ 0 alone S 1/3
were won 3g: 1/3 asuras.

e Indeed, She replied thus: “(it was) brahman”, indeed in the victory of Ishvara alone. — Asuras were

won by Ishvara alone.

PRGEATIERL
° ?El 1/3 all of you @™ 0 w.r.t. that ﬁﬁ:ﬁq’ml /1 only an instrument.

e  You all were only an instrument w.r.t. that.
aea faer — 99 wér AR T
e @& 6/1 of that Ishvara @ 0 alone &=/ 7/1 in victory— & 1/3 you TR (S12) 11/3 =" 2/1 glory
aTgy (Wﬁ) I1/3 you claim.
e You claim glory in the victory of that Ishvara alone—
Tt FraferRITome |
e "4 0 in this manner" gfd 0 thus =I%ITQ1'I%|T\|WH§H (116BV) in the sense of adverb.
e  Gdd s in the sense of the adverbial usage “in this manner”.
frrehirTee] TR — SRR AT STRHaTE AfRAfd |
o fyeATME: 1/1 false pride g 0 whereas H®H 6/3 you all have— "ST&®H. 6/3 ours W@ 0 alone & 1/1
this foe/™: 1/1 victory STHH®RH 6/3 ours W 0 alone 37 1/1 this AEATM1/1 glory” gfd 0 thus.

e  Whereas you all have false pride in this manner— “ours alone is this victory, ours alone is this glory”.
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T TEHIGHTETRITG, & U9 fe=h R SRlfd 30 ; SN, adl &9 3fd, 7 a4 |
o dd: (05 =d®1d 5/1 - IHEMRT.5/1 from that sentence of Uma & 0 indeed T 0 alone [&=&R 111/1 he came

to know/ understood "s& 1/1 brahman" fd 0 thus =: 1/1 Indra; 3T@9Rund 5H/1 due to that emphasis
"qd: 0 from that & 0 indeed W& 0 only” 3 0 thus, 7 0 &AW 3/1 not independently.

e From that sentence of Uma alone, Indra came to know thus: "it was brahman'. Due to that emphasis
"indeed from that (statement of Uma) alone’, (it is fo be understood) not independently. 14.11l

TEHTEATAZT T ST HR0T: HAGERATEAT SRSaTa:

o TG ARERE=: 1/3 gods such as Agni, Vayu, Indra Td 1/3 these €91 1/3 & 6/1 of Ishvara
ﬁa’laaﬁ:m“am 3/1 through discussion, seeing, hearing, etc qEEH 2/1 proximity SIdl: 1/3 attained,

o  These gods such as Agni, Vayu, Indra attained proximity of Ishvara through discussion, seeing, hearing,

etc.

o o e o ¢~ NN N .

AEHTET T 34T AT g e Bieiics TeRj Sareml ferg = s @ifd Il 8 R |

e dWId5/1 therefore 30 indeed W 1 /3 these &dT: 1/3 gods BT%HTITL(W I%QTCIE.‘T?E:) 0 excelled 89 0 indeed
I 2/3 other 29 2/3 devas Td 0 as well-known 311 1/1 Agnidg 1/1 Vayu&=: 1/1 Indra d1/3
they f& 0 indeed T¥d.2/1 this g (§8¥) 2ad /1 proximately T&%2]: I11/3 contacted d 1/3 they f& 0 because
Tqd 2/1 this brahman 99#: (8<d 1/3 or 2/1) 1lad/1 first IECUEELY (BT<E II1/3) ITI /1 came to know "I&
1/1 brahman” 3fd 0 thus. | .]

o TR Y T B GG ARG TG ) T, T =1 B AR S FRTER [, a3 G S e 3ar
ST 59

e  Therefore indeed, these gods, Agni, Vayu and Indra excelled other devas as well-known gods. Indeed
they attained this proximately because they contacted, came to know, this first thus: “this is brahman”.

HSH

ALY [N o

Tl T AR QT ITIGHETA: e 3T SR, Aferaie 39 ol &ef: |
e dWId5/1 therefore ﬁ"i‘ﬁ: 3/3 by their own qualities Sfda™ 0 9 0 =5IﬁFJIU1T'Iﬁ'H€PTFa: 3/3 by great
fortune in the form of power, qualities, etc 3114 2/1 other a2 /3 devas fdad 0 =31faRRd 111/3
excelled 9 0 indeed Td I11/1 these 3dT: 1/3 gods.
o  Therefore indeed, these gods excel other gods by their own qualities, by great fortune in the form of
power qualities, etc.
e One commentator says that 3R can be taken as the wise person does everything as effortlessly and

with as much happiness as in the sleep.

TaRTER GRS a7 |
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ga2sg: (KD) 1/1 the word "gd" aFeE: 1 /1is not in its specific meaning C‘HENIRUIT?J?: 1/1 for emphasis 910

or.

The word “&d" is without specific purpose or for the purpose of emphasis.

AN . o Y

oq @fh: a1g: 3 A T Fa T O s Afend tfeaehad e T T githeeu: SaeesEn:

Fd 0 as well-known fi: 1/1 Agni @F: 1/1 Vayu §%: 1/1 Indra d 1/3 those & 0 =31 1/3 devas T8 5/1
because %d 2/1 this =5& 2/1 brahman =fd8H 2 /ad /1 ==f~i®a 2/1 closest/ closely Braa# 2/1

dearest Elﬂ'#i II1/3 =\q8d=d: 1/3 contacted gelieh: 3ad /3 as described s&@UT: 6/1 of brahman Hﬂ@ﬁ%ﬁ
3/3 by the way of dialog, etc,

3 f& o= B O STE Y| 9EHT: T G 3ddd, fHeieeR fMeFsiaad, sEifd |

d1/3 they f& 0 =& 5/1 because = 0 and &4l: 5/1 due to the reason 7d 2/1 =& 2/1 brahman 95®:
=Y¥HI: first =94MM: 1/3 foremost/ prominent |: 1/3 being ZAdd 1/1 this is the idea, f[e==RR I11/1
=l%?{i7:r@": I11/3 came to know Iddd 1/1 this is the idea, "s& 1/1 brahman" 3 0 thus.

And because of the following reason also— because they came to know this brahman thus: “this is

brahman”, being the first and prominent. This is the idea. I14.21l

TEHIGRIETY A1 SrEaTrIIed fgiaehd: , S0l & SATETFRI 4d Tl ;

HSH

FEATA 5/ 1 since 3R@EM 1/2 Agni and Vayudifi 0 even $Ea@d 5/1 from Indra's teaching @ 0 alone
I'T\:lai%lﬂv_gg: I11/2 came to know, =1 3/1 by Indra f& 0 indeed U@ 5/1 from Uma's teaching 9w 2ad /1
first 9fd 2/1 heard / understood =& 2/1 brahman gfd 0 thus ;
Since even Agni and Vayu came to know brahman from Indra’s teaching alone, indeed by Indra “this
brahman” was understood first from Uma’s teachings—

TETE] S ST ey TERl § PrererH e = sifd Il ¢.2 |
d@Td 5/1 therefore 30 indeed 3=: 1/1 Indra 3Afda™ 0 excelled 39 0 indeed 3179 2 /3 other 3a+.2/3
gods ®: 1/1 he f& 0 because Td 2 /1 this brahman Afe8 2ad /1 closely Qe I11/3 contacted @: 1/1 he & 0
indeed TAd 2 /1 this 9¥HA: 1/1 first l%ﬁﬁﬁl'{ II1/1 came to know "si& 1/1 brahman" A 0 thus. || 8.3 1l
&: §5: B O ARE FERT:, : B O A S e 7 HEER [F] | I 3 [£] Se G S 7 |
Therefore indeed, Indra excelled other gods because he contacted this brahman closely. Indeed, he came

to know “this is brahman” first.

TG, T AT feRid 59 3+ 29, |

d&d 5/1 therefore § 0 indeed T=: 1/1 Indra e 0 excelled 3 0 indeed =3fa=id I11/1 he excelled 38
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0 =M 2/3 other §@H 2/3 gods including Agni and Vayu.
| GRS TRl T @ TSI g ERR SRR R |
e ®:1/1R0indeed WA 2/1 this Afq8 2ad /1 closely QIR 111/1 contacted T 5/1 because &: 1/1 he &
0 Ted 9eM: e o 3?*’3,?7[%3 1/1 this is that which has meaning as explained d%¥ 1/1 sentence. 14.3 Il

AEIY TSN TS AR SATATER Feardaaad Il .2 |
e T 6/1 of that brahman T: 1/1 this ezt 1/1 teaching "9d 0 well-known Wdd 1/1 this I%E\lﬁ: 6/1 of
lightning &Fgad *(@) I11/1 (= noun) shine/ flashing” @2 1/1 illustration 3 0 thus ¥d.1/1 and
?lﬁhﬂ?[‘m(ﬁlﬂ +3¢ | i by &.9.42 ‘ﬁTﬁﬁ) III/1 blinked =11} 1/1 analogy gfd 0 thus aﬁﬁﬂﬁi{(iﬂ kG
%H'FL@T?\J? AU, 333‘1{31@3@ Fad %l%l) 1/1 w.r.t. the context of (earlier) story related to devatas. Il 8.2 Il
o T TG T: IGRT: Yald— I Iad [4Gd: FGA T3 Iad T 3Id, 39 ~HNETT 3 7 ST I G
YA HET

o This following is the teaching of comparison— Of that brahman, this is the teaching— this well known

o 39EA
@ +7d +gg i 2.2 Tl Ffe
fT+ga+gea 3.¢.200 EAH
ﬁ+g?[+f\t_c$ +d. 3.2.83\%@%
F+ga+dte +d 220 EGARYEE: TERY
FAd. §.3.92 JTSGTHALN:

40 Kena =THifSd §< derivation

. A+ 1P 8=+ +3g [, 3.2y @ forg
A+ O 4+ 3.8.%00 3Ad
U+~ +d.
= 3.2.9¢
§.2.142 TR
9.9.2%
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flash of lightning is the comparison for brahman, blinking is the comparison for brahman. This
presentation of comparison is in the context of devatas.

e  There are three parts to any SHH|

o U
" UREY OISR
o JUEH

o SlAHEFH support
»  f9q: shine/ flashing of the lightning
«  SHIMAEd blinking
=
T IFHAE FRT0T: TH: ST STHIET: |
o dHE6/1=H%RdH 6/1 - =R 6/1 of that brahman which is the subject matter ¥8: 1/1 this aMe: 1/1
=39HI9GR: (6TP) 1/1 teaching of comparison/ analogy.

o This is the teaching of comparison is of that brahman which is the subject matter.

o NN NN N . @TS ~ ~ l
o freuHEm (115BV) 6/1 - sI&Ul: 6/1 of the comparison-less brahman Iq3/1 -IWEA3/1 by which

illustration I9¢21: 1/1 teaching |: 1/1 that 39H 1/1 this e 1/1 teaching gfd 0 thus I=ad I11/1 is said
to be.
e The teaching of that comparison-less brahman is given by which illustration, that is said to be $IGaT: |
fh 94 ? Agad I, Sl [gd: AGAd. [ia- Faaiqaidagauaiiid [aedl fRiaamHid desd |
e fFOwhatdd1/1 that? 9d 0 - Wad 1/1 =914€ 1/1 well-known &% 7/1 in the world '?@ 5/6/1 from/ of
lightning =¥dd 1/1 flashing ="fera 2 /1 flashing %dad N1/1 did” gfd 0 thus dd 1/1 this meaning
3I9=¥H 1/1 is untenable gfd 0 therefore "ﬁﬂﬁ: 6/1 of lightning fa=iia=™.1/1 flash (noun)” 3fd 0 thus Fe&d
IIT/1 is assumed.
o What is that illustration? This well-known flash of lightning did “flashing (verb)” of/ from lightning”. is
untenable. Therefore, “flash (noun) of lightning” is assumed.
e FIA: cannot be 5™ or 6™ case because—
> 5" case would convey T& TIFHRT: |
> 6" case would convey & as a FH or another Fdl|
T TGATY: |
e 3M31/1 the word "STR" 3fd 0 thus STETY: (116BV) 1/1 in the meaning of illustration, "like".
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o  The word “3713" is in the meaning of illustration (“like”).

ferg el et , ‘A SehfEg ™ (3. 3. R-3-%) 2 Ycdedl o T2 |

° l%lg?lz 6/1 of lightning ﬁ?fl?-l:ﬂll /1 flash 349 0 like 3?1&: 1/1 this is the meaning, Mﬂ%@
(Hiranyagarbha attained the knowledge) just like a flash of lightning’ (3. S. R-3-%) gfd 0 thus %\Eilr_d:( 7/1in
other Shruti 90 and iﬁﬂl?wH /1 due to observation.

o  The Yaksha/ brahman is the like flash of lightning, this is the meaning, and due to observation in other
Shruti so: “(Hiranyagarbha attained the knowledge) just like a flash of lightning”.

forgfem f& EpareT i R =@ g |

° l%ﬁgl,?[ 1/1 lightning ¥4 0 like f& 0 indeed HHd.1/1 once ATHE 2/1 itself QflﬁlaT 0 having shown l%fl‘fl 1/1
disappeared & 1/1 brahman g5¥: 5/3 from devatas.

e Indeed having shown itself once, brahman disappeared from devatas like lightning.

e R AT ST |
o A0 or fa7d: 6/1 of lightning ‘a@t: 1/1 brilliance’ g 0 thus STATEEH 1/1 to be supplied.
e Or(using as a verb itself), “brilliance” of lightning is to be supplied.
FAd fadifdaad, 2R 34 |
o TYAd N1/1 ={iifdaad N1/1 2113 0 =34 0 like.
o Like lightning.
Ty EgaidaaeacniT: |

° ﬁﬂﬁ: 6/1 of lightning dst: 1/1 brilliance Hhd 1/1 once faenfaaad 1/1 29 0 like SARTIE: 1/1 this is the
idea.

ZferreR;: TRAdaans: — et & |

o 3fRIE: (116BV) 1/1 the word g Wﬁﬁﬁéﬂfﬁ : 1/1 for the purpose of presentation of the teaching—
"Zfd 0 in this manner 19 1/1 this 3T&a: 1/1 teaching” gfd 0 thus.

o The word “Fld" is for the purpose of the presentation of the teaching so: “in this manner, this is the
teaching”.

Toged: GHEAH: | o1 AOCEERT: |

e d-7E: 1/1 the word "Sd" @5=AE: 1/1 for the purpose of conjunction/ combination. 3 1/1 this ¥ 0 and
AT 1/1 another @& N6/1 of that brahman 2Teat: 1/1 teaching.

o  The word §d is in the sense of “and”. = And this is another teaching of that brahman.

FISEY ? =THNE T =g: |
e &:1/1 what a1 /1 is that teaching? IS 11T /1 blinked T 0 just like 9&: 1/1 eye.
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o  What is that teaching of analogy? Just like the eye blinked.
it e Fded | e o |

b aN o

o HifId (gT, T, @ o, @) 111/1 =89 2/1 blinking/ closing Fa@d.1/1 did. &4 7/1 in the same

sense as the root (not causal) "firg.1/1 the suffix i/ ”.
e  The eye did blinking. (is the meaning because) the [oTq 97 is in the same sense as the root (not causal).
IIHI T ATHR: |
e IUHIE: 1/1 for the purpose of analogy W 0 only3TI: 1/1.

e 373 is only for the purpose of analogy.

el ferered el sreRTRTfoRT 59 =g |

o TN: 6/1 of eye fa¥d 2/1 the object Hid 0 towards FHRIME: 1/1 disappearance of light ¥4 0 like ¥ 0 and
3?12?1 1/1 this is the meaning.

e And (brahman is) like the disappearance of light of the eye towards the object; this is the meaning.

3fr STfRad SaaTT e ST |

e 30 in this manner % 1/1 =<adias™ 1/1 related to the story of devatas s&UI: 6/1 of brahman
C-Nﬂﬁ&ﬁﬂﬁ 1/1 presentation of comparison.

e  The I9EAs include meditation on brahman that is the nature of brightness like lightning and swiftness
like blinking, endowed with overlordship.

e In this manner, presentation comparison of brahman is related to the story of devatas. 4.4/l

IATATH TEdg=3Id  AAISHA TG TFd: 1| 9.4 |

e 3 thereafter 3T /1 related to the individual T4 2/1 which is the subject matter of discussion Td
2/1 this brahman T=3fd I11/1 approaches 3d 0 as though = 0 and 4: 1/1 mind &4 3/1 through this = 0
and T4 2/1 this brahman S%FRI [11/1 a meditator intimately remembers andtent (311"4\1 +81, "{@E’(‘Iﬁﬁl’lﬁ
éff'&) 2ad/1 repeatedly/ repeated §geq: 1/1 volition/ imagination. Il .4 Il

o Y FHIH — H: I T (&) T 591 IJIAE: A (H7E]) T (&) FTERIA 7, [TFH] T [FT: ]
TAgH: T 5|

o  Thereafter, (teaching) related to the individual— the mind as though approaches this brahman which is
the subject matter of discussion and through this (mind), a meditator intimately remembers brahman,
and there is repeated volition.

e This mantra is the teaching in the context of an individual, while the previous mantra was in the context

of the story. Every thought is a medium for 5i& to manifest as F9gRHE, and therefore, “as if” objectifying
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consciousness and figuratively said as though going towards/ approaching brahman. Ref: Ffcanafatad
HdH, | The meditation is thus— through each thought, brahman is approached.
¢ Ananalogy can be given thus— on a full-moon night, the luminous moon manifests sunlight while
revealing the objects.
HSH
Y AR ITAHTH ST T A2 I=4d |
o Y ( =A~H 0 thereafter (after presenting the comparison in the context of devatas) ITATH
=URTHET: 1/1 related to the individual 3G 1/1 teaching I%&d I11/1 is being presented.
o Thereafter, the teaching related to the individual is being presented.
A4 TN < T | TG ikl 39 [ |
e Id 2/1 whichever object ¥dd 2/1 this TR 101/1 goesto ¥ 0 asif 40 and H4: 1/1 as it were. Idd 2/1
==& 2/1 brahman =2t I11/1 approaches 38 0 as though =fedFfd I1I/1 encompasses,/ objectifies & 0
as though.
e The mind as though approaches brahman, as if objectifying.
T e 1 U s1a1 ST T TR arae: endten 372 |
e Id 2/1 which brahman is the subject matter ¥ 0 and [ 3/1 by this ="l N3 /1 by the mind ¥dd 2/1
=5@ 2 /1 brahman S9&(d I11/1 =8H9a: 03ad intimately @A I11/1 remembers @TEF: 1/1 seeker/
meditator $Tl&91 1/1 =¥&F.1/1 repeated.
e A seeker intimately remembers this brahman, which is the subject matter with this mind.
A ARGl T |
e TZA: 1/1 volition T 0 and =H=4: 6/1 of the mind S&IfS: (116BV) 1/1 reflection of brahman.
e And volition of the mind is reflection of brahman.
TSRS, Aeie: A eaecalaueaRfeasad aia, feiiframmoTi |
° Wqﬂ"zlﬁﬁ'lﬂ(l 16BV, TB) due to having mind as an adjunct 5H/1 f& 0 since #78: 6/1 of the mind
Wﬂ%ﬂ?ﬁ: 3/3 by the thoughts in the form of volition, recollection, etc (decision) SThTeIsad 111/1
manifested & 2/1 brahman, faeifsFaAUM™ 1/1 made an object/ objectified &4 0 as if.
e  Since brahman is manifested, as though objectified by the thoughts of the mind in the form of volition,
recollection, (decision) etc, due to having mind as an adjunct.
I | T SRS SHTHHTERT: |
e 3(d: 0 therefore |: 1/1 that W: 1/1 this & 6/1 of brahman T&TH 1/1 related to the individual TeaT:
1/1 teaching.
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Therefore, that is this teaching of brahman in the context of the individual.

oo N faha .\3 r\(‘, .aq:[: o [N (\(', Y h :|

ﬁgl%lﬁﬂ“ﬁ?[Nl /1 that endowed with Bﬂ"\ﬁaﬁ 1/1 in the context of devatas gam:mﬁﬁ @H JRRMH, dd @
TH: 9 dd s&) N1/1 that endowed quality of swift revealing, 3TATH 1/1 in the context T 0 and

T JATEEHRSIEATRIMH N1/1 that endowed with the quality of manifestation simultaneous to the
thought of the mind, Zfd 0 thus T: 1/1 this ezt 1/1 teaching.

Brahman is that which is endowed with quality of prompt flashing in the context of devatas, and that
which is endowed with the quality of manifestation simultaneous to the thought of the mind in the

context of the individual. Thus is this teaching (of illustration,/ meditation).

AR & Sat HeagfevTed Waditdl ST ezl SUeT: |

Y ( in this manner STeEFA 1/1 presented f& 0 alone 51& 1/1 brahman qﬁ@ﬁ&"@ 1/1 understood by
dull-witted ¥afd I11/1 becomes 3fd 0 thus S&T: 6/1 of brahman 3T&aT: 1/1 comparison I 1/1
teaching.

(When) brahman is presented in this manner alone, it becomes understood/ comprehensible by dull-

witted. Thus is the teaching in the form of comparison of brahman.

;l_l%(\ [N S aa oo o . "

0 not & 0 because FETIRRT (115BV =feRTaT: Surm@: F6AM) 2/1 free from adjuncts W 0 itself/ indeed =&
2/1 brahman A=egrgri: 3/3 by slow-learners SHSMAG (IM+FB+UH+IHHA) 0 to be comprehended FH 1/1
possible.

Because the adjunct-free brahman is not possible to be comprehended by the slow-learners.

 Hqe: fofRe w e HT&%TFLEIT@{ I W GEGETT: those dull-witted who are incapable to
directly understand attributeless brahman, they are showered compassion upon by the description of

saguna brahman. 14.51

=0 moreover,

TG dgel A8 TEARGUIaeA | 3 Tadd derhi & Tt Jane St 1 .5 1
dd.1/1 that & 0 indeed & (3 1P TRTHI | T TSI &< GRTSIEH) 1/1 that adorable s 0 called "J& 4.
1/1 that worshipful” 3fd 0 thus 3qTEd= 1/1 should be meditated upon &: 1/1 he/ that meditator a: 1/1
who ad 2/1 that brahman @ 0 in this manner 3 III/1 knows 271 0 - & 0 indeed T 2/1 this a1 2/3 all
T+ 2/3 living beings Harsat+d I11/3 worship/ pray to. Il 8.5 Il
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HEH

Td (&) & TG H HEld | [7&] 35 §1d AT | @: F: T [7€] T 37, T i T & AGarseind |
Indeed, that brahman is called dg=¥, it should be meditated upon as “that which is adorable”. He/ that

meditator who knows that brahman in this manner, all living being indeed worship/pray (to him).

The 4 meditations in this chapter are:

> [ lightning.

o FMEArE blinking,

°  AAERI9EAT mind.

o USRS endowed with quality.

I 3 Al A0 O T TAGE: says Vidyaranyacharya in Te2dida® | Elsewhere it is said 5 35 A<l F1id o o
9 qrgagsH. |

dehd=aM™ (reasoning of meditation on that), says that whichever aspect of Ishvara one meditates upon,

one becomes that.

T4 & € (e dg AT I I dg aed TTSTIae e TeRdcaTg aaed TeTeiad, |

ad 1/1 that =& 1/1 brahman & 0 =% 0 indeed "d&d 1/1” A 0 called =a& 6/1 for that 3 (I=d H=1d
3fd) 1/1 worshipful =dgd 1/1 = 6/1 for that =STRTTAE 6/1 for group of/ all living beings
JERTEATd 5H /1 due to being the inner essence @i 1/1 =3=+i4 1/1 adorable =aRTei @ 1/1
worshipful.

Indeed, brahman called “dg=q" | g4 means adorable, worshipful, for all living beings, due to being the

Inner-essence.

3d: dge AW ; TEATd &l g Id:, TEHT AgARITA SFea IOATaT=e IuTaded feaeiad, |

37d: 0 therefore "dg« 1/1" M 0 called; =5&Td 1/1 well-known & 1/1 brahman "d&™.1/1” 3fd 0 thus Ia:
0 since, 7T 5/1 therefore "dga".1/1” g 0 thus FEH3/1 through this name %9 0 indeed “I'Tﬂﬁ?‘JIﬁT-l (6TP,
TUSERETGHA) 3/1 through these qualities STIEA=E 1/1 =fwa+a¥.1/1 should be meditated upon.

Therefore, called dgH, @ince brahman is well known as "dgaH ", therefore brahman should be meditated

upon through this name, through these qualities, indeed.

I AHIETE FSHE —

3 3/1 through this, T 6/1 ®&H 2/1 result 3@ I11/1 Shruti says—

Through this, Shruti talks about the result of the meditation on the name—

| 9: FHi3d T A1 Sel T U] 38 IUTE S & TH ST ST it 211 Harseied & Sege T 9o = |
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®: he : 1/1 who =%%d 0 whoever ¥dd 2/1 this =391tk 2/1 as described & 2/1 brahman W 0 in this
manner =?3l%fl?1'7‘101 (116BV) 1/1 quality as described 2 I1/1 =39 111/ 1 meditates upon AMOE0TAH2/1
this =S9TEE 2/1 meditator T 1/1 all ¥« 1/1 living beings 3 0 - Ha=fed I11/1 - & 0 =S I11/3
they pray @ 0 indeed 91 0 just as s/ 2/1 Ishvara.

Whoever meditates upon brahman as described in this manner, endowed with qualities as described,

indeed all living beings pray to this meditator, just as people pray to Ishvara. I14.61l

Qﬂﬁﬂ'\-’zlgz s ?ﬂlilﬁﬁali —

@@H 0 in this manner EHAIT[E: (T+2ME+h) 1/1 taught &= 1/1 disciple 3Tﬁl1€|1i2 /1 the teacher 3a= I11/1
told—
In this manner, the disciple who was taught, told the teacher—

IS ¥l FEIIH d SUTEIRN a1 d SUSEHEAT 1| 2.9 |
IqFg 2/1 Upanishad "1 1S/1 O Lord F& I1/1 please teach” 3 0 thus "I F1/1 was taught d 6/1 for
you IUESd F1/1 Upanishad EIE (EETHER?[ EIR 3@+3TUI+E311) F1/1 related to brahman @@ 0 indeed d 6/1
for you Iu¥gH 2/1 Upanishad 375 /3 we taught” 3 0 thus. | 8.9 |
"4, JHITTE Fle " §ldl [RT: A1 A FHI T AT SHATGH 1 S Fd [T T ]I
(The disciple says thus:) “O Lord, please teach Upanishad”. (The teacher replies:) “Upanishad was
taught for/to you. Indeed, we taught Upanishad related to brahman for/fo you”.
This mantra brings out the fact that nothing else is needed for moksha other than knowledge. Factually
knowledge itself is moksha.
Herein, the disciple thinks there is some secret that needs to be taught to him for moksha and that is
what he means by Upanishad per se. The teacher, however, is restating that Upanishad itself is the
secret teaching given unto the disciple which itself is sufficient for moksha.

ﬁﬁﬁﬂﬁ%ﬁ is also rejected here, their purpose being FRRER& and removal of FALAER |

=
SUfIe, e At Wi e R 30 |
o JUMYE F2/1 =% 2/1 secret 9 2/1 which 4= 2/1 is worthy of thinking upon {l 1S/1 =#&4.1S/1 O
Bhagavan EE II/1 please teach gfd 0 thus.
e O Bhagavan, please teach Upanishad, the secret which is worthy of thinking over.
Qﬂﬂ?ﬁﬁ-{ frsa et —

@@H 0 in this manner 3had 7SS/ 1 when said & 7SS/1 when disciple =& I11/1 replied AT 1/1
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teacher—
e When disciple said in this manner, the teacher responded—
Ih1 AR o e I |
o S F1/1 =fdl F1/1 taught d 6/1 =d@ 6/1 for you S9sd F1/1 Upanishad.
e Upanishad was taught for you.
0 9 HAE —

e & F1/1 what 9: 0 again ®1 F1/1 that gfd 0 this & I11/1 says—

e  What is that again, the teacher says thus—

STET STIUT: THTHA 39 SRl aH, WHTCH IS EaTEdIarae<ed, 919 9 d SUl-SeHeHId e
AR AT IR T |

e &M F2/1 =5&1T: 6/1 of brahman =9HIAA: 6/1 of Paramatma 34 F1/1 this &l F1/1 related to brahman
A F2/1 that 2™ case, WHTHESTI@ 5H /1 due to Paramatma being the subject matter At 6/1 of
the knowledge imparted in the previous chapter, a@ 0 =W 0 indeed d 6/1 for you SU¥gH F2/1
Upanishad S5[H /1 I taught gfd 0 =S F2/1 taught W 0 indeed TS F2 /1 subject matter of
Paramatma 39f=%a# F2/1 Upanishad "$15H 1/1 already taught gfd 0 thus 3FaRE(d I11/1 ascertains ITTH,
1/1 for the purpose of prescribing the means that follow.

e Indeed, we already taught this Upanishad, related to brahman, Paramatma, due to knowledge imparted
in the previous chapter being subject matter of Paramatma. The teacher ascertains “already taught” for
the purpose of prescribing the means that follow.

e That is, what follows is S8 and whatever was taught till now was the knowledge that is sufficient for

moksha. The rest is taught as the means to knowledge, not moksha.

RHTCHITSAT IS, YJddd: SUNE ¥ FEiid gosd: s fishmm: 2
o THIHESIM F2/1 related to the subject matter of Paramatma Iqfese F2/1 Upanishad #d9d: 6/1 of one
who has heard "39¥¢ 2/1 Upanishad ¥ 1S/1 O Lord 9 I1/1 please teach" g 0 thus §=&d: 6/1 of one
who is requesting R 6/1 of the disciple %: 1/1 what SIR™E: 1/1 intention?
e  What is the intention of the disciple who has heard Upanishad related to subject matter of Paramatma,
who is asking thus: “O Lord, please teach Upanishad”.
e, AEZAEE U F:, qd: MSITuEgAehISEE: 99l T |
° Eﬂ% 0 if AEd 0 till now Fa6/1 - SBio 6/1 of the meaning of what is heard ¥%9: 1/1 question %d: 1/1
made/ asked, @: 05 then 245U 0 like grinding what is already grounded 39 0 repetition 3%h: 1/1
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asked ¥19E: 1/1 meaningless 9%: 1/1 question ®1d 1II/1 would be.
o [f the question is asked related to the meaning of what is already heard, then the asked question would
be a repetition, like grinding what is already grounded.

NN NN NN . N

Y FRNIRR AT, T Faa--IaEaR] A Ith: ‘AAHTGIRIEHd Hale’ (%, 3. 3-4) 3 |

e Y () now AERNRRIIFSA, (SBV, KD, KD) F1/1 &1d (3% f5€) I11/1 had been, @a: 0 then @& F6/1 of that
F&a94 3/1 by the statement of the result STHER: 1/1 conclusion 7 0 not J: 1/1 proper ‘U 0 having
departed AT 5/1 from this B 5/1 from the world Hal: 1/3 immortals Wafed II1/3’ (%. 3. R-4) 3 0

thus.

e Now, if the Upanishad taught was incomplete, then the conclusion of that Upanishad by the statement
of the result thus “having gone beyond this world [of me and mine], they become immortals” is not
proper.

TGRS SIS F2iSTIIs U, eI, |

o T 5/1 therefore IHAMTwsIawd: 1/1 regarding the remainder of the taught Upanishad i 0 even
1/1 question 3Fgq9=: 1/1 untenable %9 0 indeed, SR, (116BV, NTP) 5H/1 due to being the
question regarding not incomplete.

e  Therefore indeed, even the question regarding the remainder of the taught Upanishad is untenable due
to being the question regarding that which is not incomplete.

FEdEETE: TgRA |
e &:1/1 what afe 0 then IRTE: 1 /1 intention 9g: 6/1 of the questioner gfd 0 thus.
o  Then, what is the intention of the questioner?

b SN o S

I | T qETRI SN doERTNETIAT-RIaET, 37 feRaerd ?

he N N

e I=d /1 is being answered. 7 0 whether 51 3/1 Upanishad taught earlier / EEIRARIEECH

F1/1 Upanishad taught earlier Zaa “'F3ad /1 as subordinate [\?H??ITEIZ‘IT another expectation/ means as
subordinate] TR ATTaeT (should be Wﬂflﬁéﬂ) F1/1 some other means as its coordinate/ co-agent
for that, 219 0 or fRG&T F1/1 without expectation T 0 only?

e This is being answered. Whether Upanishad taught expects something else as subordinate or coordinate
or is it without expectation only?

¢ So the question is regarding 29/ 1§ subordinate and HEHIR co-agent.

NN o [N .

BRI G I REIEERItRIE e

41 39 and §EFIR are used in the sense of ‘ﬁﬁw terms.
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b SN N

o HMNEF1/1 with expectation =d 0 if STURATA™ (116BV) F2/1 that which has expectation I99g F2/1
Upanishad T2 I1/1 please teach”.
o [fthat (Upanishad) is with expectation, please teach that Upanishad which has expectation.
1] feRUeT Feaand [USEasd: WHEIaHRT: |
o ¥ now {RUET F1/1 without expectancy =d 0 if @R 11/1 ascertain fi&@ad 0 like Pippalada "= 0
not %: 05 than 9. 1/1 higher 3R I11/1 is there” 3fd 0 thus T 0 in this manner RTE: 1/1 intention.
e Now, if it is without expectation, please ascertain thus like Pippalada (in Prashnopanishad): “there is
nothing higher than this”. Thus is the intention (of the disciple).
IR IR, “IhT o ITd 3 |
e Tdd 0 in this manner alone S99%H 1/1 tenable/ logical I 6/1 of the teacher IERUE=H ©1/1
ascertaining statement/ clincher ‘3w F1/1 was taught d6/4/1to you IUESd F1/1 Upanishad’ gd0
thus.
e In this manner alone, the ascertaining statement of the teacher thus: “Upanishad was taught to you” is
logical.
T ATTRUTHEH, FAISIETHANTE ‘T aul g8’ (%, 8. ¥-¢) I, |
e 90 Objection 9 0 not ATIRUH 1/1 ascertainment/ affirmation ¥§H 1/1 this statement, Id: 05 because

31d 0 something else I®=4H 1/1 to be told & 11I/1 said/ says ‘T F4/1 a9 1/138: 1/1 7 (%. 8. $-¢)
38111% 1/1 this, etc.

e Objection, this statement is not an affirmation (of completion of teaching), because the teacher says

something else (that) is to be told.
Y, T STEE |
e (Reply) @@ 1/1 true, T%=.1/1 to be told S¥4d I11/1 told TR 3/1 by teacher.

e (Reply) True, what is required to be told is told by the teacher.

A TR Sl AoERTN ARSI T ;
e A0 not 0 but IHIT=FAA F3/1 as subordinate to Upanishad Gca@hIRAMHFIURSET 3/1 with the

idea of some other supportive means for that (Upanishad) a1 0 or;

e Butnot as subordinate/ accessory to Upanishad or with the idea of some other supportive means for

42 Pippalada is asked about SETHATIEY in Prashnopanishad 6.7 Td@ed 31 9= a8 [ know only this much about highest

brahman.

43 Hreeiafel st / Sufad quiaan 3|
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that (Upanishad).
e Ref: Br. Su. Hﬂﬁ%ﬂw |
o  FAIRIN-3TF 2M9: that which helps the main means to produce the result is called 2N/ Bﬁﬁﬁ |
e That which is supplementary or coordinate to the main means is called FEHIR |
S s PN
o g 0 but SRR 3 /1 with the idea as the means for attainment of Brahmavidya.
e But with the idea as the means for attainment of Brahmavidya.
eyl HEdTS THHUT: I, |
° a&: 3/3 with Vedas ?ﬁ% 3/3 with their accessories ¥ 0 and ®&964 3H /1 due to being read together
FHIFUTA 5H /1 due to their being made equal @SR 6 /3 of austerity, etc.
e Due to being read together (proximity), due to making of (status of) austerity, etc, equal with Vedas and
their accessories (actions).
e The argument used is the following—
> The opponent would also agree that Veda and all Vedangas are not needed for moksha after rise of
knowledge.
> The austerity, actions, etc, are read together with Vedas and their accessories.
> So they have equal status.
> Therefore, not needed as well for moksha after rise of knowledge.
A & Jerat Remaget = aregEeaRNe JoERIRErIAd a1 TRt |
e A0 notf&0indeed F=Mi 6/3 for Vedas RIETgE™T 6/3 for the accessories such as shikShA, etc 9 0 and
& 0 directly RIS 1/1 status of being subordinate to knowledge of brahman AeFEHIRETEAd 1/1
or as the coordinate means to that a1 0 or &afd I11/1 is possible.
e Indeed, status of being directly subordinate to knowledge of brahman or status of coordinate to that is
possible for Vedas and the accessories such as RI&T, etc, is not possible.
HEURAAY FrERi foprea fafedin: @nfafa = ;
e (Opponent) FETREAMM 6/3 of those read together 3 0 even FJM&RT (AB) 2ad /1 as applicable favsa 0
having separated fF@RT: 1/1 application M I11/1 would be 3fd 0 - 9d 0 if this is the argument;
e (Opponent) Even of those things read together/ proximate, application would be after having separated
(them) as applicable, if this is the argument?
T AT GHFHEAT Y FRTRIN ACHERINETI e Jfel Fodd | FT FRaTRgHIHST FGad G RT: |
e (Objection elaborated) FT 0 just as GHATRIFASUMSI 6/3 of the mantras regarding sending off (devatas)
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occurring in sUktavAka Fu1dad 2ad /1 as per the invitation of devatas f¥RT: 1/1 division, @1 0 similarly
Hﬁ'q'qﬁn‘ﬁ'ﬂﬂl?ﬁﬂm6 /3 of austerity, mastery of organs of action, action, truth, etc I 0 even SEASETRISE
1/1 status of being subordinate to knowledge of brahman TeFEHIREME 1/1 status of being coordinate
to that a1 0 or 3fd 0 thus F&&d I11/1 is inferred.

e (Objection elaborated) Just as division of the mantras regarding sending off (37dls) occurring in &% as
per the invited s, so too even status of austerity, mastery of organs of action, action, truth, etc, being
subordinate or coordinate to knowledge of brahman is inferred.

o IIJHAUHSIs (sending off of devatas) are seen in §hals section of the iﬁ‘@ﬂl’ﬂ ritual. Since the devatas
who were not invited should not be sent off by using those mantras, just because the mantras are read

together, it doesn’t mean that even the mantras to send off invited devatas should not be used!

N . - .aTC =~ ¢ = r\\.mr\ = \a:{(‘ = o (‘r\r\%a\,
o 3G 6/3 of Vedas dGEHI 6/3 of accessories of those ¥ 0 and 3@=EE 3ad /1 as the revealer of the
meaning FHICHFIAEEH 1/1 status of being the means for knowledge of action and knowledge of the

self 3fd 0 thus T 0 in this manner & 0 indeed 3/ 1/1 this fmT: 1/1 division {Fq—;l III/1 is proper
FEERIIREMEATd 5H /1 based on/ due to the tenability of connection between things 3fd 0 thus =d 0 if
this is the argument,

o  The status of being the means for knowledge of action as the revealer of the meaning of Vedas and
knowledge of the self (for them). In this manner, indeed, this division is proper, due to the tenability of
connection between things, if this is the argument?

q; IE: |
e (Reply) 91 0 not so; 3xh: 5H/1 due to being illogical.
e (Reply) Not so; due to being illogical.
< & Tl S St |
e A0 not & 0 because 3 1/1 this T 1/1 division =&t F2/1 situation S=fd (I+31&+faq) I11/1 .
e Because this division does not accord the situation.
7 & GRS G ERTR U SRTferaT: RN FehiNarmaw= a1 gd |

e A0 not & 0indeed H&%ﬂﬁﬁ%ﬁi@%ﬁ@ﬁ@: F6/1 of that which dismisses all ideas of differences
regarding activities, accessories and results SRIEE™: F6/1 of the knowledge of brahman 2IST4&T (3TP)
F1/1 expectation (with activity, etc) as subordinate FEHIRETIFE=: 1/1 connection as coordinate means
a0 or 54d I11/1 is proper.

e Indeed, expectation (with activity, etc) as subordinate or connection as coordinate means of knowledge
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of brahman, which dismisses all ideas of differences regarding activities, accessories and results is not
proper.

¢ The incompatibility between action and knowledge is w.r.t. all three things:
° &Y nature
>[4 content
° % result

e Here opposition in ¥&&4 is being explained. To have any type of connection, duality has to be there,
whereas the nature of knowledge is to dismiss this very duality; how then can there be a connection!

e Had there been an ability to connect the two, the opponent’s view would have been proper, but in this

case there is no possibility itself.

(N o o o a ﬁ . ~ |
° Hﬁﬁmmﬁmﬁ‘aaﬁ 5H/1 due to being that which has status of culmination in the content as

the innermost self, distinct from all objects & 0 and TR 6/1 of knowledge of brahman dc®a& 6/1
of its result 90 and f:=@e (e 971:) 6/1 of highest freedom.

e  Due to knowledge of brahman and its result, the highest freedom, being that which has status of
culmination in the content as the innermost self, distinct from all objects and from.

e Here opposition in f¥d and % is explained respectively so:
> Just as 9 is knowledge of pot, etc, so too FE is knowledge of brahman. However, when

finally brahman is known as oneself, the knowledge of brahman is F& TS |
> Moreover, FIRS is GTA being A i, while RS is fMcaRTg being 9 ife: |
HeTEaa] FH Teied QEra, | Ieidd & deid g TaF R 93 (?)

o ‘HIEH2/1 freedom ¥%3 1/1 desiring &1 0 always FH 2/1 action @ I11/1 should be give up W0
indeed HEMSH 2/1 that along with its means. Il 3/1 by the renouncer ¥ 0 only f& 0 because 9d.2/1
that 9 2/1 to be known TE: 6/1 of the renouncer 9% 1/1 innermost W 1/1 highest 9gH.1/1 nature/
goal’ (MTZAHY as similar is quoted by Vartikakara?)

e “One desiring freedom should indeed give up action forever along with its means, because that to be
known only by the renouncer is the highest innermost nature of the renouncer” .

TEHAUT HERTNe FHATIE 1 = FEATTT |

o TEA5/1 therefore FHUT 6/3 of actions HeHIRe 1/1 status of being coordinate FHRINIET F1/1

expectation of actions as subordinate a0 or 71 0 not F=& 6/1 for knowledge ITd I11/1 is (not) logical.

e  Therefore, status of actions being coordinate or expectation of actions as subordinate for knowledge is
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not logical.
TAANSHIT TRATRIIH=IEHLENT [T |
e dd: 05 therefore 39d 1/1 inappropriate W 0 indeed HhATRIGH=IUE 0 like the sending off (of deities) in
sUktavAka TUMEFT 2ad /1 as applicable fanTeT: 1/1 division §/d 0 thus.
o  Therefore, the division (of the activities, efc, read together) like the sending off (of deities) in T#dI% as
applicable is indeed inappropriate.
THETIRINE G ST
o TEA5/1 therefore STAIRUNAT F1/1 status of being for the purpose of ascertainment W 0 only
geTide=ee 6 /1 for the question and answer I99d 111 /1 is tenable.
o Therefore, only the status of ascertainment for the question and answer is tenable.
AT g R A+RUET STHAE |l
o T F1/1 this much %@ 0 only 390 F1/1 this S9«¥d F1/1 Upanishad 3% F1/1 taught 37af=ael F1/1
without depending on anything else 3HdE™ 4 /1 for immortality.
e This Upanishad that is taught is this much alone, capable for immortality without depending on
anything else. I14.71l
T Ul qH: FHIQ TS I T FEEaT | 9.¢
o @ F4=6/1 for that Upanishad d9: (&G0 FER-EIE) 1/1 austerity g: 1/1 mastery of organs of
action F9 (aﬁwﬁ%am@wﬁ ) 1/1 action 3fd 0 and such other means H8T (Jdlasid & 3fd,
TTd+EA1+37g+219) F1/1 basis d&T: 1/3 Vedas gagT 1/3 all accessories @& 1/1 truth/ truthfulness
HHIAH 1/1 abode. | ¥.¢ |l
° WWW#E@WW/WW aled, GTH ST I |
e Austerity, mastery of organs of action, action, such other means, Vedas and all accessories are the basis

of that Upanishad. Truth is the abode.

HSH
T SRS TERISTAL a6 e IHET IUFTe;: ATEIERIAT qusTEH |
e AWM F2/1 which At F2/1 this S&IH F2/1 related to brahman I9g F2/1 Upanishad @@ 6/1 of you 3% 0

in front T9# /3 we taught ¥ 0 thus € F4/1 =a&: F6/1 of that I F6/1 of taught IA9E: F6/1 of
Upanishad Wﬂ%ﬁ?\-{ 1/3 in the form of the means of attainment d9TEN 1/3 austerity, etc.

e This Upanishad which is related to brahman (and) taught in front of you, austerity, etc, are in the form
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of the means of attainment of that Upanishad.
qY: HrAfesT e JET |
o @ N1/1 =FMEFEaw=E N6/3 of the body, sense organs and mind FHMH 1/1 availability / composure.
e  The composure of the body, sense organs and mind is dq: |
GH: IUIMH: |
e aH:1/1=3493M: 1/1 withdrawal from activities.
e  The withdrawal from activities is GH: |
FH AR |
e FHNI1/1 =31 N1 /1.
e Agnihotra, efc, is 4
e T AR AR e |
e UH3/3 by these & 0 because H&Fa& 6/3 of a refined person H@28aNI F1/3 through purification of the
mind FERIR: F1/1 rise of knowledge of the truth 21 F1/1 is seen.

e  Because by these means, rise of knowledge of the truth is seen for a refined person, through purification

of the mind.
o AN 0 o o o0 oo ~ oo
7O TR TR S U SR fquraa I auiaaras, ARy« |
e TWF1/1 seen f& 0 because awHTE (116BV) 6/1 of a person whose impurities are not removed 3%

F1S5/1 when taught 3 0 even S&IUT N7SS /1 when brahman fara: 1 /1 non-comprehension
faaRiastferata: 1/1 opposite/mis-comprehension @ 0 and, 91 0 just as SFEERERIAR 6/ 3.

e  Because non-comprehension and opposite comprehension is seen on the part of a person whose
Impurities are not removed, even when when brahman is taught, just as (in the case of) Indra,

Virochana, Bhrigu, efc.

TEHTIEE ATy A AgY ey ATE: Feaaesiiv T T4 ;

e THM5/1 therefore 3& 0 here, in this life a1 0 or STy 7/3 in earlier a1 0 or TgY 7/3 in many A=Y 7/3
in births qUeAA: 3/3 through austerity, etc Faawa=ls: (113BV) 6/1 for one by whom purification of the
mind is done S N1/1 knowledge S I11/1 is born I4ad 2ad /1 as taught;

e Therefore indeed, knowledge as taught is born for one who has purified (his) mind through austerity,
etc, in this life or in many earlier births.

‘T A T REA 39 9 I | e R Sl SR HElee: (A, 3. §-33) 3fd #eEund |

e ‘T 6/1 for one 24 7/1 in the Lord T F1/1 highest Wkk: F1/1 devotion I 0 just as 34 7/1 in the Lord
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a1 0 similarly I 7/1 in Gurud® 6/1 to him Td 1/3 these & 1/3 as intended (3FHRET: untold) & 0

indeed ¥f4t: 1/3 meanings SR 111/3 revealed W&TH: (116BV) 6/1 to one with a great/ pure mind’ (4.
3. &-3) (A 0 thus H=EUTd 5H /1 due to these words of the mantra.
e Due to this mantra: “Sv. Up. 6.26: For one who has the highest devotion in the Lord and similarly in the
Guru, to such a person with a pure mind, the intended (and even untold) meanings are revealed”.
T G SR FHO (HT. Rot-¢) 3fd T |
e ‘FMFHNI1/1 knowledge IqId 111 /1 is born g4i 6/3 for people A 5H/1 due to removal I9&I N6/1 of
pApa FHI: N6 /1 of action (FHEETcs T&A Tl SATHIH SATH)” (F. R09-¢) 3 0 thus Td: 5H/1 due to
Smriti statement 9 0 and.
e And due to the Smriti statement “M.B. 204.8: knowledge is born for people due to removal of vicious
action (just as when the mirror is clear, similarly one sees the self in the mind/ intellect)”.
eferereg;: ISR |
o gfoRE: 1/1 the word “Zf” SUSHUIETEEAE: 1/1 for the purpose of showing representative nature.
o The word #/d is for the purpose of implying other means.
3fd EHRIEE Y SRICe TR R, SHfIEHE T (3. I, 23-5) SAgHERId Wald |

o IO =UmHIE1/1 beginning with 374d 1/1 other 1M 0 also FHIET: 6/1 for the rise of knowledge
IUHNEH 1/1 helpful ‘T 1/1 humilty SR 1/1 sincerity’ (3. 3. 23-9) I 1/1 this, etc TR
1/1 indicated/ implied ¥afd I11/1 become.

e  Beginning with (austerity, etc), other (qualities such as) “BG 13.7: humility, sincerity” also become
implied as helpful for the rise of knowledge,
Sferst q1e} qreTieETe: ; 4y & Heg Sffsf st sedd, e gEe: |
o TSI 1/1 =141 1/2 legs &l 1/2 legs 3@ 0 like 3&: F6/1 for this knowledge; 99 7/3 when those f& 0
because ¥cq 75S/3 when being gfafasfd I11/1 is established s&fe= F1/1 knowledge of brahman Tadd
III/1 is functional, T=IH 3 /2 with legs 9 0 like T&9: 1/1 person.
o 9/agl means legs, like legs for this knowledge; because when those (austerity, etc) are there, knowledge
of brahman is established, becomes functional (in removing ignorance), like a person with legs.
JeTHAR: TN ST R 92 TR REHETEEH! deenTeaTEgH St |
e & 1/3 Vedas FaR: 1/3 four E%T'ET 1/3 all 0 and 2TEIH 1/3 accessories =frerdifa 1/3 Shiksha, etc ¥
1/3 six FHIATHEES 5H /1 due to having the status of revealer for the rituals and knowledge I
6/3 of Vedas d&&m=ed 5H/1 due to their being for the purpose of their (Vedas’) protection g™ 6/3 of
accessories Jfd9@¥ 1/1 status of being the legs.
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o The four Vedas and all the six accessories such as Shiksha, etc, (are the legs of the knowledge); There is
status of being the legs (of the knowledge) for the Vedas due to their having the status of revealer for the

rituals and knowledge and for the accessories due to their being for the purpose of their protection.

o < N o o LN N N o
AT, ATSTRTEE TEETheaTIATE TR aTUT HaTFTr RN |
e A0 or, IIEEE 6,/1 of the word "JIET" TEETHRAEAN 5H/ 1 due to being for the purpose of

metaphor in the form of legs 91 1/3 Vedas g 0 AT 1/3 other TR 1/3 all parts =RReTEH 1/3 head,
etc.

e Or, due to the word I8l being for the purpose of metaphor in the form of legs, Vedas are all other
parts, head, etc (of the knowledge).

AR e JgTeuig Teui Fid Scide |

e IARHA7/1-987/1 in this case RI&GEHi 6/3 of Shiksha, etc JeTETE 3/1 by the mention of the Vedas % 0
alone &I 1/1 grasping/ mention Fd 1/1 done 9ddeqH 1 /1 should be understood.

e In this case, by the mention of the Vedas alone, the mention of Shiksha, etc (Vedangas) should be

understood.

o

Sty f& TSR TETarae ¥afed, aqraicTgR T |
e 3fHH 7SS/1 when the main/ one that has accessories & 0 because ‘1@'@[ 755/1 when grasped STFT 1/3
parts JEIAT 1/3 grasped / understood W 0 indeed Wated I11/3 become, dg&@a@™ . (6TP/ 7TP) 5H/1
because of dependence on that M 6/3 of the accessories.
e Because when the main is mentioned, indeed the accessories become mentioned, because of the
dependence of accessories on that (main one).
HHH AT T fergegHieteid agrEa, |
e H@M1/1 truth & 1/1 abode T 0 where f8fd I11/1 resides 34 1/1 Upanishad @d 1/1 that &,
1/1 abode.
o Truth is the abode; where Upanishad resides, that is the abode.
HA ST SR aTea:HAH |
e  TIH1/1 truth 3 0 this =*TTRIA1 1/1 free from fraud e 1 /1 absence of crookedness aTSH:REAH
6/3 of speech, mind and the body.
e “Truth” means free from fraud, absence of crookedness of speech, mind and the body.
Y EnerEd fan 3 STHmEfeE: andd: , ARH Ay JrEey
e dY7/3in those & 0 indeed TM(d I11/1 resides &1 F1/1 knowledge ¥ 1/3 those who STHMETEA: 1/3 free

from fraud ®M&: 1/3 straightforward, 7 0 not JHEIFY 7/3 in those having the nature of asura AEIEY
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7/3 in frauds;

e Indeed, knowledge resides in those who are free from fraud, straightforward, not in evil, frauds.

A Y RTRTHGd = 7T (9, . ¢-24) 3T 3t |

e ‘A0notdY7/3in whom f5Tem (STETfal IR TR 2(d) crookedness 3d 1/1 untruthfulness 9 0 not AMET

1/1 fraud A 0 and’ (9. 3. 2-28&) 3 0 thus %[d: 5H/1 due to Shruti statement.
THTHAIAAHAI Fed |

e T 5/1 therefore @3 1/1 truth &A= 1/1 abode fd 0 thus ®e&d I11/1 is imagined.
AU TSI STEed T Jrdeica e 801 ETETTcRISRTaIeH |
° HWBTH"?{ﬂ 7/3 in austerity, etc W 0 itself gfastead 3ad /1 as the status of legs "E® 6/1 of that included €&
6/1 of truth T: 0 again TEa=H 3ad /1 as abode T&Ui 1/1 mention NI REIHIH (6TP, TB, 6TP,
4TP/ 116BV) 1/1 for the purpose of revealing its eminence/ exalted status among all means.
o There is the mention of truth again, which was included in austerity, efc (: 57?/), itself as abode, for the
purpose of revealing its eminence among all means.
SR ¥ T 9 gl A | SPaHEEETE S [RTES (FERT, S, $g-203) 3 &3a: I
o 'HIEEH 1/1 thousand Ashvamedhas ¥ 0 and && 1/1 truth ¥ 0 and &A1 F3/1 by a weighing balance
/ scale ¥d¥H.1/1 held. IR = g U fafrsad 111/1 overweighs’ (HEMT. 1. 93-203) gfa Fiﬁ: 14.81
i 91 TAHY dgT9E T TR &1 Sk 94 fdiasid Safasid 1 2.8 1l
e T:1/1one who 30 indeed Ta™ F2/1 this @ 0 in this manner aﬁ III/1 knows 3T9&€A 0 having dispelled/
destroyed 9HH 2 /1 vice in the form of ignorance and its results 3= 7/1 in the infinite t=n| 7/1in
heaven &% 7/1 in the world S5 7/1 in the highest Sfcfi8fd I11/1 abides Sfcifcisfd I11/1 abides. 1| 3.2
o 73T T 33 T: THTH ST S T & % AT AT |
e  One who indeed knows this so, having dispelled vice in the form of ignorance and its results, he abides

forever in the highest world, heaven (happiness).

i

T i SR HA N (3. 3. 2-2) ST AR U6 HERNTH /56 & S (%, 3. 3-2) T &di e eramsiaei 9 |
e I:1/1 one who § 0 indeed Tdi F2/1 this =sI<=m™ F2/1 knowledge of brahman FAdH (F. 3. 2-2)

gATeaT 3/1 by this mantra, etc IR F2/1 as taught T 0 in this manner &M F2 /1 most
glorified ‘S& & ga¥:’ (%. 8. 3-2) TG 3/1 by this mantra, etc &Jdt F2/1 praised afsaterst F2/1 the
basis of all knowledges g I11/1 knows.

e Indeed, one who knows this knowledge of brahman, as taught by the mantra starting from “1.1

prompted by what?” and starting from “3.1” praised as the basis of all knowledges.
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e & e (3. 3. R-%) TIHAN SRIlEaTRaH FRREd — STTecd T AT RS GEREIS [ I 9w
T Ak @S SRITAd, |

e ‘3Wad 2/1 immortality & 0 indeed f=ad I11/1 attains’ (%. 3. R-%) 3T®HH.1/1 told 3 0 even TEITATRSH,

2/1 result of knowledge of brahman 3 7/1 in the end f™afd I11/1 concludes— T9&A (319+8+<99) 0
having destroyed 9TIMH 2 /1 —STferRIRHeRHSE 2/1 that in the form of ignorance, desire and action
HEWATS 2/1 seed of bondage f¥98 0 having removed ¥ 7/1 —3T99=d 7/1 in the infinite &F1 7/1 3%
(E'?Fﬂﬁ Hﬁ'ﬁlaﬁﬂ) 7/1 =§@I€q% 7/1 in that which is the nature of happiness &1 7/1 in brahman &ad
1/1 this is the idea.
I gl faRTuTT ey
e W= 7/1 in limitless 3 0 thus fa&ISUTd 5H/1 due to the specification 7 0 not &4 7/1 in the third
(among THTEGA)
e Due to the specification “in the limitless”, not in third [heaven, among W]—
ITRTeE, SRS Eiecad ome — <4 2fd |
e Iqwzleq: 1/1 the word "infinite" NERE: 1 /1 figurative 319 0 even @E.I11/1 would be §44: 0 therefore
TEII/1 says — &4 7/1" & 0 thus.
e The word “infinite” could even be figurative. Therefore, Shruti says thus: “in the highest”.
S A e Sl G O Sfdfdeid |
¢« =M (B=®) 7/1 =M@ 7/1 in the highest Hﬁﬂ%ﬁ\? 7/1in that which is greater than everything A
7/1 in oneself 5{5’3 7/1in the primary sense %9 0 indeed gfafastd I11/1 abides.

e  One remains abides in the highest, in that which is greater than everything, in that which is (infinite in)
the primary sense, in oneself.
A 9 SERATE SR
e <0 does not I: 0 again HEARH2/1 bondage M9 I11/1 attains SARTIE: 1/1 this is the idea.

e One does not attain bondage again. This is the idea. 4.9l

Summary

e  1.1: What is that which makes the senses active towards the objects?

e  1.2:]tis the ear of the ear, mind of the mind, vital air of the vital air, eye of the eye, knowing which
people become immortal, while living and afterwards too. This is a GH&H= |

e  1.3: That reality is not available for the sense organs, we do not it as an object and how else it can be

taught, than as what we have learnt from our teachers that it is different from what is known and

Download from www.arshaavinash.in Page 119


http://www.arshaavinash.in/

NN

FeATeTETEH,

unknown. It is the truth of the individual as well as the total.

e  1.4-9: These mantras present the fact that that which cannot be objectified by any sense organs, but they
themselves function due to which reality/consciousness, know that consciousness as brahman, not this
which people meditate upon as “this”. It is not even the gr=4rd of an y word.

e 2.1: The disciple is tested by the teacher as: if you know brahman very well, then you know it as an
object and therefore, you know only a little bit of it, either as a state of the mind or as @JUIs&l | The
disciple responds that he knows brahman (after contemplating upon it).

o 22:1don’t know brahman very well, as an object, and it is not that I don’t know, I know and I don’t
know.

e  2.3:Shruti says that a person for whom brahman is not objectified, for that person alone it is correctly
understood, whereas for one whom brahman is known as an object, he doesn’t know. It is known to
those who don't know and not known to those who know.

e 2.4: When brahman is understood as consciousness in every thought, then alone it is correctly
understood, because by this alone one attains immortality. One attains strength to overpower death only
because of the self and therefore, one attains immortality by self-knowledge. The self-knowledge gives
freedom because self is always free.

o 2.5: Talks about the result and glorifies brahman as when known here, it gives meaningfulness fo one’s
life, otherwise there is infinite loss. The discerning people attain immortality. having known brahman in
all living beings.

e 3.1-4.3: This section narrates the story of Agni, Vayu and Indra who encounter the brahman as Yaksha
and are unable to identify who it was.

e 4.4: The first two meditations are the [dgdq and IFHY 39 | It also indicates how Ishvara creates the
world in a flash. The process is to meditate on brahman as lightning, since in the story Yaksha appeared
bright, and also came and went speedily or as the shutting of the eye. There are two more meditations
mentioned.

o 4.5 The student asks the teacher to teach the Upanishad and the teacher responds that the Upanishad
has already been taught and there is nothing more to be taught for moksha. The intention of the disciple
was to ask the teacher to announce so, if there is nothing more to the knowledge.

e 4.6 For this knowledge of brahman, austerity, mastery over organs of action, etc, Vedas and accessories
are the legs, and truth is the abode.

o 4.7: Having destroyed 9I9H in the form of ignorance and its effects, which are desire, action, doership
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and experiencership, one abides in the limitless happiness, greater than everything else.

Sf$% for AETEMUE of the Upanishad.

AN N

o ITHHITHEN SRATETEA FSH ALAETTN = 58 qreadimm|
o ITFHMIHEN beginning and end /conclusion.
o SIS 25 and Jfaemafaiedd both indicate non-dual brahman which is same as the self.
e  3ME: repetition.
°  THE, ete, 5 times it is repeated d4d F& & fafg A g ITE |
. BﬂﬁﬁT that which is not available for any other means of knowledge.
o AT FPFTEBI A T |
e {AH result.
° ‘EIFTIW'@:IEFIH\STQHT : Wl |
o AT fvad A9 frrn feedsgaH)
° STTERT AR & ik o Hfetfergtd |
D 3“3313: glorification.
° I IqAEIEY FHRa A AfqETaiE ot |
> The entire story of the 3" chapter is glorification of =&
o IuuN: reasoning.
T T o f
°  TEIAd I Hd A I A 3G §: | Al fSTHal [iasisT=arl $i& is not available as an object because

it is the very self of one who objectifies.
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class notes are Introduction to Vedanta, Tattva Bodha, Bhagavad Gita
(3329 pages), Isavasya Upanisad, Kenopanisad, Kathopanisad, Prasna
Upanisad, Mundaka Upanisad, Mandukya Upanisad with karika, Taittiriya
Upanisad, Aitareya Upanisad, Chandogya Upanisad, Brihadarnyaka
Upanisad (1190 pages), Kaivalya Upanisad, Brahma Sutra (1486 pages),
Niti Satakam, Vairagya Satakam, Atma Bodha, Vivekachudamani (2038
pages), Panchadasi, Manisha Panchakam, Upadesha Saara, Saddarsanam,
Jayanteya Gita, Jiva Yatra, Advaita Makaranda, Dakshinamurthy Stotram,
Drg Drsya Viveka, Naishkarmya Siddhi, Vichara Sagaram, Profound Q&A
on Vedanta, etc.

BRNI MEDHA MICHIKA’S BOOKS ON SANSKRIT GRAMMAR: Enjoyable
Sanskrit Grammar Books- Basic Structure of Language, Phonetics &
Sandhi, Derivatives (Pancavrttayah), Dhatukosah, Astadhyayi & Study
Guide to Panini Sutras through Lagu Siddhanta Kaumudi

There are many more books and articles on Indian culture and
Spirituality, Chanting, Yoga and Meditation. There are also books in Tamil

on Vedanta.
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